Pioneering for You

wilo

Wilo-Medien-Temperatursensor

de
en
fr
nl
es

pt
el
tr
sv

Montageanleitung
Assembly instructions
Notice de montage
Montagehandleiding
Manual de instalacion
Istruzioni di montaggio
Manual de montagem
03nyieg ouvappoAoynong
Montaj kilavuzu
Monteringsanvisning

2217523 « Ed.02-2021-11

Monteringsveiledning
Asennusohje
Installationsvejledning
Montazas instrukcija
Montavimo instrukcija
Szerelési Gtmutatd
Instrukcja montazu
Navod k montazi

Navod na montaz
Navodilo za montazo
WHCTpYKUMS 38 MOHTaX
Instructiuni de montaj
Upute za montazu
Uputstvo za montazu
Paigaldusjuhend
VHCTpYKLUMS MO MOHTaXy
KepiBHMLTBO 3 MOHTaXy



o
\
=

- B %
S \9
W///.
-




www.wilo.com/stratos-maxo/om

Deutsch

English

Frangais

Nederlands

Espaiiol

Italiano

Portuguese

eA\nViKa

Tiirkce

Svensk

Norsk

Suomi

Dansk

Latviski

Lietuviskai

12

18

24

30

36

42

48

54

60

65

71

77

83

89






www.wilo.com/stratos-maxo/om

Magyar

Polski

éesky

Slovenska

Slovenséina

Bbnrapcku

Romani

Hrvatski

Srpski

Eesti

Pycckun

YkpaiHcbKa

95

101

107

113

119

125

131

137

143

149

154

160



Inhaltsverzeichnis

1 Zudieser Anleitung

2 Sicherheit

3 Lieferumfang

4 Installation
4.1 Montage Temperatursensor

WILO SE 2021-11



1

2

Zu dieser Anleitung

Sicherheit

Diese Anleitung ist ein fester Bestandteil des Pro-

dukts. Das Einhalten dieser Anleitung ist die Voraus-

setzung fiir den bestimmungsgemélen Gebrauch

und die richtige Handhabung des Produkts:

- Vor allen Tatigkeiten diese Anleitung lesen und
jederzeit zugdnglich aufbewahren.

= Vor allen Tatigkeiten die ausfihrliche Einbau-
und Betriebsanleitung der Pumpe lesen.

> Angaben und Kennzeichnungen an der Pumpe
beachten.

> sieche QR-Code oder www.wilo.com/stratos-ma-
xo/om

WARNUNG

Bei allen Arbeiten an der Pumpe/Anlage die Si-
cherheitshinweise der Pumpenbetriebsanleitung
beachten!

GEFAHR

Lebensgefahr durch Stromschlag!

Arbeiten an der Pumpe/Anlage diirfen nur in
spannungslosem Zustand ausgefiihrt werden!

Montageanleitung Wilo-Medien-Temperatursensor 7



3

A

WARNUNG

Verletzungsgefahr!

Arbeiten an der Pumpe/Anlage diirfen nur bei
mechanischem Stillstand und mit geeigneten
Werkzeugen ausgefiihrt werden.

WARNUNG

HeiBe Oberfliche!

Die gesamte Pumpe kann sehr heil werden. Es
besteht Verbrennungsgefahr!

+ Pumpe vor allen Arbeiten abkiihlen lassen!

WARNUNG

Verbriithungsgefahr!

Bei hohen Medientemperaturen und System-
driicken Pumpe vorher abkiihlen lassen und Sys-
tem drucklos machen.

Lieferumfang

Installation

-~ Temperatursensor

> 2x Schrauben M6 x 10
—> Halter Sensor

> Sensorkabel 630 mm
- Montageanleitung

- Montage-/Demontagearbeiten: Die Fachkraft
muss im Umgang mit den notwendigen Werkzeu-

WILO SE 2021-11



gen und erforderlichen Befestigungsmaterialien
ausgebildet sein.

4.1 Montage Temperatursensor
4.1.1 Montage vor Pumpeninstallation
1. Pumpe aus der Verpackung entnehmen.

2.

Bei Einzelpumpen die zweiteilige Warmeisolie-
rung vom Pumpengehduse demontieren.

. Im Bereich des Ansaugkanals am Pumpenge-

hduse: Abdeckung Temperatursensorsitz durch
Losen der beiden Inbusschrauben M6 x 10 ent-
nehmen.

. Temperatursensor (Fig. 1) aus dem Beutel ent-

nehmen und am Pumpengehduse in die dafiir
vorgesehenen Bohrung einsetzen.

HINWEIS

@ Bei der Montage des Sensors auf korrekten Sitz
achten! An dem Temperatursensor ist am oberen
Bund eine Nase angeformt. Die Nase muss zur
Nut in der Bohrung positioniert werden.

5. Halter Temperatursensor (Fig. 2; Pos. 2) aufset-

zen, die beiden Inbusschrauben (Fig. 2; Pos. 3)
einsetzen und festschrauben. Anzugsdrehmo-
ment der Schrauben: 6 Nm +/- 1.

. Mitgeliefertes Sensorkabel (Fig. 2; Pos. &) auf

der einen Seite auf das Steckerteil des Tempe-
ratursensors aufstecken (Fig. 3; Pos. 1) und auf
der anderen Seite in die Regelmodul-Schnitt-
stelle stecken.(Fig. 3; Pos. 2). Dafiir den linken
Blindstopfen (Schnittstelle Temperatursensor-
anschluss) am Regelmodul entfernen.

Montageanleitung Wilo-Medien-Temperatursensor 9



7. Bei Einzelpumpen die zweiteilige Warmeisolie-
rung am Pumpengehduse wieder montieren.

4.1.2 Montage nach Pumpeninstallation und erfolgter Inbetriebnahme
= Elektrische Arbeiten: Eine Elektrofachkraft muss
die elektrischen Arbeiten ausfiihren.

1. Netzspannung trennen.

2. Absperrarmaturen schliefen oder System ent-
leeren!

3. Falls erforderlich System Drucklos machen. Da-
flir die Schrauben der Motorgehdusebefesti-
gung I8sen. Das Motorgehduse aus seiner Zen-
trierung leicht 16sen, bis Wasser entweicht.

4. AnschlieBend Motorbefestigungsschrauben
Uiber Kreuz anziehen. Anzugsdrehmoment der
Schrauben: 8 ... 10 NM.

5. Bei Einzelpumpen die zweiteilige Warmeisolie-
rung vom Pumpengehduse demontieren.

6. Im Bereich des Ansaugkanals am Pumpenge-
hduse: Abdeckung Temperatursensorsitz durch
Losen der beiden Inbusschrauben M6 x 10 ent-
nehmen.

7. Temperatursensor (Fig. 1) aus dem Beutel ent-
nehmen und am Pumpengehduse in die dafiir
vorgesehenen Bohrung einsetzen.

HINWEIS

@ Bei der Montage des Sensors auf korrekten Sitz
achten! An dem Temperatursensor ist am oberen
Bund eine Nase angeformt. Die Nase muss zur
Nut in der Bohrung positioniert werden.

8. Halter Temperatursensor (Fig. 2; Pos. 2) aufset-
zen, die beiden Inbusschrauben (Fig. ; Pos. 3)

10 WILO SE 2021-11



einsetzen und festschrauben. Anzugsdrehmo-
ment der Schrauben: 6 Nm +/- 1.

9. Mitgeliefertes Sensorkabel (Fig. 2; Pos. &) auf
der einen Seite auf das Steckerteil des Tempe-
ratursensors aufstecken (Fig. 3; Pos. 1) und auf
der anderen Seite in die Regelmodul-Schnitt-
stelle stecken.(Fig. 3; Pos. 2). Dafiir den linken
Blindstopfen (Schnittstelle Temperatursensor-
anschluss) am Regelmodul entfernen.

10.Bei Einzelpumpen die zweiteilige Warmeisolie-
rung am Pumpengehduse wieder montieren.

11.Absperrarmaturen vor und hinter der Pumpe
6ffnen oder Anlage wieder befiillen.

12.Dichtigkeit prifen.

13.Netzspannung einschalten.

Montageanleitung Wilo-Medien-Temperatursensor 11



Table of contents

1 About these instructions

13

2 Safety

13

3 Scope of delivery

14

4 Installation

14

4.1 Installation of temperature sensor

14

WILO SE 2021-11



1

About these instructions

Safety

bly instructions Wilo-Medi

These instructions are an integral part of the
product. Adherence to these instructions is a re-
quirement for the intended use and correct opera-

tion of the product:

—> Read these instructions before commencing work
and keep them in an accessible place at all times.

—> Before starting any work, read the detailed in-
stallation and operating instructions for the
pump.

- Observe instructions and labelling on the pump.

> See QR code or www.wilo.com/stratos-maxo/om

WARNING

Note the safety instructions in the pump operat-
ing instructions as part of any work on the pump/
system!

DANGER

Risk of fatal electrical shock!

Exclusively carry out any work on the pump/sys-
tem after it has been de-energised!

WARNING

Danger of injury!

Only carry out work on the pump/system using
suitable tools and once it has come to a standstill.

Temperatursensor 13



4.1

WARNING

Hot surface!
The entire pump can become very hot. There is a
risk of burns!
+ Allow the pump to cool down before com-
mencing any work!

WARNING

Risk of scalding!

At high fluid temperatures and system pressures,
allow the pump to cool down first and then de-
pressurise the system.

Scope of delivery

Installation

Temperature sensor

2x screws M6 x 10
Sensor holder

630 mm sensor cable
Installation instructions

N NN ANA

- Installation/dismantling work: The installation/
dismantling must be carried out by a qualified
technician who is trained in the use of the neces-
sary tools and fixation materials.

Installation of temperature sensor

Assembly before pump installation

1. Remove pump from the packaging.

WILO SE 2021-11



2. Dismantle the two-part thermal insulation from
the pump housing of single pumps.

3. In the area of the suction channel on the pump
housing: Remove temperature sensor housing
cover by loosening the two M6 x 10 Allen
screws.

4, Remove temperature sensor (Fig. 1) from the
bag and insert it into the drilled hole provided
on the pump housing.

NOTICE

@ Ensure correct positioning during sensor installa-
tion! A lug is moulded onto the upper collar of the
temperature sensor. The lug must be positioned
to the groove in the drilled hole.

5. Position temperature sensor holder (Fig. 2;
Pos. 2), insert the two Allen screws (Fig. 2;
Pos. 3) and screw them tight. Tightening torque
of the screws: 6 Nm +/- 1.

6. Plug supplied sensor cable (Fig. 2; Pos. 4) into
the plug part of the temperature sensor on one
side (Fig. 3; Pos. 1) and into the control module
interface on the other side (Fig. 3; Pos. 2). To do
this, remove the left-hand dummy plug (tem-
perature sensor connection interface) on the
control module.

7. Reassemble the two-part thermal insulation on
the pump housing of single pumps.

4.1.2 Assembly after pump installation and successful commissioning
= Electrical work: Electrical work must be per-
formed by a qualified electrician.
1. Disconnect mains voltage.
2. Close shut-off device or drain unit!

bly instructions Wilo-Medien-Temperatursensor 15




3. Depressurise system if necessary. To do this,
loosen the screws of the motor housing attach-
ment. Slightly loosen the motor housing from
its centring until water escapes.

4. Subsequently tighten motor fastening screws
diagonally. Tightening torque of the screws:
8..10 Nm.

5. Dismantle the two-part thermal insulation from
the pump housing of single pumps.

6. In the area of the suction channel on the pump
housing: Remove temperature sensor housing
cover by loosening the two M6 x 10 Allen
screws.

7. Remove temperature sensor (Fig. 1) from the
bag and insert it into the drilled hole provided
on the pump housing.

NOTICE

Ensure correct positioning during sensor installa-
tion! A lug is moulded onto the upper collar of the
temperature sensor. The lug must be positioned
to the groove in the drilled hole.

8. Position temperature sensor holder (Fig. 2;
Pos. 2), insert the two Allen screws (Fig. 2;
Pos. 3) and screw them tight. Tightening torque
of the screws: 6 Nm +/- 1.

9. Plug supplied sensor cable (Fig. 2; Pos. 4) into
the plug part of the temperature sensor on one
side (Fig. 3; Pos. 1) and into the control module
interface on the other side (Fig. 3; Pos. 2). To do
this, remove the left-hand dummy plug (tem-
perature sensor connection interface) on the
control module.

WILO SE 2021-11



10.Reassemble the two-part thermal insulation on
the pump housing of single pumps.

11.0pen shut-off valves in front of and behind the
pump or refill system.

12.Check impermeability.
13.Switch on mains voltage.

bly instructions Wilo-Medien-Temperatursensor 17



Sommaire

1 A propos de cette notice

19

2 Sécurité

19

3 Etendue de la fourniture

20

4 Installation

21

4.1 Montage du capteur de température

21

WILO SE 2021-11



1 A propos de cette notice

Cette notice fait partie intégrante du produit. Le res-

pect de cette notice est la condition nécessaire a

I'installation et a I'utilisation conformes du produit :

—> Lire cette notice avant d'effectuer tout travail et
la conserver a portée de main a tout moment.

—> Lire la notice détaillée de montage et de mise en
service du circulateur avant d'effectuer tout tra-
vail.

= Tenir compte des indications et marquages figu-
rant sur la pompe.

-> Voir code QR ou www.wilo.com/stratos-maxo/om

2 Sécurité

AVERTISSEMENT

Lors des interventions sur la pompe/installation,
tenez compte des consignes de sécurité de sa
notice de montage et de mise en service !

DANGER

Risque de blessures mortelles par électro-
cution !

Les interventions sur la pompe/installation ne
doivent étre exécutées que lorsque celle-ci a été
mise hors tension !

Notice de montage Wilo-Medien-Temperatursensor 19



AVERTISSEMENT

Risque de blessure !

Les interventions sur la pompe/installation ne
doivent étre exécutées qu'avec un outillage
adapté et lorsque celle-ci est en arrét mécanique
complet.

AVERTISSEMENT

Surface briilante !
L'ensemble de la pompe peut atteindre une tem-
pérature extrémement élevée. Risque de brli-
lures !
+ Laisser refroidir la pompe avant toute inter-
vention.

AVERTISSEMENT

Risque de briilures !

En cas de températures de fluide et de pressions
du systeme élevées, veiller auparavant a refroidir
la pompe et a dépressuriser I'installation.

Etendue de la fourniture
—> Capteur de température
- 2xvisM6x 10
—> Support de capteur
> Céble de capteur 630 mm
- Notice de montage

WILO SE 2021-11



A

4.1

4.1.1

Installation

- Travaux de montage/démontage : Le technicien

qualifié doit &tre formé a l'utilisation des outils
nécessaires et matériels de fixation requis.

Montage du capteur de température

Montage avant l'installation de la pompe
1. Retirer la pompe de I'emballage.

2.

Pour les pompes simples, démonter I'isolation
thermique composée de deux parties située sur
le corps de pompe.

3. Au niveau du canal d'aspiration sur le corps de

pompe : Retirer le couvercle de I'emplacement
du capteur de température en dévissant les
deux vis Allen M6 x 10.

4, Retirer le capteur de température (Fig. 1) du sa-

chet et le placer sur le corps de pompe dans le
trou prévu a cet effet.

AVIS

Lors du montage, veiller a ce que le capteur soit
parfaitement en place ! Le capteur de tempéra-
ture dispose d'une excroissance sur la collerette
supérieure. L'excroissance doit étre positionnée
dans le trou en face de la rainure.

5. Poser le support de capteur de température
(Fig. 2 ; Pos. 2), insérer les deux vis Allen (Fig. 2 ;
Pos. 3) et les visser. Couple de serrage des vis :
6 Nm +/- 1.

6. Brancher une extrémité du cable fourni (Fig. 2;
Pos. 4) sur la fiche du capteur de température
(Fig. 3; Pos. 1) et I'autre dans l'interface d'auto-

Notice de montage Wilo-Medien-Temperatursensor 21



4.1.2

matisme de commande (Fig. 3 ; Pos. 2). Retirer
ici le tampon borgne gauche (interface de bran-
chement du capteur de température) sur l'auto-
matisme de commande.

. Pour les pompes simples, monter a nouveau

I'isolation thermique composée de deux parties
située sur le corps de pompe.

Montage aprés l'installation de la pompe et mise en service réus-

—> Travaux électriques : les travaux électriques
doivent étre réalisés par un électricien qualifié.
1. Couper la tension d'alimentation.
. Fermer les vannes d'arrét ou vidanger l'installa-

tion !

. Sinécessaire, dépressuriser le systéme. Dévisser

pour cela les vis de la fixation du carter de mo-
teur. Dévisser [égérement le carter de moteur
de son centrage jusqu'a ce que de |'eau sorte.

. Ensuite, serrer en croix les vis de fixation du

moteur. Couple de serrage des vis: 8 ... 10 Nm.

. Pour les pompes simples, démonter l'isolation

thermique composée de deux parties située sur
le corps de pompe.

. Au niveau du canal d'aspiration sur le corps de

pompe : Retirer le couvercle de I'emplacement
du capteur de température en dévissant les
deux vis Allen M6 x 10.

. Retirer le capteur de température (Fig. 1) du sa-

chet et le placer sur le corps de pompe dans le
trou prévu a cet effet.

WILO SE 2021-11



AVIS

@ Lors du montage, veiller a ce que le capteur soit
parfaitement en place ! Le capteur de tempéra-
ture dispose d'une excroissance sur la collerette
supérieure. L'excroissance doit étre positionnée
dans le trou en face de la rainure.

8. Poser le support de capteur de température
(Fig. 2 ; Pos. 2), insérer les deux vis Allen (Fig. 2 ;
Pos. 3) et les visser. Couple de serrage des vis :
6 Nm +/- 1.

9. Brancher une extrémité du cable fourni (Fig. 2 ;
Pos. &4) surla fiche du capteur de température
(Fig. 3; Pos. 1) et l'autre dans I'interface d'auto-
matisme de commande (Fig. 3 ; Pos. 2). Retirer
ici le tampon borgne gauche (interface de bran-
chement du capteur de température) sur l'auto-
matisme de commande.

10. Pour les pompes simples, monter a nouveau
I'isolation thermique composée de deux parties
située sur le corps de pompe.

11.Ouvrir les vannes d'arrét en amont et en aval de
la pompe ou remplir I'installation.

12.Controler I'étanchéité.

13. Allumer la tension d'alimentation.

Notice de montage Wilo-Medien-Temperatursensor 23



Inhoudsopgave

1 Over deze handleiding 25

2 Veiligheid 25

3 Leveringsomvang 26

4 Installatie 26
4.1 Installatie temperatuursensor 27

WILO SE 2021-11



1 Over deze handleiding

Deze handleiding is een vast bestanddeel van het
product. Het naleven van deze handleiding is een
vereiste voor het correcte gebruik en de juiste bedie-
ning van het product:

—> Lees deze handleiding voor elk gebruik en bewaar
de handleiding ergens waar deze op elk moment
kan worden geraadpleegd.

> Lees voor elk gebruik de uitvoerige inbouw- en
bedieningsvoorschriften van de pomp.

- Informatie en aanduidingen aan de pomp moeten
in acht worden genomen.

- zie QR-code of www.wilo.com/stratos-maxo/om
2 Veiligheid

WAARSCHUWING

Neem bij alle werkzaamheden aan de pomp/in-
stallatie de veiligheidsvoorschriften uit de hand-
leiding voor het pompbedrijf in acht!

GEVAAR

Levensgevaar door elektrische schok!
Werkzaamheden aan de pomp/installatie mogen
uitsluitend worden uitgevoerd als deze span-
ningsvrij zijn!

Montagehandleiding Wilo-Medien-Temperatursensor 25



WAARSCHUWING

Gevaar voor letsel!

Werkzaamheden aan de pomp/installatie mogen
uitsluitend worden uitgevoerd bij mechanische
stilstand en met geschikte gereedschappen.

WAARSCHUWING

Heet opperviak!
De volledig pomp kan zeer heet worden. Er be-
staat gevaar voor brandwonden!

+ Laat de pomp vdor alle werkzaamheden af-
koelen!

WAARSCHUWING

Gevaar voor verbranding!

Bij hoge mediumtemperaturen en systeemdruk
de pomp eerst laten afkoelen en de installatie
drukloos maken.

3 Leveringsomvang
Temperatuursensor
- 2x schroeven M6 x 10
- Houder sensor

— Sensorkabel 630 mm
—~ Montagehandleiding

N2

4 Installatie

- Installatie-/demontagewerkzaamheden: De
monteur moet een opleiding hebben gevolgd

26 WILO SE 2021-11



voor de omgang met de noodzakelijke gereed-
schappen en bevestigingsmaterialen.

4.1 Installatie temperatuursensor

4.1.1 Montage voor installatie van de pomp

1. Haal de pomp uit de verpakking.

2. Bij enkelpompen de tweedelige warmte-isolatie
van het pomphuis demonteren.

3. In het gedeelte van het aanzuigkanaal op het
pomphuis: Verwijder de afdekking van de tem-
peratuursensorbevestiging door de beide in-
busschroeven M6 x 10 los te draaien.

4, Haal de temperatuursensor (Fig. 1) uit het zakje
en plaats deze op het pomphuis in het daarvoor
bestemde boorgat.

LET OP

@ Bij de installatie van de sensor letten op correcte
plaatsing! Op de bovenste kraag van de tempera-
tuursensor is een nokje gevormd. Dit nokje moet
in de richting van de groef in het boorgat worden
geplaatst.

5. Plaats de houder van de temperatuursensor
(Fig. 2; pos. 2), plaats de beide inbusschroeven
(Fig. 2, pos. 3) en draai ze vast. Aandraaimo-
ment van de schroeven: 6 Nm +/- 1.

6. Plaats de meegeleverde sensorkabel (Fig. 2;
pos. 4) aan de ene kant op het stekkergedeelte
van de temperatuursensor (Fig. 3; pos. 1) en aan
de andere kant in de interface van de regelmo-
dule (Fig. 3; pos. 2). Verwijder daarvoor de linker
blindplug (interface temperatuursensoraanslui-
ting) op de regelmodule.

Montagehandleiding Wilo-Medien-Temperatursensor 27



7. Monteer bij enkelpompen de 2-delige warmte-
isolatie weer op het pomphuis.

4.1.2 Montage na installatie van de pomp en nadat de inbedrijfname is
uitgevoerd
-~ Werkzaamheden aan de elektrische installatie:
Een elektromonteur moet werkzaamheden aan
de elektrische installatie uitvoeren.

1. Netspanning ontkoppelen.

2. Afsluitarmaturen sluiten of systeem leegmaken!

3. Maak, indien nodig, de installatie drukloos. Draai
daarvoor de schroeven op de bevestiging van
het motorhuis los. Haal het motorhuis iets los
uit de centrering, totdat er water uitloopt.

4. Vervolgens motorbevestigingsbouten kruislings
aanhalen. Aandraaimoment van de schroeven:
8...10 Nm.

5. Bij enkelpompen de tweedelige warmte-isolatie
van het pomphuis demonteren.

6. In het gedeelte van het aanzuigkanaal op het
pomphuis: Verwijder de afdekking van de tem-
peratuursensorbevestiging door de beide in-
busschroeven M6 x 10 los te draaien.

7. Haal de temperatuursensor (Fig. 1) uit het zakje
en plaats deze op het pomphuis in het daarvoor
bestemde boorgat.

LET OP

@ Bij de installatie van de sensor letten op correcte
plaatsing! Op de bovenste kraag van de tempera-
tuursensor is een nokje gevormd. Dit nokje moet
in de richting van de groef in het boorgat worden
geplaatst.

28 WILO SE 2021-11



8. Plaats de houder van de temperatuursensor
(Fig. 2; pos. 2), plaats de beide inbusschroeven
(Fig. 2, pos. 3) en draai ze vast. Aandraaimo-
ment van de schroeven: 6 Nm +/- 1.

9. Plaats de meegeleverde sensorkabel (Fig. 2;
pos. 4) aan de ene kant op het stekkergedeelte
van de temperatuursensor (Fig. 3; pos. 1) en aan
de andere kant in de interface van de regelmo-
dule (Fig. 3; pos. 2). Verwijder daarvoor de linker
blindplug (interface temperatuursensoraanslui-
ting) op de regelmodule.

10. Monteer bij enkelpompen de 2-delige warmte-
isolatie weer op het pomphuis.

11.0pen de afsluitarmaturen voor en achter de
pomp of vul de installatie weer.

12.0p dichtheid controleren.

13.Schakel de netspanning in.

Montagehandleiding Wilo-Medien-Temperatursensor 29



[ es |
indice

1 Sobre estas instrucciones

31

2 Seguridad

31

3 Suministro

32

4 Instalacién

32

4.1 Montaje del sensor de temperatura

33

WILO SE 2021-11



1 Sobre estas instrucciones

Estas instrucciones son parte esencial del producto.
El cumplimiento de las presentes instrucciones es re-
quisito para el uso previsto y la manejo correcto del
producto:

= Antes de realizar cualquier actividad, lea estas
instrucciones y consérvelas en un lugar accesible
en todo momento.

- Antes de realizar cualquier actividad, lea las ins-
trucciones de instalacion y funcionamiento deta-
lladas de la bomba.

- Tenga en cuenta los datos y las indicaciones que
se encuentran en la bomba.

=» véase el cdigo QR o bien www.wilo.com/stratos-
maxo/om

2 Seguridad

ADVERTENCIA

Tenga en cuenta las instrucciones de seguridad
del manual de funcionamiento de la bomba al
realizar trabajos en la bomba/instalacién.

PELIGRO

Riesgo de lesiones mortales por electro-
cucion.

Los trabajos en la bomba/instalacién tinicamente
pueden realizarse en estado sin tension.

Manual de instalacién Wilo-Medien-Temperatursensor 31



Suministro

Instalacion

ADVERTENCIA

Peligro de lesiones.

Los trabajos en la bomba/instalacién tinicamente
pueden realizarse en parada mecanicay con las
herramientas adecuadas.

ADVERTENCIA

Superficie caliente
La bomba puede alcanzar temperaturas muy al-
tas. Hay peligro de quemaduras.

+ Deje que se enfrie la bomba antes de realizar
trabajos en ella.

ADVERTENCIA

Peligro de escaldaduras.

En caso de temperaturas del fluido y presiones
del sistema elevados, deje enfriar la bomba pre-
viamente y despresurice el sistema.

Sensor de temperatura

2 tornillos M6 x 10
Soporte del sensor
Cable del sensor 630 mm
Manual de instalacion

NN N N AN

- Trabajos de montaje/desmontaje: El personal es-
pecializado debe tener formacion sobre el manejo

WILO SE 2021-11



de las herramientas necesarias y los materiales de
fijacion requeridos.

4.1 Montaje del sensor de temperatura

4.1.1 Montaje antes de |

a instalacion de la bomba

1. Extraiga la bomba del embalaje.

2.

En las bombas simples, desmonte el aislamiento
térmico de dos piezas de la carcasa de la bom-
ba.

3. En el area del canal de aspiracion de la carcasa

de la bomba: Extraiga la tapa del asiento del
sensor de temperatura aflojando los dos torni-
llos Allen M6 x 10.

4, Extraiga el sensor de temperatura (Fig. 1) de la

bolsa e introdtzcalo en el orificio previsto en la
carcasa de la bomba.

@] -

AVISO

urante el montaje, asegurese de que el sensor

esta correctamente fijado. En el cuello superior

del sensor de temperatura se moldea una agarra-
dera. La agarradera debe colocarse en la ranura
del orificio.

5. Coloque el sensor de temperatura (Fig. 2;

Pos. 2), introduzca los dos tornillos Allen (Fig. 2;
Pos. 3) y atornillelos. Par de apriete de los torni-
llos: 6 Nm +/- 1.

6. Enchufe el cable del sensor suministrado (Fig. 2;

Pos. 4) en la parte del enchufe del sensor de
temperatura en un lado (Fig. 3; Pos. 1) y en la
interfaz del médulo de regulacion en el otro
(Fig. 3; Pos. 2). Para ello, retire el tapon ciego de

Manual de instalacién Wilo-Medien-Temperatursensor 33



la izquierda (interfaz de conexion del sensor de
temperatura) en el médulo de regulacién.

7. Enlas bombas simples, vuelva a colocar el aisla-
miento térmico de dos piezas en la carcasa de la
bomba.

4.1.2 Montaje tras la instalacién de la bomba y su puesta en marcha
—> Trabajos eléctricos: Un electricista cualificado de-
be realizar los trabajos eléctricos.

1. Desconecte la tension de red.

2. Cierre las valvulas de corte o vacie el sistema.

3. Despresurice el sistema si es necesario. Para
ello, afloje los tornillos de fijacidn de la carcasa
del motor. Afloje ligeramente la carcasa del mo-
tor de su centraje hasta que salga el agua.

4. A continuacion apriete en cruz los tornillos de
fijacion del motor. Par de apriete de los tornillos:
8...10 Nm.

5. Enlas bombas simples, desmonte el aislamiento
térmico de dos piezas de la carcasa de la bom-
ba.

6. En el rea del canal de aspiracion de la carcasa
de la bomba: Extraiga la tapa del asiento del
sensor de temperatura aflojando los dos torni-
llos Allen M6 x 10.

7. Extraiga el sensor de temperatura (Fig. 1) de la
bolsa e introdtzcalo en el orificio previsto en la
carcasa de la bomba.

34 WILO SE 2021-11



AVISO
@ Durante el montaje, asegurese de que el sensor

esta correctamente fijado. En el cuello superior
del sensor de temperatura se moldea una agarra-
dera. La agarradera debe colocarse en la ranura
del orificio.

8. Coloque el sensor de temperatura (Fig. 2;

Pos. 2), introduzca los dos tornillos Allen (Fig. 2;
Pos. 3) y atornillelos. Par de apriete de los torni-
llos: 6 Nm +/- 1.

9. Enchufe el cable del sensor suministrado (Fig. 2;
Pos. 4) en la parte del enchufe del sensor de
temperatura en un lado (Fig. 3; Pos. 1) y en la
interfaz del mddulo de regulacion en el otro
(Fig. 3; Pos. 2). Para ello, retire el tapon ciego de
laizquierda (interfaz de conexion del sensor de
temperatura) en el médulo de regulacién.

10.En las bombas simples, vuelva a colocar el aisla-
miento térmico de dos piezas en la carcasa de la
bomba.

11.Abra las valvulas de corte situadas delante y de-
tras de la bomba o rellene el sistema.

12.Compruebe la estanquidad.

13.Conecte la tension de red.

Manual de instalacién Wilo-Medien-Temperatursensor 35



Indice

1 Suqueste istruzioni

37

2 Sicurezza

37

3 Fornitura

38

4 Installazione

38

4.1 Montaggio del sensore di temperatura

39

WILO SE 2021-11



1 Su queste istruzioni

Le presenti istruzioni sono parte integrante del pro-
dotto. La loro stretta osservanza costituisce il requi-
sito fondamentale per 'utilizzo ed il corretto funzio-
namento del prodotto.

- Prima di effettuare qualsiasi operazione, consul-
tare le presentiistruzioni e conservarle in luogo
sempre accessibile.

- Prima di ogni intervento, leggere le istruzioni di
montaggio, uso e manutenzione della pompa.

—> Attenersi ai dati e ai contrassegni posti sulla
pompa.

= Vedi codice QR oppure www.wilo.com/stratos-
maxo/om

2 Sicurezza

AVVERTENZA

Quando si eseguono interventi sulla pompa o
sull’impianto, osservare le prescrizioni di sicurez-
za riportate nelle istruzioni per I'uso della pompa
o dell’impianto.

PERICOLO

Pericolo di morte per scossa elettrica!
Gli interventi sulla pompa o sull’impianto possono
essere eseguiti solo in assenza di tensione.

Istruzioni di montaggio Wilo-Medien-Temperatursensor 37



3 Fornitura

AVVERTENZA

Pericolo di lesioni!

Gli interventi sulla pompa o sull'impianto possono
essere eseguiti solo a macchina a riposo e con
utensili idonei.

AVVERTENZA

Superficie calda!

La pompa nella sua totalita puo6 diventare molto
calda. Pericolo di ustioni!

+ Prima di eseguire qualsiasi lavoro fare raf-
freddare la pompa!

AVVERTENZA

Pericolo di ustione!

In caso di temperature del fluido e pressioni di si-
stema elevate, lasciare prima raffreddare la pom-
pa e privare di pressione il sistema.

Sensore di temperatura
2 viti M6 x 10

Cavo sensore 630 mm

9
9
~ Supporto sensore
9
9

4 Installazione

Istruzioni di montaggio

- Lavori di montaggio/smontaggio: Il montaggio e

lo smontaggio vanno eseguiti da personale spe-

WILO SE 2021-11



cializzato in possesso delle conoscenze appro-
priate sugli attrezzi necessari e i materiali di fis-
saggio richiesti.

4.1 Montaggio del sensore di temperatura

4.1.1 Montaggio prima dell’installazione della pompa

1. Rimuovere la pompa dall'imballaggio.

2. In caso di pompe singole smontare I'isolamento
termico in due parti dal corpo pompa.

3. Nell'area del canale di aspirazione presso il cor-
po pompa: rimuovere il coperchio della sede del
sensore di temperatura allentando le due viti
Allen M6 x 10.

4, Togliere il sensore di temperatura (Fig. 1) dal
sacchetto e inserirlo nell’apposito foro previsto
sul corpo pompa.

AVVISO

@ In fase di montaggio del sensore verificare il posi-
zionamento corretto! Sul sensore di temperatura,
presso il collarino superiore, si forma una sorta di
ansa. Tale ansa va posizionata nella scanalatura
del foro.

5. Applicare il supporto del sensore di temperatura
(Fig. 2; Pos. 2), inserire le due viti Allen (Fig. 2;
Pos. 3) e serrare. Coppia di serraggio delle viti:

6 Nm +/- 1.

6. Fissare il cavo sensore fornito in dotazione
(Fig. 2; Pos. 4) su un lato al connettore del sen-
sore di temperatura (Fig. 3; Pos. 1) e sull’altro
inserirlo nell'interfaccia del modulo di regola-
zione (Fig. 3; Pos. 2). A tale scopo, rimuovere il
tappo sinistro (interfaccia collegamento del

Istruzioni di montaggio Wilo-Medien-Temperatursensor 39



sensore di temperatura) presso il modulo di re-
golazione.

7. In caso di pompe singole montare I'isolamento
termico in due parti sul corpo pompa.

4.1.2 Montaggio dopo I'installazione della pompa e a messa in servizio
effettuata
— Lavori elettrici: | lavori elettrici devono essere
esequiti esclusivamente da un elettricista qualifi-
cato.

1. Staccare la tensione direte.

2. Chiudere le valvole d’intercettazione o svuotare
I'impianto!

3. Se necessario, togliere pressione al sistema. A
tale scopo, allentare le viti del fissaggio del cor-
po motore. Allentare leggermente il corpo mo-
tore dal rispettivo centraggio, fino a far fuoriu-
scire 'acqua.

4. Quindi stringere le viti di fissaggio del motore a
croce. Coppia di serraggio delle viti: 8 ... 10 Nm.

5. In caso di pompe singole smontare I'isolamento
termico in due parti dal corpo pompa.

6. Nell’area del canale di aspirazione presso il cor-
po pompa: rimuovere il coperchio della sede del
sensore di temperatura allentando le due viti
Allen M6 x 10.

7. Togliere il sensore di temperatura (Fig. 1) dal
sacchetto e inserirlo nell’apposito foro previsto
sul corpo pompa.

40 WILO SE 2021-11



AVVISO

@ In fase di montaggio del sensore verificare il posi-
zionamento corretto! Sul sensore di temperatura,
presso il collarino superiore, si forma una sorta di
ansa. Tale ansa va posizionata nella scanalatura
del foro.

8. Applicare il supporto del sensore di temperatura
(Fig. 2; Pos. 2), inserire le due viti Allen (Fig. 2;
Pos. 3) e serrare. Coppia di serraggio delle viti:
6 Nm +/- 1.

9. Fissare il cavo sensore fornito in dotazione
(Fig. 2; Pos. 4) su un lato al connettore del sen-
sore di temperatura (Fig. 3; Pos. 1) e sull’altro
inserirlo nell’interfaccia del modulo di regola-
zione (Fig. 3; Pos. 2). A tale scopo, rimuovere il
tappo sinistro (interfaccia collegamento del
sensore di temperatura) presso il modulo di re-
golazione.

10.In caso di pompe singole montare I'isolamento
termico in due parti sul corpo pompa.

11. Aprire le valvole d’intercettazione a monte e a
valle della pompa oppure riempire nuovamente
I'impianto.

12.Verificare la tenuta ermetica.

13.Inserire la tensione di rete.

Istruzioni di montaggio Wilo-Medien-Temperatursensor 41



[ pt |
indice

1 Sobre este manual

43

2 Seguranca

43

3 Equipamento fornecido

44

4 Instalacdo

44

4.1 Instalagdo do sensor de temperatura

42

45

WILO SE 2021-11



1 Sobre este manual

Este manual é parte integrante do produto. O
cumprimento deste manual constitui condi¢do prévia
para a utilizacdo apropriada e o manuseamento
correto do aparelho:

- Antes de qualquer atividade, leia este manual e
guarde-o num local onde possa estar acessivel a
qualquer altura.

- Antes de qualquer atividade, ler o manual de
instalacdo e funcionamento detalhado da bomba.

- Ter em atencdo as indicacdes e a sinalética que se
encontram na bomba.

= ver cédigo QR ou www.wilo.com/stratos-maxo/
om

2 Seguranca

ATENGCAO

Cumprir as instrucdes de seguranga do manual de
funcionamento da bomba para todos os trabalhos
na bomba/instalacio!

PERIGO

Risco de ferimentos fatais devido a
choque elétrico!

Os trabalhos s6 devem ser realizados com a
bombay/instalagdo num estado sem tens3o!

Manual de montagem Wilo-Medien-Temperatursensor 43



ATENCAO
Perigo de lesoes!
Os trabalhos s6 devem ser realizados com a

bomba/instalacdo num estado de paragem
mecanica e com as ferramentas adequadas.

ATENCAO

Superficie quente!

Toda a superficie da bomba pode estar muito
quente. Existe perigo de queimaduras!

+ Antes de realizar trabalhos, deixar arrefecer
a bomba!

ATENCAO
Perigo de queimaduras!
Em caso de temperatura dos liquidos e pressdes

do sistema elevadas, deixar a bomba arrefecer
antes e colocar o sistema sem pressao.

3 Equipamento fornecido

Sensor de temperatura
2x parafusos M6 x 10
Suporte do sensor
Cabo do sensor 630 mm
Manual de montagem

N2

9
9
9
9

4 Instalacao

- Trabalhos de montagem/desmontagem: O
técnico tem de ter formagdo no manuseamento

4l WILO SE 2021-11



4.1 Instalacdo do sens

das ferramentas e dos materiais de fixacdo
necessarios.

or de temperatura

4.1.1 Montagem antes da instalacao da bomba
1. Retirar a bomba da embalagem.

2.

Em caso de bomba simples, desmontar o
isolamento térmico de duas partes do corpo da
bomba.

. Na area da conduta de sucg¢do no corpo da
bomba: Retirar a tampa da sede do sensor de
temperatura ao soltar ambos os parafusos
sextavados M6 x 10.

4. Retirar o sensor de temperatura (Fig. 1) do saco

e inserir o mesmo no corpo da bomba através
do orificio previsto para o efeito.

@] -

INDICACAO

urante a montagem, certificar-se de que o

sensor esta bem assente! E formado um nariz no

anel superior do sensor de temperatura. O nariz
deve ser posicionado em relagdo a ranhura no
orificio.

5. Colocar o suporte do sensor de temperatura

(Fig. 2; Pos. 2), ou inserir ambos os parafusos
sextavados (Fig. 2; Pos. 3) e apertar estes com
forca. Torque de aperto dos parafusos:

6 Nm +/- 1.

6. Colocar o cabo do sensor fornecido

separadamente (Fig. 2; Pos. 4) num lado da
parte da ficha do sensor de temperatura (Fig. 3;
Pos. 1) e ligar o mesmo no outro lado na
interface do médulo de controlo.(Fig. 3; Pos. 2).

Manual de montagem Wilo-Medien-Temperatursensor 45



Para fazer isso, remover o bujdo falso esquerdo
(interface do médulo de controlo) no médulo de
controlo.

7. Em caso de bomba simples, montar novamente
o isolamento térmico de duas partes do corpo
da bomba.

4.1.2 Montagem depois da instalacdo da bomba e arranque com sucesso
- Trabalhos elétricos: Os trabalhos elétricos tém de
ser executados por eletricista certificado.

1. Desligar a tensdo de rede.

2. Fechar as valvulas de corte ou esvaziar o
sistemal

3. Se necessario, despressurizar o sistema. Para
isso, soltar os parafusos da fixagdo do corpo do
motor. Soltar ligeiramente o corpo do motor do
seu centro até a agua escapar.

4. Apertar, de seguida, os parafusos de fixacdo do
motor em cruz. Torque de aperto dos parafusos:
8 ...10 Nm.

5. Em caso de bomba simples, desmontar o
isolamento térmico de duas partes do corpo da
bomba.

6. Na area da conduta de succdo no corpo da
bomba: Retirar a tampa da sede do sensor de
temperatura ao soltar ambos os parafusos
sextavados M6 x 10.

7. Retirar o sensor de temperatura (Fig. 1) do saco
e inserir o mesmo no corpo da bomba através
do orificio previsto para o efeito.

46 WILO SE 2021-11



INDICACAO
@ Durante a montagem, certificar-se de que o

sensor esta bem assente! E formado um nariz no
anel superior do sensor de temperatura. O nariz
deve ser posicionado em relagdo a ranhura no
orificio.

8. Colocar o suporte do sensor de temperatura
(Fig. 2; Pos. 2), ou inserir ambos os parafusos
sextavados (Fig. 2; Pos. 3) e apertar estes com
forca. Torque de aperto dos parafusos:

6 Nm +/- 1.

9. Colocar o cabo do sensor fornecido
separadamente (Fig. 2; Pos. 4) num lado da
parte da ficha do sensor de temperatura (Fig. 3;
Pos.1) e ligar o mesmo no outro lado na
interface do médulo de controlo.(Fig. 3; Pos. 2).
Para fazer isso, remover o bujdo falso esquerdo
(interface do médulo de controlo) no médulo de
controlo.

10.Em caso de bomba simples, montar novamente
o isolamento térmico de duas partes do corpo
da bomba.

11. Abrir as valvulas de corte situadas a frente e
atras da bomba ou voltar a encher o
equipamento.

12. Verificar a estanqueidade.

13.Ligar a tensdo.

Manual de montagem Wilo-Medien-Temperatursensor 47



Mivakag TepleXopEVRV

1 IXeTIKG pE TO gyXELpidlo 49

2 Ac@dlea 49

3 Mepiexopevo mapadoong 50

4 Eykatdotaon 51
4.1 Eykataotacn aoBntipa Beppokpaociag 51

48

WILO SE 2021-11



2

IXETIKA PE TO EYXELPLOLO

Ac@alela

AuTég oL 00nyleg amoTeAoUV avVaTOOTIACTO THNHA

TOU TPOLOVTOG,. H Trpnon autwv Twv odnytwv

amotelel Ty poUmdOeon yia TNV poBAemopevn

XPrON KAl ToV 0woTO XELPLOPO TOU TPOLOVTOG:

= Mpw amo ) Ste€aywyn OAwV TWV Epyact®wv
TIpETEL va SLaBA0ETE TO TTAPOV yXELPiOLO Kal va
T0 QUAAEETE O KAAG TIPOOPACLUO PEPOG,.

= MMpw amo ™ dte€aywyn OAwv TwV Epyactwy,
51aBA0TE TIg AVAAUTIKEG 00NYiEg EYKATAOTAONG
KaL Aeltoupylag tng avtAiag.

> Na trpelte Ta OTOLKELD KOL TIG ETUONPAVOELG TNG
avtAiag.

=> BA£e kwSKO QR fj www.wilo.com/stratos-maxo/
om

MPOEIAOMOIHZH

Na tnpeite T1g utodeifelg ao@aleiag oTig
0dnyleg AelToupylag tnG avtAiag yla OAeg TLg
gpyaoteg otnv avria/eykatdotaon!

KINAYNOZX

Kivéuvog Bavactpou Tpaupatiopol Aoyw
nAektponAngiag!

Ol epyacieg otnv avtAia/eykatdotaon
ETTPETIETAL VA EKTEAOUVTAL HOVO OE KATAOTACH
amouoia taong!

08nyieg ouvappohoynong Wilo-Medien-Temperatursensor 49



MPOEIAOMNOIHZH

Kivéuvog tpaupatiopou!

OL epyaoieg otnv avrAla/eykatdotaon
ETTPETIETAL VO EKTEAOUVTAL HOVO KATA TN
HNXAVLKF 0KLVNTOTIOLNON KAl PE Ta KATAAANAa
epyaheia.

MNPOEIAOMOIHZH

Osepyn empaveial
'OAN N avTAia UTopel va yivel ToAu eotr).
Ymapyel Kivduvog eykaupatwv!
+ Mpwv amo tn dte€aywyrn omolacdnmote
£pyaciag a@roTe TV avtAia va Kpuwoet!

MPOEIAOMOIHZH

Kivéuvog {epatiopou!

Ta uPnAég BepPOKPATLEG UYPOU KaL HEYAAES
TILECELG OUCTINUATOG, TIPETIEL TIPWTA VA AP OETE
TNV avTAla Va KPUWOEL KAL VO EKTOVWOETE TNV
TILEDN) TNG EYKATAOTAONG.

3 Meplexopevo mapadoong
— Awbntrpag Beppokpaciag
> 2x Bideg M6 x 10
- Bdon ouykpatnong awobntrpa
- KaAwdio aebntrpa 630 mm
- 0dnyleg ouvappoloynong

50 WILO SE 2021-11



4 Eykatdaotaoh
- Epyaoteg eykaTAoTAONC/AMOOUVAPHOAOYNONG:
TO TPOOWTIKO Ba TIPETEL VO EXEL EKTIOLOEUTEL
OXETIKA [E TO XELPLOPO TWV aTlapaiTnTWY
£PYANELWV KAL TWV ATIALTOUPEVWY UALKWV

OTEPEWONG,
4.1 Eykataotacn awcOntipa Osppokpaciag
4.1.1 JuvappHoAGYnoN TIPLV aTIO THV EYKATACTAGCH THG avTAiag

1. A@alpéote TNV avtAia amo Tn CUCKEUaoia.

2. ITIG HEPOVWHEVEG AVTALEG ATIOCUVAPHOAOYTOTE
T Sipepr) OpuopOVWON Ao To KEAUPOG
avtAiag.

3. ZTnv MEPLOXT) TOU KAVAALOU avappo®nang oto
KEAUPOG OVTALOG: AOLPEOTE TO KAAUPHA TNG
£8pag tou awoBntrpa Beppokpaoiag,
Eeoplyyovtag Tig dUo Bideg Allen M6 x 10.

4. Apaipgote Tov alobntrpa Bepuokpaciag
(Fig. 1) am6 tn cakoUAa kal ToToOETHOTE TOV
0TNV TIPOPAETIOPEVT 0TI, OTO KEAUPOG TNG
avthiag.

EIAOMOIHZH

@ TTNV £yKATAOTAON TOU aLodntrpa mpooéte yia
OwOoTH e@apyoyn! Ixnuatidetal yla putn oto
Avw KoAdpo tou awoBntrpa Beppokpaciag. H
pUTn pEMEL va ToToBeTelTaL 08 OXEDN PE TO
QUAGKL 0TV oTtn.

5. TomoBetrote T BAon OUYKPATNONG TOU
aeBntrpa Beppokpaociag (Fig. 2, 8£on 2),
xpnotwgomotfote Tig dUo Bideg Allen (Fig. 2,
0¢0n 3) kat BLdwoTe o@LKTA. Potteg olo@LENg
Twv Bdwv: 6 Nm +/- 1.

08nyieg ouvappohoynong Wilo-Medien-Temperatursensor 51



4.1.2

6. TuvdEoTe To tapeXOPEVO KaAwSLO aledntrpa

(Fig. 2, ©¢on 4) oto BUoua Tou aednThpa
Oepuokpaociag amo t pia mAsupa (Fig. 3,

0¢on 1) kat ouvdEote ot Slemagn Tng povadag
pUBuLONGg amd v aAAn.(Fig. 3, B¢on 2). Tt
auto, agatpéote Tig BLdwteg Tameg (Siemapn
olvdeong aloBntrpa Beppokpaciag) otn
povada eAéyyou.

7. TG HEHOVWHEVEG QVTALEG GUVAPHOAOYNOTE

€ava tn diuepn BeppopdvVwon amd To KEAUPOG
avthiag.

ZuvappoAOynoN PETA THV EYKATACTAOH THG avTAiag Kat tnv
TpayHaTOTOINON THG EKKIVNONG AEtToupyiag
> HAektpohoyikég epyacieg: Ot NAEKTPONOYIKEG
£PYAOLEG TIPETEL VA EKTEAOUVTAL ATLO
£€eLOIKEUPEVO NAEKTPOAOYO.
1. ATIOGUVOEOTE TNV TACN NAEKTPLKOU SIKTUOU.
. K\elote tig BaABideg amopovwong i eKKEVWOTE

0 ouotnual

. Av eivat amtapaitnto, B£ote o oUOTNPA O€

Kataotaon amouociag mieong. ' auto, Eeopigte
TG BidEG OTEPEWONG TOU KEAUPOUG TOU
KWVNTpa. Ze0@ifte eEAa@pwg To KEAUPOG
KLVNTpa amo To KEVIPO TOU £wg OToU
dlappeloeL vepo.

. 'Emetta oigte g Bideg oTEPEWONG KIVNTH PO

0taupwtd. Potég ouo@LEng Twv Bdwv:
8 ...10 Nm.

. LTIG HEPOVWHEVEG AVTALEG ATIOOUVAPHOAOYNOTE

™ Spepn Beppopovwaon amod To KEAUPOG
avthiag.

. ZTNV TEPLOY N TOU KavaAlou avappo@nong oto

KEAU@OG OVTALOG: AOLPEOTE TO KAAUPHA TNG

WILO SE 2021-11



£dpag tou awoBbntrpa Beppokpaoiag,
Eeopiyyovtag tig duo Bideg Allen M6 x 10.

7. Apalpéote Tov alobntrpa Bepuokpaciag
(Fig. 1) am6 Tn cakoUAa Kal TOTIOBETHOTE Tov
0TNV TIPOPAETIOPEVT 0TI, OTO KEAUPOG TNG
avTAiag.

EIAOMOIHZH

@ YTV €yKATAOTAON TOU aobntrpa mpooéte yia
owoth e@appoyn! Ixnuatidetal pla putn oto
Aavw KoAdpo tou aoBntrpa Beppokpaciag. H
pUTN pEMEL va ToToBeTelTaL OE OXEDN PE TO
QUAGKL 0TV OTTH.

8. TomoBetrote T Bdon ouykpdaTnoNg Tou
aoBntrpa Beppokpaoiag (Fig. 2, 8¢on 2),
Xpnotporotrote Tig dUo Bideg Allen (Fig. 2,
0¢0n 3) katl BLéwote oELKTA. Potiég olo@iEng
Twv BLdwv: 6 Nm +/- 1.

9. Tuvdéote To TtapeXOPEVO KaAwdilo alobntrpa
(Fig. 2, 6¢on 4) oto BUoua Tou aedntrpa
Oepuokpaociag amo tn pia mAsupa (Fig. 3,
0¢on 1) kat cuvdEote otn Slemagn Tng ovadag
pUBuLoNg amd v aAAn.(Fig. 3, B¢on 2). Tt
auto, agatpéote Tig Bdwteg Tameg (Siemapn
ouvdeong aloBntripa Oepuokpaciag) otn
povada eAéyyou.

10. ITIG HEPOVWHEVEG AVTALEG OUVAPPOAOYNOTE
Eava tn diuepn BeppopdvVwWon amd To KEAUPOG
avtAiag.

11. Avoigte Tig BaABideg aMOPOVWONG UTIPOOTA Kal
oW amo TNV avTALd 1] EMAVATIANPWOTE TNV
eykataotaon.

12.EAéyEte T oteyavotnTa.

13. EVEpPYOTIOLOTE TNV TACK NAEKTPLKOU SIKTUOU.

08nyieg ouvappohoynong Wilo-Medien-Temperatursensor 53



Icindekiler

1 Bukilavuz hakkinda 55

2 Emniyet 55

3 Teslimat kapsami 56

4 Montaj 57
4.1 Sicaklik sensorii montaji 57

WILO SE 2021-11



1 Bu kilavuz hakkinda

Bu kilavuz iirliniin ayrilmaz bir parcasidir. Bu

kilavuzda yer verilen talimatlara uyulmasi triintin

amacina uygun ve dogru kullanimi igin kosuldur:

= Tim calismalardan 6nce bu kilavuzu okuyun ve
daima erisilebilir bir yerde bulundurun.

- Tum calismalardan 6nce pompanin detayli montaj
ve kullanma kilavuzunu okuyun.

- Pompa lzerindeki bilgileri ve isaretleri dikkate
alin.

= Bkz. QR kodu veya www.wilo.com/stratos-maxo/
om

2 Emniyet

UYARI

Pompa/sistem iizerindeki tiim ¢alismalarda,
pompa isletim kilavuzundaki giivenlik
talimatlarini dikkate alin!

TEHLIKE
Elektrik carpmasi nedeniyle 6liim
tehlikesi!

Pompa/sistem iizerindeki calismalar sadece
sistem gerilimsiz durumdayken yapilmaldir!

Montaj kilavuzu Wilo-Medien-Temperatursensor 55



UYARI

Yaralanma tehlikesi!

Pompa/sistem lizerindeki calismalar sadece
mekanik durma durumunda ve uygun aletlere
gerceklestirilmelidir.

UYARI

Sicak yiizey!

Pompanin tamami ¢ok fazla isinabilir. Yanma
tehlikesi vardir!

+ Her tiirlii isten 6nce pompanin sogumasini
bekleyin!

UYARI

Yanma tehlikesi!

Yiiksek akiskan sicakliklarinda ve sistem
basinc¢larinda pompayi éncelikle sogumaya
birakin ve sistemin basincini sifirlayin.

3 Teslimat kapsami
> Sicaklik senséri
- 2x civata M6 x 10
- Tutucu sensori
— Sensor kablosu 630 mm
—~ Montaj kilavuzu

56 WILO SE 2021-11



4 Montaj
- Montaj/sékme calismalari: Uzman, gereken
sabitleme malzemelerinin ve gerekli aletlerin
kullanimiyla ilgili egitim almis olmalidir.
4.1 Sicaklik sensorii montaiji
4.1.1 Pompa kurulumundan 6nce montaj

1. Pompayl ambalajdan cikarin.

2. Tekli pompalarda iki parcali 1st izolasyonunu
pompa goévdesinden sokiin.

3. Pompa gévdesindeki emme kanali alaninda: iki
M6 x 10 alyan civatay gevseterek sicaklik
sensorli yuvasinin kapagini ¢ikarin.

4. Sicaklik sensortinii (Fig. 1) torbadan ¢ikarin ve
pompa gévdesindeki uygun delige yerlestirin.

DUYURU

@ Sensériin montaji sirasinda dogru oturmasina
dikkat edin! Sicaklik sensoriiniin iist demetinde
bir burun olusur. Burun, delikteki oluga gore
konumlandiriimahdir.

5. Sicaklik sensérii tutucusunu (Fig. 2; Poz. 2)
takin, iki alyan civatay (Fig. 2; Poz. 3) takin ve
sikin. Civata stkma torku: 6 Nm +/- 1.

6. Birlikte verilen sensér kablosunu (Fig. 2; Poz. 4)
bir taraftaki sicaklik sensériiniin fis kismina
(Fig. 3; Poz. 1) takin ve diger taraftaki
regiilasyon modiiliiniin arayiiziine takin (Fig. 3;
Poz. 2). Bunun igin regiilasyon modiiliindeki sol
kér tapay (sicaklik sensérii baglanti arayiizii)
¢ikarin.

Montaj kilavuzu Wilo-Medien-Temperatursensor 57



7. Tekli pompalarda, pompa govdesindeki iki
parcali 1si yalitimini yeniden monte edin.

4.1.2 Pompa kurulumu ve devreye alma isleminden sonra montaj
= Elektrik isleri: Bir elektrik teknisyeni, elektrik
islerini gerceklestirmelidir.

1. Sebeke gerilimini kesin.

2. Kapatma armatiirlerini kapatin veya sistemi
bosaltin!

3. Gerekirse sistemi basingsiz hale getirin. Bunun
icin motor gdvdesi sabitleme civatalarini
gevsetin. Su kacana kadar motor gévdesini orta
kismindan hafifce gevsetin.

4. Ardindan motor tespit civatalarini capraz olarak
sikin. Civata sikma torku: 8 ... 10 Nm.

5. Tekli pompalarda iki parcali isi izolasyonunu
pompa gévdesinden sokiin.

6. Pompa gévdesindeki emme kanali alaninda: iki
M6 x 10 alyan civatayi gevseterek sicaklik
sensorii yuvasinin kapagini ¢ikarin.

7. Sicaklik sensériinii (Fig. 1) torbadan gikarin ve
pompa gévdesindeki uygun delige yerlestirin.

DUYURU

@ Sensdriin montaji sirasinda dogru oturmasina
dikkat edin! Sicaklik sensorliniin tist demetinde
bir burun olusur. Burun, delikteki oluga gore
konumlandiriimahdir.

8. Sicaklik sensérii tutucusunu (Fig. 2; Poz. 2)
takin, iki alyan civatay (Fig. 2; Poz. 3) takin ve
sikin. Civata stkma torku: 6 Nm +/- 1.

9. Birlikte verilen sensér kablosunu (Fig. 2; Poz. 4)
bir taraftaki sicaklik sensdériintin fis kismina

58 WILO SE 2021-11



(Fig. 3; Poz. 1) takin ve diger taraftaki
regiilasyon modiiliiniin arayiiziine takin (Fig. 3;
Poz. 2). Bunun icin regiilasyon modiiliindeki sol
kér tapayi (sicaklik sensérii baglanti arayiizi)
cikarin.

10. Tekli pompalarda, pompa govdesindeki iki
parcaliisi yalitimini yeniden monte edin.

11.Pompanin giris ve ¢ikisindaki kapatma
armatdirlerini agin veya sistemi yeniden
doldurun.

12.Sizdirmazlik durumunu kontrol edin.

13.Sebeke gerilimini agin.

Montaj kilavuzu Wilo-Medien-Temperatursensor 59



Innehallsforteckning

1

2

Om denna anvishing

61

Sikerhet

61

Leveransomfattning

62

Installation

62

4.1 Installation temperatursensor

62

WILO SE 2021-11



1 Om denna anvisning

2 Sakerhet

Den hér anvisningen ar en fast del av produkten. Att

dessa anvisningar foljs noggrant ar en forutsattning

for att produkten ska kunna anvandas och hanteras

korrekt och pa avsett satt:

—> Lds den har anvisningen fore alla atgérder och se
till att den alltid finns till hands.

> L&s pumpens utférliga monterings- och
skotselanvisning fore alla atgarder.

- Observera uppgifter och markningar pa pumpen.

- Se QR-kod eller www.wilo.com/stratos-maxo/om

VARNING

Observera sakerhetsforeskrifterna for pumpdrift
vid alla arbeten p& pumpen/anliggningen!

FARA

Livsfara p.g.a. elektriska stotar!

Arbeten p& pumpen/anldggningen far endast
utféras i spanningslost tillstand!

VARNING

Risk for personskador!

Arbeten p& pumpen/anldggningen far endast
utfdras vid mekaniskt driftstopp och med
ldmpliga verktyg.

Monteringsanvisning Wilo-Medien-Temperatursensor 61



VARNING

Varm yta!

Hela pumpen kan bli mycket varm. Risk for
brannskador!

+ Lat pumpen svalna fore alla arbeten!

VARNING

Risk for skallning!

Vid hdga medietemperaturer och systemtryck
maste pumpen svalna och anldggningen goras
trycklds.

3 Leveransomfattning
-~ Temperatursensor
> 2x skruvar M6 x 10
—> Hallare sensor
- Sensorkabel 630 mm
- Monteringsanvisning
4 Installation

- Monterings-/demonteringsarbeten: Den
kvalificerade elektrikern maste vara utbildad i att
hantera de verktyg och fastmaterial som behovs.

4.1 Installation temperatursensor

4.1.1 Installation fore pumpinstallation
1. Taupp pumpen ur férpackningen.
2. Pd enkelpumpar ska den tvadelade
varmeisoleringen demonteras fran pumphuset.

62 WILO SE 2021-11



3. I sugkanalens omrade pa pumphuset: Ta bort
kapan fran temperatursensorns sdte genom att
lossa de bada insexskruvarna M6 x 10.

4, Taut temperatursensorn (Fig. 1) ur pdsen och
placera den i det avsedda halet pa pumphuset.

OBS

@ Kontrollera att sensorns placering ar korrekt! Pa
temperatursensorn dr en klack formad pa det
ovre bandet. Klacken ska placeras i skaran i hélet.

5. Sitt pa temperatursensorns héllare (Fig. 2,
pos. 2), sitt i och skruva fast de bada
insexskruvarna (Fig. 2, pos. 3). Skruvarnas
atdragningsmoment: 6 Nm +/- 1.

6. Satt ena dnden av den medfdljande
sensorkabeln (Fig. 2, pos. &4) pa
temperatursensorns stickkontaktdel (Fig. 3,
pos. 1) och den andra i reglermodulens
granssnitt (Fig. 3, pos. 2). Ta for detta andamal
bort den vinstra blindpluggen (granssnitt
temperatursensoranslutning) pa reglermodulen.

7. Pa enkelpumpar ska den tvadelade
varmeisoleringen pa pumphuset monteras
tillbaka.

4.1.2 Installation efter pumpinstallation och lyckad driftsattning
> Arbeten pa elsystemet: De elektriska arbetena
madste utforas av en kvalificerad elektriker.
1. Frankoppla ndtspanningen.
2. Stdng spdrrarmaturerna eller tom anldggningen!
3. Gor systemet trycklost om sa krévs. Lossa
skruvarna till motorhusets faste for detta
andamal. Lossa motorhuset en aning fran dess
centrering tills det tranger ut vatten.

Monteringsanvisning Wilo-Medien-Temperatursensor 63



. Dra sedan at motorns fastskruvar korsvis.

Skruvarnas atdragningsmoment: 8—10 Nm.

. Pé enkelpumpar ska den tvadelade

varmeisoleringen demonteras fran pumphuset.

. I sugkanalens omrade pa pumphuset: Ta bort

kapan fran temperatursensorns site genom att
lossa de bada insexskruvarna M6 x 10.

. Ta ut temperatursensorn (Fig. 1) ur pdsen och

placera den i det avsedda hélet pa pumphuset.

OBS

Kontrollera att sensorns placering ar korrekt! Pa
temperatursensorn ar en klack formad pa det
Ovre bandet. Klacken ska placeras i skaran i hélet.

8.

10.

11

12
13

Sitt pa temperatursensorns hallare (Fig. 2,
pos. 2), sitt i och skruva fast de bada
insexskruvarna (Fig. 2, pos. 3). Skruvarnas
atdragningsmoment: 6 Nm +/- 1.

. Satt ena danden av den medféljande

sensorkabeln (Fig. 2, pos. 4) pa
temperatursensorns stickkontaktdel (Fig. 3,
pos. 1) och den andra i reglermodulens
granssnitt (Fig. 3, pos. 2). Ta for detta dndamal
bort den vinstra blindpluggen (granssnitt
temperatursensoranslutning) pa reglermodulen.
Pa enkelpumpar ska den tvadelade
varmeisoleringen pa pumphuset monteras
tillbaka.

.Oppna sparrarmaturerna framfér och bakom

pumpen eller fyll pa anldggningen igen.

.Kontrollera tdthet.
.Koppla in ndtspdnningen.

WILO SE 2021-11



Innholdsfortegnelse

1

2

Om denne anvisningen

Sikkerhet

Leveringsomfang

Installasjon

4.1 Installasjon temperatursensor

Monteringsveiledning Wilo-Medien-Temperatursensor

66

66

67

67
67

65



1 Om denne anvisningen

Denne veiledningen er en fast bestanddel av

produktet. Det er en forutsetning for riktig bruk og

handtering av produktet at denne veiledningen

overholdes:

= Les denne veiledningen fgr alle arbeidsoppgaver,
og oppbevar den tilgjengelig til enhver tid.

- Les den utfgrlige monterings- og
driftsveiledningen for pumpen fgr alle aktiviteter.

- Fglg angivelser og merking pad pumpen.

- Se QR-kode eller www.wilo.com/stratos-maxo/
om

2 Sikkerhet

ADVARSEL

Nar du utfgrer noe arbeid pa pumpen/systemet,
ma du fglge sikkerhetsforskriftene i pumpens
driftsveiledning!

FARE

Risiko for fatal skade pga. elektrisk stgt!
Arbeid p& pumpen/systemet ma kun utfgres nar
strgmmen er frakoblet!

ADVARSEL

Fare for personskader!
Arbeid p& pumpen/systemet md kun utfgres ved
mekanisk stillstand og med egnede verktgy.

66 WILO SE 2021-11



ADVARSEL

Varme overflater!

Hele pumpen kan bli sveaert varm. Fare for
forbrenninger!

+ La pumpen avkjgles fgr det arbeides pa den!

ADVARSEL

Skaldingsfare!
Ved hgye medietemperaturer og systemtrykk ma
pumpen fgrst kjgles ned og gjgres trykklgs.

3 Leveringsomfang
Temperatursensor

2x skruer M6 x 10
Holder sensor
Sensorkabel 630 mm
Monteringsveiledning

v

%
9
9
9

4 Installasjon

- Monterings-/demonteringsarbeider: Fagfolkene
ma vere utdannet i bruk av de ngdvendige
verktgyene og det ngdvendige festeutstyret.

4.1 Installasjon temperatursensor

4.1.1 Installasjon fgr pumpeinstallasjon
1. Ta pumpen ut av forpakningen.

2. Hos enkeltpumper ma den todelte
varmeisoleringen demonteres fra pumpehuset.

Monteringsveiledning Wilo-Medien-Temperatursensor 67



3. lomradet ved sugekanalen pa pumpehuset: Ta
av dekselet til temperatursensorsetet ved a
Igsne de to unbrakoskruene M6 x 10.

4, Ta temperatursensoren (Fig. 1) ut av posen, og
sett den inn i boringen som er beregnet pa det,
pa pumpehuset.

LES DETTE

@ Se til at sensoren sitter ordentlig ved montering!
Pa temperatursensoren er det formet en nese pa
den gvre kragen. Nesen ma plasseres parillen i
boringen.

5. Sett pa holder temperatursensor (Fig. 2; pos. 2),
sett i de to unbrakoskruene (Fig. 2; pos. 3), og
skru fast. Tiltrekningsmomentet til skruene:

6 Nm +/- 1.

6. Sett den medfglgende sensorkabelen (Fig. 2;
pos. 4) p& den ene siden av stgpseldelen til
temperatursensoren (Fig. 3; pos. 1) og p& den
andre siden i reguleringsmodulgrensesnittet
(Fig. 3; pos. 2). Fjern den venstre blindpluggen
(grensesnitt temperatursensortilkobling) pa
reguleringsmodulen.

7. Monter den todelte varmeisoleringen pa
pumpehuset igjen pa enkeltpumper.

4.1.2 Installasjon etter pumpeinstallasjon og vellykket oppstart
— Elektrisk arbeid: En elektriker ma utfgre de
elektriske arbeidene.
1. Bryt nettspenningen.
2. Lukk stengeventilen eller tgm systemet!
3. Gjgr systemet trykklgst om ngdvendig. Gjgr det
ved & Igsne skruene til motorhusfestet. Lgsne

68 WILO SE 2021-11



motorhuset lett fra sentreringen til det kommer
ut vann.

4. Trekk sa til motorens festeskruer i kryss.
Tiltrekningsmomentet til skruene: 8 ... 10 Nm.

5. Hos enkeltpumper ma den todelte
varmeisoleringen demonteres fra pumpehuset.

6. | omradet ved sugekanalen pa pumpehuset: Ta
av dekselet til temperatursensorsetet ved a
Igsne de to unbrakoskruene M6 x 10.

7. Tatemperatursensoren (Fig. 1) ut av posen, og
sett deninn i boringen som er beregnet pa det,
pa pumpehuset.

LES DETTE

@ Se til at sensoren sitter ordentlig ved montering!
Pa temperatursensoren er det formet en nese pa
den gvre kragen. Nesen ma plasseres parillen i
boringen.

8. Sett pa holder temperatursensor (Fig. 2; pos. 2),
sett i de to unbrakoskruene (Fig. 2; pos. 3), og
skru fast. Tiltrekningsmomentet til skruene:

6 Nm +/- 1.

9. Sett den medfglgende sensorkabelen (Fig. 2;
pos. 4) pd den ene siden av stgpseldelen til
temperatursensoren (Fig. 3; pos. 1) og p& den
andre siden i reguleringsmodulgrensesnittet
(Fig. 3; pos. 2). Fjern den venstre blindpluggen
(grensesnitt temperatursensortilkobling) pa
reguleringsmodulen.

10. Monter den todelte varmeisoleringen pa
pumpehuset igjen pa enkeltpumper.

11. Apne stengeventilene foran og bak pumpen,
eller fyll anlegget igjen.

Monteringsveiledning Wilo-Medien-Temperatursensor 69



70

12.Kontroller tetthet.
13.SIa pa nettspenningen.

WILO SE 2021-11



o e

Sisallysluettelo

1 Niitd ohjeita koskien

2 Turvallisuus

3 Toimituksen sisdlto

4 Asennus

4.1 Lampétila-anturin asennus

Asennusohje Wilo-Medien-Temperatursensor

72

72

73

74
74

71



1 N3ita ohjeit

2 Turvallisuus

a koskien

Tdma ohje on kiinted osa tuotteen toimitusta. Tdmdn

ohjeen noudattaminen on edellytyksena tuotteen

tarkoituksenmukaiselle kdytolle ja oikealle

kasittelylle:

= Lue tdma kdyttoohje ennen kaikkia toimenpiteita
ja pidd se aina helposti saatavilla.

- Ennen kaikkien toimien aloittamista lue pumpun
asennus- ja kdyttoohje.

> Pumpussa olevia tietoja ja merkintdji on
noudatettava.

-» Katso QR-koodi tai www.wilo.com/stratos-maxo/
om

VAROITUS

Noudata kaikissa pumppuun/jirjestelméain
kohdistuvissa tdissa pumpun kdyttdohjeen
turvallisuusohjeita!

VAARA

Hengenvaara sahkdiskun takia!

Pumppuun/jarjestelmaan liittyviin tydtehtaviin
saa ryhtyd vain pumpun/jirjestelmin ollessa
jannitteeton!

WILO SE 2021-11



VAROITUS

Loukkaantumisvaara!
Pumppuun/jirjestelmaan liittyviin tydtehtaviin
saa ryhtyi vain soveltuvilla tydkaluilla ja pumpun/
jarjestelmdn ollessa pysdytettyna.

VAROITUS

Kuuma pinta!
Koko pumppu voi ldmmeta hyvin kuumaksi.
Palovammojen vaara!

+ Anna pumpun jadhtyd ennen toiden
aloittamista!

VAROITUS

Palovammojen vaara!

Jos pumpattavien aineiden lampétilat ja
jarjestelmdpaineet ovat korkeita, on pumpun
ensin annettava jadhtya ja jarjestelmasta
poistettava paine.

3 Toimituksen sisilto
= Lampotila-anturi
= 2 xruuvi M6 x 10
—> Anturin kannake
— Anturijohto 630 mm
- Asennusohje

Asennusohje Wilo-Medien-Temperatursensor 73



4 Asennus
- Asennus/purkaminen: Ammattilaisilla on oltava
koulutus tarvittavien tydkalujen ja
kiinnitysmateriaalien kdyttoon.
4.1 Lampétila-anturin asennus
4.1.1 Asennus ennen pumpun asennusta

1. Poista pumppu pakkauksesta.

2. Pura vakiopumppujen kaksiosainen [dmpderiste
pumpun pesdsta.

3. Pumpun pesdn imukanavan alueella: poista
lampéotila-anturikotelon kansi irrottamalla kaksi
M6 x 10 kuusiokoloruuvia.

4, Poista limpétila-anturi (Fig. 1) pussista ja aseta
pumpun pesdan sille tarkoitettuun porattuun
aukkoon.

HUOMAUTUS

@ Varmista anturia asentaessasi, ettd se on oikein
paikallaan! Lampétila-anturin yldreunukseen on
muotoiltu nend. Nena on sijoitettava poratun
aukon uraan.

5. Laita limpétila-anturin kannake (Fig. 2; Pos. 2)
paikoilleen, aseta molemmat kuusiokoloruuvit
(Fig. 2; Pos. 3) paikoilleen ja kiinnitd. Ruuvien
kiristysmomentti: 6 Nm +/- 1.

6. Pujota mukana toimitettu anturikaapeli (Fig. 2;
Pos. 4) toiselta puolelta lampétila-anturin
pistokeosaan (Fig. 3; Pos. 1) ja toiselta puolelta
sagtémoduulin rajapintaan (Fig. 3; Pos. 2).
Poista tité varten vasen peitetulppa (limpétila-

74 WILO SE 2021-11



anturiliitdnnén rajapintaa varten)
sdatomoduulista.

7. Asenna vakiopumpuissa kaksiosainen

ldampdoeriste takaisin pumpun pesdan.

4.1.2 Asennus pumpun asennuksen ja onnistuneen kdytt6onoton

jalkeen

®

Asennusohje Wilo-Medien-Temperatursensor

— Séhkotyot: Sahkotoitd saavat suorittaa vain

sahkodalan ammattilaiset.

1. Katkaise verkkojannite.
2. Sulje sulkuventtiilit tai tyhjenna jarjestelma!
3. Tarvittaessa pura paine jarjestelmdsta. Irrota

tatd varten moottorin kotelon kiinnitysruuvit.
Irrota moottorin kotelo kevyesti
keskityksestddn, kunnes vesi padsee
haihtumaan.

. Kiristd sitten moottorin kiinnitysruuvit
ristikkdin. Ruuvien kiristysmomentti: 8...10 Nm.

. Pura vakiopumppujen kaksiosainen ldmpderiste
pumpun pesdsta.

6. Pumpun pesdn imukanavan alueella: poista

lampotila-anturikotelon kansi irrottamalla kaksi
M6 x 10 kuusiokoloruuvia.

7. Poista limpétila-anturi (Fig. 1) pussista ja aseta

pumpun pesddn sille tarkoitettuun porattuun
aukkoon.

HUOMAUTUS

Varmista anturia asentaessasi, ettd se on oikein
paikallaan! Lampétila-anturin yldreunukseen on
muotoiltu nend. Nend on sijoitettava poratun
aukon uraan.

75



8. Laita lampétila-anturin kannake (Fig. 2; Pos. 2)
paikoilleen, aseta molemmat kuusiokoloruuvit
(Fig. 2; Pos. 3) paikoilleen ja kiinnit4. Ruuvien
kiristysmomentti: 6 Nm +/- 1.

9. Pujota mukana toimitettu anturikaapeli (Fig. 2;
Pos. 4) toiselta puolelta lampétila-anturin
pistokeosaan (Fig. 3; Pos. 1) ja toiselta puolelta
sagtémoduulin rajapintaan (Fig. 3; Pos. 2).
Poista tité varten vasen peitetulppa (limpétila-
anturiliitdnnin rajapintaa varten)
sdatomoduulista.

10. Asenna vakiopumpuissa kaksiosainen
lampdoeriste takaisin pumpun pesddn.

11. Avaa sulkuventtiilit pumpun edestd ja takaa tai
tdytd jarjestelmd uudelleen.

12. Tarkista tiiviys.

13.Kytke verkkojdnnite pddlle.

WILO SE 2021-11



Indholdsfortegnelse

1

2

Om denne vejledning

Sikkerhed

Leveringsomfang

Installation

4.1 Installation af temperaturfgler

Installationsvejledning Wilo-Medien-Temperatursensor

78

78

79

79
80

77



1 Om denne vejledning

Denne vejledning er en fast bestanddel af produktet.

Tilsigtet anvendelse og korrekt handtering af

produktet forudsaetter, at vejledningen overholdes:

-~ Las denne vejledning, inden der udfgres aktivite-
ter af nogen art, og opbevar den altid tilgeenge-
ligt.

= Les den udfgrlige monterings- og driftsvejled-
ning til pumpen, inden der udfgres aktiviteter af
nogen art.

> Var opmarksom pa oplysninger og markninger
pa pumpen.

- Se QR-kode eller www.wilo.com/stratos-maxo/
om

2 Sikkerhed

ADVARSEL

Overhold sikkerhedsforskrifterne i pumpens
driftsvejledning ved alle arbejder p4 pumpen/an-
legget!

FARE

Livsfare som fglge af elektrisk stgd!

Der md kun udfgres arbejder pd pumpen/anleg-
get, nar spendingen til pumpen/anlagget er sla-
et fra!

78 WILO SE 2021-11



ADVARSEL

Fare for tilskadekomst!
Arbejder p& pumpen/anlagget ma kun udfgres

ved mekanisk stilstand og ved hjalp af dertil eg-
net verktgj.

ADVARSEL

Meget varm overflade!

Hele pumpen kan blive meget varm. Der er fare
for forbreendinger!

+ Lad pumpen kdle af, inden der udfgres ar-
bejde pa den!

ADVARSEL

Skoldningsfare!

Ved hgje medietemperaturer og systemtryk skal
pumpen fgrst kgle af, og systemet ggres tryklgst.

3 Leveringsomfang

N2

9
9
9
9

4 Installation
9

Temperaturfgler

2 skruer M6 x 10
Holder fgler
Fglerkabel 630 mm
Installationsvejledning

Monterings-/afmonteringsarbejder: Fagmanden
skal veere uddannet i at handtere det ngdvendige
varktgj og de ngdvendige fastggrelsesmaterialer.

Installationsvejledning Wilo-Medien-Temperatursensor 79



4.1 Installation af temperaturfgler

4.1.1 Installation fgr pumpeinstallation

1. Tag pumpen ud af emballagen.

2. Ved enkeltpumper skal den todelte varmeisole-
ring afmonteres fra pumpehuset.

3. lomradet omkring indsugningskanalen pa pum-
pehuset: Fjern afdaekningen til temperaturfg-
lersadet ved at Igsne de to unbrakoskruer
M6 x 10.

4, Tag temperaturfgleren (Fig. 1) ud af posen, og
sat den i det dertil beregnede hul pa pumpehu-
set.

BEMARK

@ S¢rg ved installationen for, at fgleren sidder kor-
rekt! Pa den gverste krave pa temperaturfgleren
er der formet en naese. Nasen skal positioneres i
hullet i forhold til noten.

5. Sat holderen til temperaturfgleren pa (Fig. 2;
pos. 2), set de to unbrakoskruer i (Fig. 2;
pos. 3), og skru dem fast. Skruernes tilspen-
dingsmoment: 6 Nm +/- 1.

6. St det medfglgende fglerkabel (Fig. 2; pos. 4)
pa temperaturfglernes stikdel pa den ene side
(Fig. 3; pos. 1) og i reguleringsmodul-graense-
fladen pa den anden side (Fig. 3; pos. 2). Fjern
f@rst venstre blindprop (greenseflade tempera-
turfglertilslutning) pa reguleringsmodulet.

7. Ved enkeltpumper skal den todelte varmeisole-
ring monteres pa pumpehuset igen.

80 WILO SE 2021-11



4.1.2 Installation efter pumpeinstallation og udfgrt ibrugtagning
—> Elektrisk arbejde: Elarbejdet skal udfgres af en el-
installatgr.
1. Afbryd netspaendingen.

2. Luk spaerrearmaturer, eller tgm systemet!

3. Tag trykket af systemet, safremt det er ngd-
vendigt. Dette ggres ved at Igsne skruerne pa
motorhusets fastggrelse. Lgsn motorhuset let
fra sin centrering, indtil der slipper vand ud.

4. Speend derefter motorfastggrelsesskruerne pa
kryds. Skruernes tilspandingsmoment:

8 ...10 Nm.

5. Ved enkeltpumper skal den todelte varmeisole-
ring afmonteres fra pumpehuset.

6. | omradet omkring indsugningskanalen pa pum-
pehuset: Fjern afdekningen til temperaturfg-
lersadet ved at Igsne de to unbrakoskruer
M6 x 10.

7. Tag temperaturfgleren (Fig. 1) ud af posen, og
set den i det dertil beregnede hul pa pumpehu-
set.

BEMARK

@ Sg¢rg ved installationen for, at fgleren sidder kor-
rekt! Pa den gverste krave pa temperaturfgleren
er der formet en naese. Nasen skal positioneres i
hullet i forhold til noten.

8. Sat holderen til temperaturfgleren pa (Fig. 2;
pos. 2), set de to unbrakoskruer i (Fig. 2;
pos. 3), og skru dem fast. Skruernes tilspen-
dingsmoment: 6 Nm +/- 1.

9. St det medfglgende fglerkabel (Fig. 2; pos. 4)
pa temperaturfglernes stikdel pa den ene side

Installationsvejledning Wilo-Medien-Temperatursensor 81



(Fig. 3; pos. 1) og i reguleringsmodul-graense-
fladen pa den anden side (Fig. 3; pos. 2). Fjern
f@rst venstre blindprop (greenseflade tempera-
turfglertilslutning) pa reguleringsmodulet.

10. Ved enkeltpumper skal den todelte varmeisole-
ring monteres pa pumpehuset igen.

11.Abn sparrearmaturerne foran og bag pumpen,
eller fyld anlegget igen.

12.Kontrollér teetheden.

13.Sla netspandingen til.

82 WILO SE 2021-11



Satura raditajs

1

2

Par $im instrukcijam

Drosiba

Piegades komplektacija

Montaza

4.1 Temperatiiras sensora montaza

Montazas instrukcija Wilo-Medien-Temperatursensor

84

84

85

86
86

83



Par $im instrukcijam

Drosiba

Sinstrukcija ir neatnemama produkta sastavdala.

Preciza $aja instrukcija sniegto noradijumu

ievérosana ir priek3noteikums, lai produktu atbilstosi

izmantotu un prasmigi apietos ar to:

= Pirms lietoSanas izlasiet So instrukciju un glabajiet
to jebkura laika pieejama vieta.

= Pirms jebkadu darbibu veiksanas izlasiet stikna
uzstadiSanas un ekspluatacijas instrukciju.

- levérojiet uz stiikna atrodamo informaciju un
apziméjumus.

> Skatiet QR kodu vai www.wilo.com/stratos-maxo/
om

BRIDINAJUMS

Veicot jebkadus darbus ar siikni/iekartu, ievérojiet
stikna ekspluatacijas instrukcija sniegtos drosibas
noradijumus!

BISTAMI

Draudi dzivibai, giistot stravas triecienu!

Darbus ar stikni/iekartu drikst veikt tikai ar
atslégtu stravas padevi!

WILO SE 2021-11



BRIDINAJUMS

Savainosanas risks!

Darbus ar stikni/iekartu drikst veikt tikai
mehaniska miera stavokli un ar piemérotiem
instrumentiem.

BRIDINAJUMS

Karsta virsma!
Viss stiknis var klat |oti karsts. lespéjami
apdegumu draudi!
+ Pirms jebkada veida darbu saksanas laujiet
stknim atdzist!

BRIDINAJUMS

Applaucésanas risks!

Augstu Skidruma temperatdiru un sistémas
spiedienu gadijuma stiknim vispirms jalauj atdzist
un iekarta jaatbrivo no spiediena.

3 Piegades komplektacija
-~ Temperatdras sensors
> 2x skriives M6 x 10
—> Sensora turétajs
- Sensora kabelis 630 mm
- Montazas instrukcija

Montazas instrukcija Wilo-Medien-Temperatursensor 85



4 Montaza
- Montazas/demontaZas darbi: Specialistam jabiit
apmacitam apieties ar nepiecieSamajiem rikiem
un vajadzigajiem nostiprinasanas materialiem.
4.1 Temperatiiras sensora montaza
4.1.1 Montaza pirms siikna uzstadisanas

1. Iznemiet sikni no iepakojuma.

2. Atseviskiem siikniem demontgjiet divdaligo
siltumizolaciju no siikna korpusa.

3. lestik3anas kanala zona uz siikna korpusa:
nonemiet temperatiras sensora pozicijas
parsegu, izskrlivéjot abas seSstiira iedobes
skriives M6 x 10.

4. Iznemiet temperatiras sensoru (Fig. 1) no
maisina un ievietojiet tam paredzétaja urbuma
uz siikna korpusa.

IEVERIBAI

@ Veicot sensora montazu, nodroSiniet pareizu
novietojumu! Uz temperatiiras sensora augséjas
mansetes ir izveidots izvirzijums. lzvirzijumu ir
janovieto pret gropi urbuma.

5. Uzlieciet temperatiras sensora turétaju (Fig. 2;
2.poz.), ievietojiet un pievelciet abas sesstiira
iedobes skriives (Fig. 2; 3. poz.). Skrivju
pievilksanas griezes moments: 6 Nm +/- 1.

6. Uzspraudiet komplektacija ieklauto sensora
kabeli (Fig. 2; &4. poz.) viena pusé uz
temperatiiras sensora spraudna dalas (Fig. 3;
1. poz.) un otra pusé vadibas modula saskarné
(Fig. 3; 2. poz.). Lai to paveiktu iznemiet kreiso

86 WILO SE 2021-11



aizbazni (temperatiiras sensora piesléguma
saskarne) no vadibas modula.

7. Atseviskiem stikniem no jauna uzstadiet

divdaligo siltumizolaciju uz stikna korpusa.

4.1.2 Montaza péc siikna uzstadisanas un veiktas ekspluatacijas

uzsaks$anas

®

= Ar elektribu saistitie darbi: Elektriskie darbi ir
javeic kvalificEtam elektrikim.
1. Tikla sprieguma atvieno3ana.

2.
3.

Aizveriet slégvarstu vai iztuksojiet iekartu!
JanepiecieSams, samaziniet iekartas spiedienu.
Lai to paveiktu, atskriivéjiet motora korpusa
stiprinajuma skriives. Nedaudz atbrivojiet
motora korpusu no ta centréjuma, lidz izpldst
tdens.

. Nosléguma pievelciet motora stipringjuma

skriives seciba pa diagonali. Skravju
pievilkSanas griezes moments: 8 ... 10 Nm.

. Atseviskiem skniem demontéjiet divdaligo

siltumizolaciju no stikna korpusa.

. lestikSanas kanala zona uz stikna korpusa:

nonemiet temperatiras sensora pozicijas
parsegu, izskrlivéjot abas seSstiira iedobes
skriives M6 x 10.

. Iznemiet temperatiras sensoru (Fig. 1) no

maisina un ievietojiet tam paredzétaja urbuma
uz siikna korpusa.

IEVERIBAI

Veicot sensora montazu, nodrosiniet pareizu
novietojumu! Uz temperatiiras sensora augséjas
mansetes ir izveidots izvirzijums. lzvirzijumu ir
janovieto pret gropi urbuma.

Montazas instrukcija Wilo-Medien-Temperatursensor 87



8. Uzlieciet temperatiiras sensora turétaju (Fig. 2;
2.poz.), ievietojiet un pievelciet abas sesstiira
iedobes skrives (Fig. 2; 3. poz.). Skrivju
pievilk3anas griezes moments: 6 Nm +/- 1.

9. Uzspraudiet komplektacija ieklauto sensora
kabeli (Fig. 2; &4. poz.) viena pusé uz
temperatiras sensora spraudna dalas (Fig. 3;
1. poz.) un otra pusé vadibas modula saskarné
(Fig. 3; 2. poz.). Lai to paveiktu iznemiet kreiso
aizbazni (temperatiras sensora piesléguma
saskarne) no vadibas modula.

10. Atseviskiem siikniem no jauna uzstadiet
divdaligo siltumizolaciju uz stikna korpusa.

11. Atveriet pirms un aiz stikna uzstaditos
slegvarstus vai atkal uzpildiet iekartu.

12.Parbaudiet hermétiskumu.

13.leslédziet tikla spriegumu.

WILO SE 2021-11



Turinys

1

2

Apie $ig instrukcijg

Sauga

Tiekimo komplektacija

Montavimas.

4.1 Temperatdros jutiklio montavimas

Montavimo instrukcija Wilo-Medien-Temperatursensor

90

90

91

92
92

89



90

Apie Sig instrukcija

Sauga

Siinstrukcija yra neatsiejama sudedamoji gaminio
dalis. Tikslus Sios instrukcijos laikymasis yra batina
gaminio naudojimo pagal paskirtj ir tinkamo jo
eksploatavimo salyga:

—> Pries imantis bet kokios veiklos batina perskaityti
Sig instrukcija ir jg laikyti lengvai pasiekiamoje
vietoje.

= Pries atlikdami darbus perskaitykite iSsamia
siurblio montavimo ir naudojimo instrukcija.

- Paisykite ant siurblio esanciy duomeny ir
simboliy.

-> Zr. QR koda arba www.wilo.com/stratos-maxo/om

|SPEJIMAS

Atlikdami su siurbliu /jrenginiu susijusius darbus,
laikykités siurblio naudojimo instrukcijoje
pateikty saugos nurodymy!

PAVOJUS

Mirtino suzeidimo rizika dél elektros
smiigio!

Bet kokius su siurbliu/jrenginiu susijusius darbus
leidziama atlikti tik atjungus elektros jtampa!

WILO SE 2021-11



3

|SPEJIMAS
Galima susizeisti!
Su siurbliu /jrenginiu susijusius darbus galima

atlikti tik jam mechaniskai sustojus ir naudojant
tinkamus jrankius.

|SPEJIMAS
Jkaites pavirsius!
Visas siurblys gali labai jkaisti. Nusideginimo
pavojus!
+ Pries atlikdami bet kokius darbus, palaukite,
kol siurblys atvés!

|SPEJIMAS
Nusiplikymo pavojus!
Esant aukstai darbinés terpés temperatdrai ir

aukstam sistemos slégiui i$ pradziy leisti siurbliui
atveésti ir pasalinti slégj iS sistemos.

Tiekimo komplektacija

-~ Temperataros jutiklis
> 2varZtai M6 x 10

— Laikiklio jutiklis

- Jutiklio kabelis 630 mm
-~ Montavimo instrukcija

Montavimo instrukcija Wilo-Medien-Temperatursensor 91



4 Montavimas
- Montavimo /i$montavimo darbai: Kvalifikuoti
darbuotojai turi bati iSmokyti dirbti su reikiamais
jrankiais ir reikalingomis tvirtinimo priemonémis.

4.1 Temperatiiros jutiklio montavimas

4.1.1 Montavimas po siurblio instaliavimo

1. I3 pakuotés iSimkite siurblj.

2. Vienguby siurbliy atveju nuo siurblio korpuso
nuimkite dviejy daliy Silumos izoliacija.

3. |siurbimo kanalo srityje, ant siurblio korpuso:
Nuimkite temperatiros jutiklio lizdo dangtelj,
atsukdami du M6 x 10 varZztus su
Sesiakampémis galvutémis.

4. I3imkite temperatiros jutiklj (Fig. 1) i3 mai3elio
ir jstatykite jj j siurblio korpuse esancig anga.

PRANESIMAS

@ Montuodami jutiklj, atkreipkite démesj j tinkama
jo padétj! Ant temperatiros jutiklio virSutinio
ritinio suformuotas snapelis. Snapelis turi bati
nukreiptas j skyléje esantj griovelj.

5. UZzdekite temperatiros jutiklio laikiklj (Zr. Fig. 2;
2 poz.), jsukite ir priverzkite abu varZtus su
eSiakampémis galvuteés (Fig. 2; 3 poz.). Varzto
priverZimo momentas: 6 Nm +/- 1.

6. Pridedama jutiklio kabelj (Fig. 2; & poz.) jki3kite j
temperatiros jutiklio kiStukine dalj vienoje
puséje (Fig. 3; 1 poz.) ir j valdymo modulio
s3sajg kitoje puséje (Fig. 3; 2 poz.). Todél
iStraukite kairigjg akle (temperataros jutiklio
prijungimo sasaja) i3 valdymo modulio.

92 WILO SE 2021-11



7.

Vienguby siurbliy atveju nuo siurblio korpuso
dar kartg uzdékite dviejy daliy Silumos izoliacija.

4.1.2 Montavimas po siurblio instaliavimo ir sekminga eksploatacijos

pradzia

®

—> elektros darbai: Elektros darbus turi atlikti

kvalifikuotas elektrikas.
1.
2.

Atjunkite tinklo jtampa.
UZdarykite uZdaromajg armatirg arba
iStustinkite sistema!

. Jeireikia, iSleiskite slégj sistemoje. Tam atsukite

variklio korpuso tvirtinimo varztus. Siek tiek
atlaisvinkite variklio korpusg nuo savo vidurio,
kad isbégty vanduo.

. Paskui tolygiai uzsukite variklio tvirtinimo

varztus, verzdami kryZme. VarZzto priverZimo
momentas: 8 ... 10 Nm.

. Vienguby siurbliy atveju nuo siurblio korpuso

nuimkite dviejy daliy Silumos izoliacija.

. |siurbimo kanalo srityje, ant siurblio korpuso:

Nuimkite temperatiros jutiklio lizdo dangtelj,
atsukdami du M6 x 10 varztus su
SeSiakampémis galvutémis.

. I3imkite temperatdros jutiklj (Fig. 1) i3 mai3elio

ir jstatykite jj j siurblio korpuse esancia anga.

PRANESIMAS

Montuodami jutiklj, atkreipkite démesj j tinkama
jo padétj! Ant temperatiros jutiklio virSutinio
ritinio suformuotas snapelis. Snapelis turi baiti
nukreiptas j skyléje esantj griovel;.

8. UZdékite temperatiros jutiklio laikiklj (Zr. Fig. 2;

2 poz.), jsukite ir priverzkite abu varztus su

Montavimo instrukcija Wilo-Medien-Temperatursensor 93



94

Sesiakampémis galvutés (Fig. 2; 3 poz.). Varzto
priverzZimo momentas: 6 Nm +/- 1.

9. Pridedamg jutiklio kabelj (Fig. 2; 4 poz.) jki3kite |
temperatdros jutiklio kistukine dalj vienoje
puséje (Fig. 3; 1 poz.) ir j valdymo modulio
s3sajg kitoje puséje (Fig. 3; 2 poz.). Todél
iStraukite kairiaja akle (temperatiros jutiklio
prijungimo s3saja) i3 valdymo modulio.

10. Vienguby siurbliy atveju nuo siurblio korpuso
dar kartg uzdékite dviejy daliy Silumos izoliacija.

11. Atidarykite uZdaromajg armatdirg pries ir uz
siurblio arba dar karta pripildykite jrengin;.

12. Patikrinkite sandaruma.

13.Jjunkite tinklo jtampa.

WILO SE 2021-11



Tartalomjegyzék

1

2

A jelen utasitasra vonatkozé informaciok

Biztonsag

Szallitasi terjedelem

Telepités

4.1 HEmérséklet-érzékeld telepités

Szerelési itmutaté Wilo-Medien-Temperatursensor

96

96

97

97
98

95



1 A jelen utasitasra vonatkozé informaciok

Ajelen Gtmutatd a berendezés elvalaszthatatlan ré-
sze. A jelen Utmutaté betartasa el6feltétele a rendel-
tetésszerii hasznalatnak és a berendezés helyes ke-
zelésének:

-~ Mindenfajta tevékenység el6tt olvassa at ezt az
utasitast, és tartsa allandéan hozzaférhetd he-
lyen.

-~ Mindenfajta tevékenység el6tt olvassa el a szi-
vattyl beépitési és lizemeltetési utasitasat.

> Vegye figyelembe a szivattydn talalhatd adatokat
és jeloléseket.

=» Lasd a QR-kodot vagy www.wilo.com/stratos-
maxo/om weboldalt

2 Biztonsag

FIGYELMEZTETES

A szivattyln/rendszeren végzett valamennyi
munka soran tartsa be a szivattyu tizemeltetési
utasitasaban szerepl6 biztonsagi elGirasokat!

VESZELY

Eletveszély dramiités miatt!
A szivattytn/rendszeren végzett munkakat csak
fesziiltségmentes éllapotban szabad végezni!

96 WILO SE 2021-11



FIGYELMEZTETES
Sériilésveszély!
A szivattylin/rendszeren végzett munkakat csak

mechanikai tizemsziinet esetén és a megfeleld
szerszamokkal szabad végezni.

FIGYELMEZTETES

Forro feliilet!
A teljes szivattyli nagyon forrova valhat. Egési sé-
rilések veszélye all fenn!
+ Minden munkalat el6tt hagyja leh(ilni a szi-
vattyut!

FIGYELMEZTETES

Leforrazas veszélye!

Magas kozeghGmérséklet és rendszernyomas
esetén a szivattyut el6z6leg hagyni kell lehdilni,
majd a rendszert nyomasmentesiteni kell.

3 Szallitasi terjedelem
—> HOmérséklet-érzékels
- 2x csavar M6 x 10
-~ Jeladé tartd
- ErzékelSkabel 630 mm
> Szerelési utmutat6

[ Telepités
- Telepitési/szétszerelési munkalatok: A szakem-
bernek rendelkeznie kell a sziikséges szerszamok

Szerelési itmutaté Wilo-Medien-Temperatursensor 97



és rogzitéanyagok hasznalatara vonatkoz6 képe-

sitéssel.
4.1 Homérséklet-érzékeld telepités
411 Beépités a szivattyl telepitése elott

1. Emelje ki a szivattylt a csomagolasbol.

2. Egyes-szivattyiknal szerelje le a szivattyiha-
zon |éve kétrészes hoszigetelést.

3. A szivattyuhaz felszivocsatornaja kérnyékén: A
két darab M6 x 10 imbuszcsavar meglazitasaval
vegye le a hGmérséklet-érzékels rogzités bur-
kolatat.

4, Vegye ki a h6mérséklet-érzékelst (Fig. 1) a ta-
sakbol és a szivattylhazon helyezze be az erre
szolgald furatba.

ERTESITES

@ Ajeladd 6sszeszerelésénél tigyeljen a helyes rog-
zitettségre! A h6mérséklet-érzékeldn a fels6 ko-
tegnél egy orr van kialakitva. Az orrot a furatban
talalhaté horonyhoz kell pozicionalni.

5. Helyezze fel a hGmérséklet-érzékels tartdjat
(Fig. 2; 2. poz.), helyezze be a két imbuszcsavart
(Fig. 2; 3. poz.) és hlizza meg. A csavarok meg-
hazasi nyomatéka: 6 Nm +/- 1.

6. Dugja fel a mellékelt érzékelSkabelt (Fig. 2;

4. poz.) az egyik oldalon a hémérséklet-érzéke-
16 dugaszrészére (Fig. 3; 1. poz.), a mésik olda-
lon pedig a szabalyozémodul-interfészbe

(Fig. 3; 2. poz.). Ehhez a bal vakdugét (hdmér-
séklet-érzékeld csatlakozo interfész) tavolitsa
el a szabalyozémodulrdl.

98 WILO SE 2021-11



7

. Egyes-szivattyuknal szerelje vissza a szivattyi-
hazon |évs kétrészes hdszigetelést.

4.1.2 Beépités a szivattyl telepitése és a sikeres lizembe helyezés utan

®

9

Az elektromos részegységeken végzett munkak:
Az elektromos munkdkat elektromos szakember-
nek kell végeznie.

1. Valassza le a halézati fesziiltséget.

2.

Zarja el az elzarészerelvényeket, vagy dritse le a
rendszert!

3. Amennyiben szlikséges, nyomasmentesitse a

rendszert. Ehhez lazitsa meg a motorhaz régzi-
tés csavarjait. A motorhazat enyhén lazitsa meg
a centrirozasban, amig viz nem tavozik.

4. Ezutan 4tlésan hiizza meg a motorrdgzits csa-

varokat. A csavarok meghuzasi nyomatéka:
8..10 Nm.

5. Egyes-szivattyuknal szerelje le a szivattyuha-

zon |éve kétrészes hGszigetelést.

6. A szivattyuhaz felszivdcsatornaja kornyékén: A

két darab M6 x 10 imbuszcsavar meglazitasaval
vegye le a hdmérséklet-érzékeld rogzités bur-
kolatat.

7. Vegye ki a h6mérséklet-érzékelst (Fig. 1) a ta-

sakbol és a szivattytihazon helyezze be az erre
szolgald furatba.

E

RTESITES

Ajeladd Osszeszerelésénél tigyeljen a helyes rog-
zitettségre! A h6mérséklet-érzékeldn a fels6 ko-
tegnél egy orr van kialakitva. Az orrot a furatban
talalhaté horonyhoz kell pozicionalni.

Szerelési itmutaté Wilo-Medien-Temperatursensor 99



100

8.

10.

11.

12.
13.

Helyezze fel a h6mérséklet-érzékeld tartojat
(Fig. 2; 2. poz.), helyezze be a két imbuszcsavart
(Fig. 2; 3. poz.) és hlizza meg. A csavarok meg-
hdzési nyomatéka: 6 Nm +/- 1.

. Dugja fel a mellékelt érzékelkabelt (Fig. 2;

4. poz.) az egyik oldalon a hémérséklet-érzéke-
16 dugaszrészére (Fig. 3; 1. poz.), a mésik olda-
lon pedig a szabalyozémodul-interfészbe

(Fig. 3; 2. poz.). Ehhez a bal vakdugét (hémér-
séklet-érzékeld csatlakoz6 interfész) tavolitsa
el a szabalyozémodulrdl.

Egyes-szivattyiknal szerelje vissza a szivattyl-
hazon lévs kétrészes hdszigetelést.

Nyissa ki az elzarbszerelvényeket a szivatty
el6tt és mogott vagy toltse fel ismét a berende-
zést.

Ellendrizze a tomitettséget.

Kapcsolja be a halozati fesziiltséget.

WILO SE 2021-11



Spis tresci

1

2

O instrukcji

Bezpieczenstwo

Zakres dostawy

Instalacja

4.1 Montaz czujnika temperatury

Instrukcja montazu Wilo-Medien-Temperatursensor

102

102

103

103
104

101



2

102

O instrukgji

Ta instrukcja stanowi integralng czes¢ produktu.

Stosowanie sie do tej instrukcji stanowi warunek

uzytkowania zgodnego z przeznaczeniem oraz nale-

zytej obstugi produktu:

- Przed rozpoczeciem jakichkolwiek czynnosci na-
lezy sie z nig zapoznad i zawsze mie¢ jg pod reka.

= Przed wykonaniem wszystkich czynnosci nalezy
przeczytac szczegétowa instrukcje montazu i ob-
stugi pompy.

= Przestrzegac informacji i oznaczen na pompie.

=» Patrz kod QR lub www.wilo.com/stratos-maxo/om

Bezpieczenstwo

OSTRZEZENIE

Podczas prac przy pompie/urzadzeniu przestrze-
gac zalecen dotyczacych bezpieczenstwa in-
strukcji trybu pracy pompy!

NIEBEZPIECZENSTWO
Zagrozenie zycia wskutek porazenia pra-
dem!

Prace przy pompie/urzadzeniu mozna przeprowa-
dzac tylko wtedy, gdy urzadzenia te sg wytaczo-
ne!

WILO SE 2021-11



4 Instalacja

9
9
9
9

OSTRZEZENIE

Niebezpieczenstwo odniesienia obrazen!

Prace przy pompie/urzadzeniu mozna przeprowa-
dzac tylko w mechanicznym stanie czuwania i
przy uzyciu odpowiednich narzedzi.

OSTRZEZENIE

Rozgrzana powierzchnia!

Cata pompa moze by¢ bardzo goraca. Niebezpie-
czenstwo poparzenia!

+ Przed rozpoczeciem wszelkich prac schto-
dzi¢ pompe!

OSTRZEZENIE

Niebezpieczenstwo oparzenia!

Przy wysokich temperaturach przettaczanej cie-
czy i ciSnieniach w systemie nalezy zaczekac na
ostygniecie pompy i pozbawi¢ system ci$nienia.

Zakres dostawy
—~ Czujnik temperatury

2x Sruby M6 x 10
Uchwyt czujnika

Kabel czujnika 630 mm
Instrukcja montazu

- Montaz/demontaz: Personel musi zostaé prze-

szkolony w zakresie postugiwania sie niezbedny-

Instrukcja montazu Wilo-Medien-Temperatursensor 103



mi narzedziami oraz wymaganymi materiatami do

mocowania.
4.1 Montaz czujnika temperatury
4.1.1 Montaz przed instalacjg pompy

1. Wyja¢ pompe z opakowania.

2. W przypadku pomp pojedynczych zdemonto-
wac dwuczesciowg termoizolacje z korpusu
pompy.

3. W obszarze kanatu zasysania na korpusie pom-
py: Zdja¢ pokrywe gniazda czujnika temperatu-
ry poprzez poluzowanie obu $rub imbusowych
M6 x 10.

4. Wyja¢ czujnik temperatury (Fig. 1) z worka i
umiesci¢ na korpusie pompy w przeznaczonym
do tego otworze.

NOTYFIKACJA

@ Przy montazu czujnika zwrdci¢ uwage na prawi-
dtowe osadzenie! Na gérnym kotnierzu na czujni-
ku temperatury uformowany jest nosek. Nosek
musi by¢ umieszczony do rowka w otworze.

5. Umiesci¢ uchwyt czujnika temperatury (Fig. 2;
poz. 2), wtozy¢ obie $ruby imbusowe (Fig. 2;
poz. 3) i dokreci¢. Moment dokrecenia $rub:

6 Nm +/- 1.

6. Dostarczony kabel czujnika (Fig. 2; poz. &4) nato-
zy¢ po jednej stronie na element wtyczki czuj-
nika temperatury (Fig. 3; poz. 1) a po drugiej
stronie w interfejs modutu regulacji. (Fig. 3; poz.
2). W tym celu usuna¢ lewg zaslepke (interfejs
przytacza czujnika temperatury) na module re-
gulacji.

104 WILO SE 2021-11



7. W przypadku pomp pojedynczych ponownie

zamontowac dwuczesciowa termoizolacje
na korpusie pompy.

4.1.2 Montaz po instalacji pompy i uruchomieniu

®

9

Prace elektryczne: Prace elektryczne moga by¢
wykonywane wytacznie przez wykwalifikowa-
nych elektrykow.

1. Odfaczy¢ napiecie zasilania.

2.

Zamkna¢ armature odcinajgcg lub oprdznic sys-
tem!

. Jesli to konieczne, nalezy rozszczelni¢ system.
W tym celu poluzowa¢ $ruby mocowania kor-
pusu silnika. Lekko poluzowac¢ korpus silnika z
jego centrowania, az do wydostania sie wody.

4. Nastepnie dociggna¢ na krzyz $ruby mocowania

silnika. Moment dokrecenia $rub: 8 ... 10 Nm.

5. W przypadku pomp pojedynczych zdemonto-

wac dwuczesciowa termoizolacje z korpusu
pompy.

6. W obszarze kanatu zasysania na korpusie pom-

py: Zdja¢ pokrywe gniazda czujnika temperatu-
ry poprzez poluzowanie obu $rub imbusowych
M6 x 10.

7. Wyjaé czujnik temperatury (Fig. 1) z worka i

umiesci¢ na korpusie pompy w przeznaczonym
do tego otworze.

NOTYFIKACJA

Przy montazu czujnika zwréci¢ uwage na prawi-
dtowe osadzenie! Na gérnym kotnierzu na czujni-
ku temperatury uformowany jest nosek. Nosek
musi by¢ umieszczony do rowka w otworze.

Instrukcja montazu Wilo-Medien-Temperatursensor 105



106

8. Umiesci¢ uchwyt czujnika temperatury (Fig. 2;
poz. 2), wtozy¢ obie $ruby imbusowe (Fig. 2;
poz. 3) i dokreci¢. Moment dokrecenia $rub:

6 Nm +/- 1.

9. Dostarczony kabel czujnika (Fig. 2; poz. &) nato-
2y¢ po jednej stronie na element wtyczki czuj-
nika temperatury (Fig. 3; poz. 1) a po drugiej
stronie w interfejs modutu regulacji. (Fig. 3; poz.
2). W tym celu usuna¢ lewg zaslepke (interfejs
przytacza czujnika temperatury) na module re-
gulacji.

10. W przypadku pomp pojedynczych ponownie
zamontowac dwuczesSciowa termoizolacje
na korpusie pompy.

11. Armatury odcinajace przed i za pompg otworzy¢
lub ponownie napetni¢ system.

12.Sprawdzi¢ szczelnos¢.

13. Wtaczyc¢ napiecie zasilania.

WILO SE 2021-11



Obsah

1 K tomuto ndvodu

2 Bezpeénost

3 Rozsah dodavky

4 Instalace

4.1 Montaz teplotniho senzoru

Navod k montazi Wilo-Medien-Temperatursensor

108

108

109

110
110

107



1

2

108

K tomuto navodu

Bezpecnost

Tento navod je pevnou soucasti vyrobku. DodrZovani
tohoto navodu je predpokladem pro pouZzivani
vyrobku v souladu s urenim a pro spravnou
manipulaci s vyrobkem:

—> Pred zahajenim jakychkoliv ¢innosti si tento
navod prectéte a uloZte jej na kdykoliv
pfistupném misté.

—> Pred jakoukoliv ¢innosti si prectéte navod
k montazi a obsluze Cerpadla.

> Respektujte Gidaje a oznaceni na Cerpadle.

> Viz QR kéd nebo www.wilo.com/stratos-maxo/om

VAROVANI{

PFi veskerych pracich na erpadle/zafizeni
dodrZujte bezpecnostni pokyny uvedené v
navodu k provozu cerpadla!

NEBEZPEC|

OhroZeni Zivota zasahem elektrickym
proudem!

Prace na Eerpadle/zafizeni se smi provadét pouze
ve stavu bez napéti!

WILO SE 2021-11



VAROVANI

Nebezpeéi urazu!

Préce na Cerpadle/zafizeni se smi provadét pouze
v mechanickém klidovém stavu a s pouZitim
vhodnych nastroju.

VAROVANI{

Horky povrch!
Celé cerpadlo muize byt velmi horké. Hrozi
nebezpeci popéleni!
+ Pred zahajenim veskerych praci nechte
Cerpadlo vychladnout!

VAROVANI{

Nebezpedi opareni!

V piipadé vysokych teplot média a vysokych
hodnot systémového tlaku nechte ¢erpadlo
nejprve vychladnout a odbourejte tlak v zafizeni.

3 Rozsah dodavky
—~ Teplotni senzor
> 2x Srouby M6 x 10
—> Drzak senzoru
> Kabel senzoru 630 mm
—~ Navod k montazi

Navod k montazi Wilo-Medien-Temperatursensor 109



4 Instalace
= Instalace/demontaz: Odborny personal musi byt
proskolen na praci s nutnymi nastroji a s
potfebnym upeviiovacim materialem.
4.1 Montéz teplotniho senzoru
4.1.1 MontaZ pred instalaci ¢erpadla

1. Vyjméte Cerpadlo z obalu.

2. U samostatného Cerpadla demontujte
dvoudilnou tepelnou izolaci ze skiiné ¢erpadla.

3. V oblasti nasavaciho kanalu na télese cerpadla:
Uvolnénim obou Sroubd s vnitfnim Sestihranem
M6 x 10 sejméte kryt prihradky teplotniho
senzoru.

4, Teplotni senzor (Fig. 1) vyjméte z obalu a vloZte
jej do otvoru pfipraveného v télese Cerpadla.

OZNAMENi

@ Pfi instalaci senzoru dbejte na jeho spravné
dosednuti! Na horni pasce teplotniho senzoru se
nachazi prodlouzeni. Toto prodlouzeni musi byt
zasazeno do drazky v otvoru.

5. Nasadte drzdk teplotniho senzoru (Fig. 2,
pol. 2), pfiloZte a pevné pfisroubujte oba 3rouby
s vnitinim 3estihranem (Fig. 2, pol. 3). Utahovaci
moment Sroub(i: 6 Nm +/- 1.

6. Kabel senzoru (Fig. 2, pol. &), ktery je sou&asti
dodavky, zasunte na jedné strané do zastrcky
teplotniho senzoru (Fig. 3, pol. 1) a na druhé
strané do rozhrani regula¢niho modulu (Fig. 3,
pol. 2). Na regulaénim modulu odstrafite za

110 WILO SE 2021-11



timto ucelem levou zaslepovaci zatku (rozhrani
pfipojeni teplotniho senzoru).

7. U samostatného Cerpadla opét na téleso
Cerpadla namontujte dvoudilnou tepelnou
izolaci.

4.1.2 Montéz po instalaci erpadla a jeho uvedeni do provozu
— Prace na elektrické soustavé: Prace na elektrické
soustavé musi provadét odborny elektrikar.

1. Odpojte sitové napéti.

2. Zavfete uzaviraci armatury nebo vypustte
zarizeni!

3. V pfipadé potieby systém odtlakujte. Za timto
Gcelem uvolnéte Srouby upevnéni skfiné
motoru. Skiifh motoru lehce uvolnéte ze stfedu,
aby mohla uniknout voda.

4. Nasledné Srouby k upevnéni motoru utdhnéte
kfizem. Utahovaci moment Sroub(: 8 ... 10 Nm.

5. U samostatného cerpadla demontujte
dvoudilnou tepelnou izolaci ze skfiné cerpadla.

6. V oblasti nasavaciho kanalu na télese cerpadla:
Uvolnénim obou Sroub(i s vnitfnim Sestihranem
M6 x 10 sejméte kryt prihradky teplotniho
senzoru.

7. Teplotni senzor (Fig. 1) vyjméte z obalu a vloZte
jej do otvoru pfipraveného v télese cerpadla.

OZNAMENi

@ Pfi instalaci senzoru dbejte na jeho spravné
dosednuti! Na horni pasce teplotniho senzoru se
nachazi prodlouZeni. Toto prodlouzZeni musi byt
zasazeno do drazky v otvoru.

Navod k montazi Wilo-Medien-Temperatursensor 111



112

8.

10.

11.

12.
13.

Nasadte drZak teplotniho senzoru (Fig. 2,

pol. 2), pfiloZte a pevné pfisroubujte oba 3rouby
s vnitinim 3estihranem (Fig. 2, pol. 3). Utahovaci
moment Sroub(i: 6 Nm +/- 1.

. Kabel senzoru (Fig. 2, pol. 4), ktery je sou&asti

dodavky, zasufte na jedné strané do zastrcky
teplotniho senzoru (Fig. 3, pol. 1) a na druhé
strané do rozhrani regula¢niho modulu (Fig. 3,
pol. 2). Na regula&nim modulu odstrafite za
timto Gelem levou zaslepovaci zatku (rozhrani
pfipojeni teplotniho senzoru).

U samostatného Cerpadla opét na téleso
Cerpadla namontujte dvoudilnou tepelnou
izolaci.

Otevrete uzaviraci armatury pred cerpadlem

a za nim a zafizeni opét naplnte.

Zkontrolujte tésnost.

Zapnéte sitové napéti.

WILO SE 2021-11



Obsah

1 Otomto navode

2 Bezpeénost.

3 Rozsah dodavky

4 Instalacia

4.1 InStalacia snimaca teploty

Navod na montaz Wilo-Medien-Temperatursensor

114

114

115

115
116

113



1 0O tomto navode

Navod je pevnou sucastou vyrobku. DodrZiavanie

tohto navodu je predpokladom na pouZivanie vyrob-

ku v stlade s icelom a na spravnu obsluhu vyrobku:

— Pred akymikolvek Cinnostami si preditajte tento
navod a uschovajte ho tak, aby bol kedykolvek
dostupny.

—> Pred v3etkymi Cinnostami si preitajte podrobny
navod na montaz a obsluhu Cerpadla.

- DodrZiavajte pokyny a znacky nachadzajlice sa na
Cerpadle.

> Pozri QR kéd alebo www.wilo.com/stratos-maxo/
om

2 Bezpelnost

VAROVANIE

Pri vdetkych pracach na ¢erpadle/zariadeni dodr-
Ziavajte bezpecnostné pokyny navodu na pre-
vadzkovanie cerpadla!

NEBEZPECENSTVO
Riziko smrtelného zranenia v désledku
zasahu elektrickym pradom!

Préce na Cerpadle/zariadeni sa mdZu vykonavat
len pri odpojenom napati!

114 WILO SE 2021-11



VAROVANIE

Nebezpecenstvo poranenia!

Préce na Cerpadle/zariadeni sa smu vykonavat len
pri mechanicky vypnutom stave a pomocou
vhodného naradia.

VAROVANIE

Horuci povrch!
Celé ¢erpadlo sa mdZe velmi zahriat. Hrozi nebez-
pecenstvo popalenia!
« Pred vykondavanim akychkolvek prac nechaj-
te Cerpadlo vychladnut!

VAROVANIE

Nebezpelenstvo obarenia!

Pri vysokych teplota média a systémovych
tlakoch nechajte ¢erpadlo najskér vychladnit a
systém zbavte tlaku.

3 Rozsah dodavky

Snimac teploty

2x skrutky M6 x 10
Drziak snimaca

Kabel snimaca 630 mm
Navod na montaz

NN N N AN

4 InStalacia

- MontaZne/demontazne prace: Odborny pracovnik
musi byt vy3koleny v oblasti manipulacie s poza-

Navod na montaz Wilo-Medien-Temperatursensor 115



dovanymi nastrojmi a potrebnymi upeviovacimi

materialmi.
4.1 InStaldcia snimaéa teploty
4.1.1 Montaz instalacie ¢erpadla

1. Vyberte Cerpadlo z obalu.

2. Pri samostatnych Cerpadlach odstrante dvoj-
zlozkovu tepelnt izolaciu z telesa cerpadla.

3. V oblasti nasavacieho kanala na telese Cerpadla:
Kryt sedla snimata teploty odoberiete uvolne-
nim obidvoch inbusovych skrutiek M6 x 10.

4, Snimac teploty (Fig. 1) vyberte z vrecka a na-
sadte ho na teleso ¢erpadla do uréenej diery.

OZNAMENIE

@ Pri montazi snimaca dbajte na pevné osadenie!
Na snimaci teploty je na hornom zvédzku namon-
tovany vystupok. Vystupok sa musi umiestnit
k drazke v diere.

5. Nasadte drziak snimaca teploty (Fig. 2; pol. 2),
nasadte a zoskrutkujte obidve inbusové skrutky
(Fig. 2; pol. 3). Utahovaci moment skrutiek:

6 Nm +/- 1.

6. Dodany snimat kabla (Fig. 2; pol. 4) nasadte na
jednej strane na Cast zastrcky snimaca teploty
(Fig. 3; pol. 1) a na dal3ej strane nasufite do roz-
hrania regulaéného modulu. (Fig. 3; pol. 2). Na
to odstrante lavi zaslepovaciu zatku (rozhranie
pripojky snimaca teploty) na regula¢nom
module.

7. Pri samostatnych Cerpadlach znovu namontujte
dvojzlozkovu tepelnt izolaciu na teleso ¢erpad-
la.

116 WILO SE 2021-11



4.1.2 Montaz po instalacii éerpadla a ispeSnom uvedeni do prevadzky
—> Elektrické prace: Elektrické prace musi vykonavat
odborny elektrikar.

1. Odpojte sietové napatie.

2. Zatvorte uzatvaracie armatury alebo vypraz-
dnite systém!

3. Pokial je to potrebné, odpojte systém od tlaku.
Na to uvolnite skrutky upevnenia telesa motora.
Teleso motora lahko uvolnite z centrovania,
kym unikne voda.

4. Nasledne dotiahnite upeviiovacie skrutky
motora rovnomerne na kriz. Utahovaci moment
skrutiek: 8 — 10 Nm.

5. Pri samostatnych cerpadlach odstrante dvoj-
zlozkovu tepelnt izolaciu z telesa Cerpadla.

6. V oblasti nasavacieho kanala na telese Cerpadla:
Kryt sedla snimata teploty odoberiete uvolne-
nim obidvoch inbusovych skrutiek M6 x 10.

7. Snimac teploty (Fig. 1) vyberte z vrecka a na-
sadte ho na teleso ¢erpadla do uréenej diery.

OZNAMENIE

@ Pri montazi snimaca dbajte na pevné osadenie!
Na snimaci teploty je na hornom zvédzku namon-
tovany vystupok. Vystupok sa musi umiestnit
k drazke v diere.

8. Nasadte drZiak snimaca teploty (Fig. 2; pol. 2),
nasadte a zoskrutkujte obidve inbusové skrutky
(Fig. 2; pol. 3). Utahovaci moment skrutiek:

6 Nm +/- 1.

9. Dodany snimac kébla (Fig. 2; pol. 4) nasadte na
jednej strane na Cast zastrcky snimaca teploty
(Fig. 3; pol. 1) a na dal3ej strane nasufite do roz-

Navod na montaz Wilo-Medien-Temperatursensor 117



118

hrania regula¢ného modulu. (Fig. 3; pol. 2). Na
to odstrante lavi zaslepovaciu zatku (rozhranie
pripojky snimaca teploty) na regula¢nom
module.

10. Pri samostatnych ¢erpadlach znovu namontujte
dvojzlozkovu tepelnt izolaciu na teleso ¢erpad-
la.

11.Otvorte uzatvaracie armatury pred ¢erpadlom a
za nim alebo znovu napliite zariadenie.

12. Skontrolujte nepriepustnost.

13. Zapnite sietové napdtie.

WILO SE 2021-11



Kazalo vsebine

1 O teh navodilih

2 Varnost

3 Obseg dobave

4 Vgradnja

4.1 Vgradnja temperaturnega senzorja

Navodilo za montaZo Wilo-Medien-Temperatursensor

120

120

121

121
121

119



120

0O teh navodilih

Varnost

Ta navodila so stalni sestavni del izdelka. Natancno

upostevanje teh navodil je temeljni pogoj za

namensko uporabo in pravilno uporabo proizvoda.

= Pred vsemi dejavnostmi preberite ta navodila in
jih shranite tako, da so vedno pri roki.

—> Pred vsemi dejavnostmi preberite obsezna
navodila za vgradnjo in obratovanje crpalke.

- Upostevajte ta navodila ter podatke in oznake na
Crpalki.

= Glejte kodo QR ali www.wilo.com/stratos-maxo/
om

OPOZORILO

Pri vseh delih na &rpalki/napravi upostevajte
varnostna navodila za delovanje crpalke!

NEVARNOST

Smrtna nevarnost zaradi elektriénega
udara!

Dela na €rpalki/hapravi je dovoljeno izvajati samo
v stanju brez napetosti!

OPOZORILO

Nevarnost telesnih poskodb!
Dela na &rpalki/napravi je dovoljeno izvajati samo
pri mehanskem mirovanju in z ustreznimi orodji.

WILO SE 2021-11



OPOZORILO

Vroca povrsina!

Celotna crpalka se lahko zelo segreje. Obstaja
nevarnost opeklin!

+ Pred vsemi deli pocakajte, da se crpalka
ohladi!

OPOZORILO

Nevarnost opeklin!

Pri visokih temperaturah medija in visokem tlaku
sistema se mora crpalka najprej ohladiti in
vzpostaviti morate breztlacno stanje sistema.

3 Obseg dobave
- Senzor temperature
- 2xvijak M6 x 10
— Drzalo za senzor
— Kabel senzorja 630 mm
— Navodila za montazo
4 Vgradnja
-> Vgradnja/demontaZa: Strokovnjak mora biti
seznanjen s potrebnimi orodji in zahtevanimi
pritrditvenimi materiali.

4.1 Vgradnja temperaturnega senzorja

4.1.1 Vgradnja in$talacije ¢rpalke
1. Crpalko vzemite iz embalaZe.
2. Pri enojnih ¢rpalkah z ohisja ¢rpalke
demontirajte dvodelno toplotno izolacijo.

Navodilo za montaZo Wilo-Medien-Temperatursensor 121



4.1.2

122

. Na obmodju sesalnega kanala na ohisju ¢rpalke:

Odstranite pokrov sedeZa temperaturnega
senzorja, tako da odvijete dva inbus vijaka M6 x
10.

. Odstranite temperaturni senzor (Fig. 1) iz

vrecke in ga vstavite v izvrtino na ohisju crpalke.

OBVESTILO

@ Pri vgradnji senzorja bodite pozorni na pravilno
prileganje! Na zgornji precki temperaturnega

se

nzorja je oblikovan nastavek. Nastavek mora

biti namescen glede na utor v izvrtini.

5. Namestite drZalo temperaturnega senzorja

(Fig. 2; poz. 2), vstavite oba inbus vijaka (Fig. 2;
poz. 3) inju privijte. Pritezni moment vijakov:
6 Nm +/- 1.

. PriloZeni kabel senzorja (Fig. 2; poz. 4) nataknite
na vti¢ni del temperaturnega senzorja na eni
strani (Fig. 3; poz. 1) in ga vtaknite v vmesnik
regulacijskega modula na drugi strani (Fig. 3;
poz. 2).V ta namen na regulacijskem modulu
odstranite levi slepi ¢ep (vmesnik prikljucka
temperaturnega senzorja).

. Pri enojnih ¢rpalkah na ohisju ¢rpalke ponovno
montirajte dvodelno toplotno izolacijo.

Vgradnja po instalaciji érpalke in opravljenem zagonu

9

1.
2.

Elektricna dela: Elektricna dela mora izvesti
elektricar.

LoCite omreZno napetost.

Zaprite zaporne armature ali izpraznite sistem!

3. Ce je potrebno, vzpostavite breztla¢no stanje

sistema. V ta namen odvijte vijake, s katerimi je
pritrjeno ohisje motorja. Rahlo popustite ohisje

WILO SE 2021-11



motorja iz njegovega sredisca, dokler voda ne
izteCe.

4. Potem krizno privijte vijake za pritrditev
motorja. Pritezni moment vijakov: 8 ... 10 Nm.

5. Pri enojnih ¢rpalkah z ohisja crpalke
demontirajte dvodelno toplotno izolacijo.

6. Na obmocju sesalnega kanala na ohisju crpalke:
Odstranite pokrov sedeza temperaturnega
senzorja, tako da odvijete dva inbus vijaka M6 x
10.

7. Odstranite temperaturni senzor (Fig. 1) iz
vrecke in ga vstavite v izvrtino na ohisju crpalke.

OBVESTILO

@ Pri vgradniji senzorja bodite pozorni na pravilno
prileganje! Na zgornji precki temperaturnega
senzorja je oblikovan nastavek. Nastavek mora
biti namescen glede na utor v izvrtini.

8. Namestite drzalo temperaturnega senzorja
(Fig. 2; poz. 2), vstavite oba inbus vijaka (Fig. 2;
poz. 3) in ju privijte. Pritezni moment vijakov:

6 Nm +/- 1.

9. PriloZeni kabel senzorja (Fig. 2; poz. 4) nataknite
na vti¢ni del temperaturnega senzorja na eni
strani (Fig. 3; poz. 1) in ga vtaknite v vmesnik
regulacijskega modula na drugi strani (Fig. 3;
poz. 2). V ta namen na regulacijskem modulu
odstranite levi slepi ¢ep (vmesnik prikljucka
temperaturnega senzorja).

10. Pri enojnih ¢rpalkah na ohisju ¢rpalke ponovno
montirajte dvodelno toplotno izolacijo.

11.Odprite zaporne armature pred in za ¢rpalko ali
ponovno napolnite sistem.

Navodilo za montaZo Wilo-Medien-Temperatursensor 123



124

12.Preverite tesnjenje.
13. Vklopite omrezno napetost.

WILO SE 2021-11



CbabpiXxaHue

1

2

3a Ta3u UHCTPYKUUA

be3onacHocT

KoMnnekT Ha gocTtaBKaTa

MoHTax

4.1 MoHTax Ha TeMnepaTypeH ceH3op

UHCTpyKums 3a MoHTax Wilo-Medien-Temperatursensor

126

126

127

128
128

125



3a Tasu MHCTPYKUMSA

MHCTpyKUMSTa e Hepa3aenHa 4acT oT NpoayKTa.

Cna3BaHeTo Ha Ta3W MHCTPYKUMSITA OCUTYPSiBA

npasunHarta paboTa n 06cny>KBaHeTO Ha NPoAyKTa:

- Mpenm KakBWUTO 1 [a 61No OenHocTy, NnpoyeteTe
Ta3v MHCTPYKLMS U S CbXpaHsBaiTe Ha
[OCTBIMHO MACTO MO BCSKO BPeMe.

~> lpenm BCUMYKU [ENHOCTU NpoyeTeTe
noApobHaTa UHCTPYKLMS 33 MOHTaX U
eKcnnioartauus Ha nomnaTa.

- CvbnopasanTe gaHHUTe 1 0b6o3HaYeHUsTa
BBbPXY NomMnara.

- Bx. QR kopa unu www.wilo.com/stratos-maxo/
om

be3onacHocT

NPEAYNPEXAOEHUE

CnasBanTe ykazaHusTa 3a 6e30nacHoCT B
WHCTPYKLMMTE 33 eKcrnioaTaums Ha nomnaTa 3a
BCUYKM O,eNHOCTM Mo nomnaTa/cuctemaral

OMACHOCT

OnacHocT 3a XKUBOTa Nopaau ToKoB yaap!
[leiHocTV No nomnara/cucTemara Moxe fa ce
M3BBPLUBAT CaMO KOraTo nommnaTa He e nopg,
HanpexeHue!

WILO SE 2021-11



NPEAYNPEXAEHUE

OnacHocT oT HapaHsiBaHe!

[eMHOCTYM No noMnaTta/cmcTemaTta MoXxKe fa ce
M3BBPLUBAT, CAMO KOraTo T4 € B MEXaHUYHO
CbCTOSIHUE HAa NMOKOW U C NOAXOAsALLN
VHCTPYMEHTMW.

NPEAYNPEXOEHUE

lFopelia noBbpXHOCT!
LisnaTa nomna Mo>ke fa ce HaropeLyy MHOro.
VIMa onacHocT oT n3rapsiHe!
+ [Mpeau BCAKakBY [ENHOCTN OCTaBeTe
nomnaTa ga ce oxnagu!

NPEAYNPEXAEHUE

OnacHocT OT u3rapsiHe!

pu B1COKa TemnepaTypa Ha dynaa v ronsmo
HangaraHe B CUCTeMaTa, NbpBO OCTaBETE NMomMnaTta
Aa ce oxnafun n gekoMmnpecupanTe cucTemara.

3 KomnnekT Ha pocTaBKaTa
> TemnepaTypeH ceHsop
-~ 26onta M6 x 10
> [Obp>kay Ha ceH3op
—> Kaben 3a ceHsop 630 mm
= WHCTpyKUmMs 32 MOHTaX

UHCTpyKums 3a MoHTax Wilo-Medien-Temperatursensor 127



4.1

4.1.1

128

MoHTaXx

= Pab0Ti N0 MOHTaX/AeMOoHTax: CneumanucTbT
TpsbBa Oa e kBanudmLUmpaH 3a paboTa ¢
HEO6XOAUMUTE MHCTPYMEHTU M KPEenesKHM
maTepuanu.

MoHTaX Ha TeMnepaTypeH ceH3op

MOHTa)X Ha NnoMNeHaTa UHCTanauus

1.
2.

V13BapeTe nomnata OT ONakoBKaTa.

MpyY eAMHAYHM MOMMK [EMOHTUPANTE
CbCTOSALLATA Ce OT ABE YacTU TOMJoMn30aums
OT KOpryca Ha nomnara.

. BobnactTa Ha cMyKaTenHus KaHan Ha Koprnyca

Ha nomnara: OTcTpaHeTe Kanaka Ha
MeCTOMOJSIOXKEHNETO Ha TemnepaTypHUa
CeH30p, KaTo pa3sBueTe ABaTa 6onta M6 x 10.

. W3BapeTe TemnepatypHua censop (Fig. 1) ot

TopﬁaTa M ronoctaeeTe B OTBOPa, npeasuaeH
3a Ta3u uen B Kopnyca Ha nomMnara.

3ABEJIEXXKA

@ py MOHTa>Ka BHMMaBaiiTe 3a NPaBUNHOTO
nocTaBsiHe Ha ceH3opal! Ha ropHus npar Ha
TemnepaTypHUs ceH3op ce ochopms Hoc. HocbT
Tpsbsa fa 6bae pasnonoxkeH cnpsmo >kneba B
oTBOpa.

5. NocTaBseTe Obp>Xada Ha TemMnepaTtypHusa

censop (Fig. 2; nos. 2), nocTaseTe gBata
nmbycHu 6onTa (Fig. 2; nos. 3) u 3aTerHeTe.
MOMeHT Ha 3aTsraHe Ha 6onToseTe: 6 Nm +/-
1.

WILO SE 2021-11



6. BkntoveTe gocTtaBeHns kaben Ha ceH3opa
(Fig. 2; no3. 4) oT egHaTa CTpaHa KbM 4acTTa Ha
wiencena Ha TemnepatypHus censop (Fig. 3;
nos. 1), a oT gpyrara cTpaHa ro BK/IHOUETE B
nHTepdeiica Ha perynupawms moayn (Fig. 3;
enemeHT 2). 3a Tasu uen, OTCTpaHeTe TanaTa
(nHTepdbeiic 3a cBbp3BaHe Ha CeH30pa 3a
TemnepaTypa) oT perynupaiwims Moayn.

7. Tpy e AUHWYHM NOMMN MOHTMPANTE OTHOBO
cbeToALLATa Ce OT ABe YacTu TOMIoM3onaums
0T Kopryca Ha nomnara.

4.1.2 MoHTaXX crnep MHCTanauus Ha NoMnaTa v ycnewHo nyckaHe B
ekcnnoatauus
> EnekTpoTexHuyecku pabotu: Pabotute no
efnleKTpOUHCTanaumMuTe Tpsbea aa ce 3BbpLUaT
OT eNeKTPOTEXHUK.

1. V3knoyeTe MpeXXOBOTO HanpeXXeHue.

2. 3aTBOpETE 3aTBAPALMTE KpaHOBE UN
nsnpasHete cuctemara!l

3. Ako e HeobxoaMMo, cucTemaTa He Tpsibea fa e
nop, HansraHe. 3a Tasu Len, passuinTe
6onTOBETE HA 3aKpenBaHeTO Ha KOpryca Ha
MoTopa. Pa3xnabeTte neko Kopnyca Ha MoTopa
OT HEroBoTO LieHTpMpaHe, A0KaTO BoAaTa
nsnese.

4. Cnep ToBa 3aTerHeTe 3aKpenBalMTe BUHTOBE
Ha MOTOpa Ha KPpbCT. MOMEHT Ha 3aTaraHe Ha
6ontoBeTe: 8... 10 Nm.

5. Mpv egUHUYHM NOMNN [EMOHTMpPanTe
CbCTOSALLATA Ce OT ABe 4acTu Tonnonsonaums
0T KOpnyca Ha nomnara.

6. B obnactra Ha CMyKaTenHWsa KaHan Ha kopnyca
Ha nomnata: OTcTpaHeTe Kanaka Ha

UHCTpyKums 3a MoHTax Wilo-Medien-Temperatursensor 129



130

MeCTOMOSIOXKEHNETO Ha TemnepaTypHUs
CeH30p, KaTo pa3BueTe ABaTa 6onta M6 x 10.

. M3BapeTe TemnepatypHus censop (Fig. 1) ot

TopbaTa 1 ro nocTaBeTe B 0TBOPA, NPeABUAEH
3a Ta3W Len B Koprnyca Ha nomnara.

3ABEJIEXKKA

Mpy MOHTa>a BHMMaBaiTe 3a NPaBUNHOTO
nocTassiHe Ha ceH3opa! Ha ropHus npar Ha
TeMnepaTypHUs ceH30p ce ochopMs Hoc. HocbT
TpsibBa na 6bae pasnonoxXkeH cnpsmo xxneba B
oTBOpa.

8.

10.

11.

12.
13.

MocTaseTe Abpykada Ha TeMnepaTypHus
censop (Fig. 2; nos. 2), nocTaseTe agaTa
nmbychHm 6onTa (Fig. 2; nos. 3) u 3aTerHeTe.
MOMeHT Ha 3aTsraHe Ha 6onToseTe: 6 Nm +/-
1.

. BkntoyeTe gocTtaBeHus kaben Ha CeH30pa

(Fig. 2; no3. 4) oT egHaTa cTpaHa KbM 4acTTa Ha
wiencena Ha TemnepaTtypHus censop (Fig. 3;
no3. 1), a oT gpyrara cTpaHa ro BK/IHOUETE B
nuTepdeiica Ha perynupawms moayn (Fig. 3;
enemeHT 2). 3a Tasu Len, oTCTpaHeTe TanaTa
(nHTepdheiic 3a cBbp3BaHe Ha CeH30pa 3a
TemnepaTypa) OT perynmpaLyms Mogyn.

Mpy eAUHUYHW MOMMN MOHTMPANTE OTHOBO
cbeToAILLATa Ce OT ABe YacTW TOoMnom3onauyms
0T KOopnyca Ha nomnara.

OTBOpeTe 3aTBapsLLMTE KPAaHOBE Npean v cneq,
nomnarta v HanbfHeTe CUCTEMATa OTHOBO.
MpoBepeTe XepMeTUYHOCTTA.

BkntoyeTe Mpe>KoOBO Hanpe>KeHue.

WILO SE 2021-11



Cuprins

1

2

Despre aceste instructiuni

Siguranta

Continutul livrarii

Instalarea

4.1 Instalarea senzorului de temperatura

Instructiuni de montaj Wilo-Medien-Temperatursensor

132

132

133

134
134

131



Despre aceste instructiuni

Siguranta

Aceste instructiuni constituie parte integrantd a
produsului. Respectarea acestor instructiuni
reprezintd conditia de baza pentru utilizarea conform
destinatiei si manipularea corectd a produsului:

- Aceste instructiuni trebuie citite Tnainte de
efectuarea oricdrei operatiuni si pastrate
permanent la indemana.

- Cititi instructiunile de montaj si exploatare ale
pompeiinaintea tuturor activitatilor.

= Trebuie respectate indicatiile si marcajele de la
pompa.

- Vezi codul QR sau www.wilo.com/stratos-maxo/
om

AVERTISMENT

Respectati instructiunile de siguranta din
manualul de functionare al pompei pentru toate
lucririle la pompé&/instalatie!

PERICOL

Risc de leziuni fatale prin electrocutare!

Lucrdrile la pompd/instalatie trebuie sa se
efectueze numaiin stare deconectata!

WILO SE 2021-11



AVERTISMENT

Pericol de ranire!

Lucrdrile la pompd/instalatie trebuie sa se
efectueze numai in stare de oprire mecanicd si cu
sculele adecvate.

AVERTISMENT

Suprafata fierbinte!
intreaga pompa poate fi foarte fierbinte. Exist3
pericol de arsuri!
- Tnainte de efectuarea oricarei operatiuni,
lasati pompa sa se raceasca!

AVERTISMENT

Pericol de oparire!

in cazul unor temperaturi si presiuni de sistem
nalte ale fluidului pompat, pompa trebuie lasata
mai Tntai sd se rdceascad si apoi trebuie eliminata
presiunea din instalatie.

Continutul livrarii

Instructiuni de montaj Wilo-Medien-Temperatursensor

- Senzor de temperaturd

> 2x suruburi M6 x 10

> Suport senzor

—> Cablul senzorului 630 mm
= Instructiuni de montaj

133



A

4.1

4.1.1

134

Instalarea

- Lucréri de montare/demontare: Personalul de
specialitate trebuie instruit cu privire la folosirea
sculelor necesare si a materialelor de fixare
necesare.

Instalarea senzorului de temperatura

Instalarea inaintea montdrii pompei

1. Scoateti pompa din ambalaj.

2. Tn cazul pompelor cu un rotor, demontati
izolatia termicd din doud parti de |a carcasa
pompei.

3. Tn zona canalului de aspiratie de pe carcasa
pompei: Scoateti capacul suportului senzorului
de temperatura sldbind cele doud suruburi
imbus M6 x 10.

4. Scoateti senzorul de temperatura (Fig. 1) din
sac si introduceti-1n gaura prevazuta de pe
carcasa pompei.

NOTA

La instalarea senzorului, fiti atent la pozitia
corectd! Se formeaza o protuberantd pe legdtura
superioard a senzorului de temperatura.
Protuberanta trebuie pozitionatd n nisa din
gaurd.

5. Atasati suportul senzorului de temperatura
(Fig. 2; poz. 2), introduceti cele doud suruburi
imbus (Fig. 2; poz. 3) si insurubati strans. Cuplul
de strangere al suruburilor: 6 Nm +/- 1.

6. Atasati cablul senzorului furnizat (Fig. 2; poz. 4)
pe o parte a stecherului senzorului de

WILO SE 2021-11



temperaturd (Fig. 3; poz. 1) si conectati-I la
interfata modulului de reglare de pe cealaltd
parte (Fig. 3; poz. 2). Pentru aceasta, scoateti
dopul orb sting (interfata de conectare a
senzorului de temperatura) de pe modulul de
reglare.

7. Tn cazul pompelor cu un rotor, montatila loc
izolatia termica din doua pdrti pe carcasa
pompei.

4.1.2 Instalarea dupa montarea pompei si punerea in functiune reusitd
= Lucrari electrice: Un electrician calificat trebuie sa
execute lucrarile electrice.

1. Deconectati alimentarea electrica.

2. Inchideti vanele de izolare sau goliti sistemul!

3. Dacd este necesar, depresurizati instalatia.
Pentru aceasta, slabiti suruburile care fixeazd
carcasa motorului. Sldbiti usor carcasa
motorului din centrare pana cand ies apa.

4. Lafinal, strangetin cruce suruburile de fixare a
motorului. Cuplul de strangere al suruburilor:
8..10 Nm.

5. Tn cazul pompelor cu un rotor, demontati
izolatia termicd din doud parti de la carcasa
pompei.

6. Tn zona canalului de aspiratie de pe carcasa
pompei: Scoateti capacul suportului senzorului
de temperatura slabind cele doud suruburi
imbus M6 x 10.

7. Scoateti senzorul de temperatura (Fig. 1) din
sac si introduceti-1in gaura prevdzuta de pe
carcasa pompei.

Instructiuni de montaj Wilo-Medien-Temperatursensor 135



NOTA
@ La instalarea senzorului, fiti atent la pozitia

corectd! Se formeaza o protuberantd pe legdtura
superioard a senzorului de temperatura.
Protuberanta trebuie pozitionatd in nisa din
gaurd.

8. Atasati suportul senzorului de temperaturd
(Fig. 2; poz. 2), introduceti cele doud suruburi
imbus (Fig. 2; poz. 3) si insurubati strdns. Cuplul
de strangere al suruburilor: 6 Nm +/- 1.

9. Atasati cablul senzorului furnizat (Fig. 2; poz. 4)
pe o parte a stecherului senzorului de
temperaturd (Fig. 3; poz. 1) si conectati-I la
interfata modulului de reglare de pe cealalta
parte (Fig. 3; poz. 2). Pentru aceasta, scoateti
dopul orb stang (interfata de conectare a
senzorului de temperaturi) de pe modulul de
reglare.

10.Tn cazul pompelor cu un rotor, montati la loc
izolatia termica din doud padrti pe carcasa
pompei.

11.Deschideti vanele de izolare din amontele si
avalul pompei sau umpleti din nou instalatia.

12. Verificati etanseitatea.

13. Conectati alimentarea electrica.

136 WILO SE 2021-11



Sadrzaj

1

2

O uputama

Sigurnost

Opseg isporuke

Instalacija

4.1 MontaZa senzora temperature

Upute za montazu Wilo-Medien-Temperatursensor

138

138

139

139
139

137



O uputama

Ove upute sastavni su dio proizvoda. PridrZavanje

ovih uputa preduvjet je za namjensku uporabu i

ispravno rukovanje proizvodom:

—> Prije svih radova procitajte ove upute i Cuvajte ih
tako da uvijek budu dostupne.

—> Prije bilo koje aktivnosti procitajte opSirne Upute
za ugradnju i uporabu pumpe.

- PridrZavajte se podataka i oznaka na pumpi.

= vidjeti QR-kod ili posjetite www.wilo.com/
stratos-maxo/om

Sigurnost

UPOZORENJE

Tijekom svih radova na pumpi/postrojenju
pridrzavajte se sigurnosnih napomena uputa za
uporabu pumpe!

OPASNOST

Opasnost po zivot uslijed strujnog udara!
Radovi na pumpi/postrojenju smiju se provoditi
samo kada su bez napona!

UPOZORENJE

Opasnost od ozljeda!

Radovi na pumpi/postrojenju smiju se provoditi
samo pri mehanickom mirovanjui s
odgovarajucim alatima.

WILO SE 2021-11



UPOZORENJE
Vruéa povrsina!
Cijela pumpa mozZe postati vrlo vruca. Postoji
opasnost od opeklina!
+ Prije svih radova pustite da se pumpa ohladi!

UPOZORENJE

Opasnost od opeklina!

U slucaju visokih temperatura medija i tlakova
sustava pustite da se pumpa prethodno ohladi i
ispustite tlak iz sustava.

3 Opseg isporuke

Senzor temperature
2x vijka M6 x 10
Senzor drzaca

Kabel senzora 630 mm
Upute za montazu

N2

9
9
9
9

4 Instalacija

-> Radovi montaZe/demontaze: Stru¢na osoba mora
biti obucena za rukovanje nuznim alatima i
potrebnim pri¢vrsnim materijalima.

4.1 MontaZa senzora temperature

4.1.1 MontazZa instalacije pumpe
1. Izvadite pumpu iz ambalaZe.
2. Pri pojedina¢nim pumpama demontirajte
dvodijelnu toplinsku izolaciju kucista pumpe.

Upute za montazu Wilo-Medien-Temperatursensor 139



3. U podrugju usisnog kanala na kucistu pumpe:
Izvadite poklopac sjediSta senzora temperatura
otpustanjem dvaju imbus vijaka M6 x 10.

4. Izvadite senzor temperature (Fig. 1) iz vrecice i
umetnite ga na kudiStu pumpe u za to
predvideni provrt.

UPUTA

@ Pri montaZi senzora pripazite na pravilan dosjed!
Na senzoru temperature je na gornjem spoju
oblikovano ojacanje. Ojacanje mora biti
postavljeno u provrt prema utoru.

5. Stavite senzor temperature drZaca (Fig. 2;
pol. 2), umetnite dva imbus vijka (Fig. 2; pol. 3) i
Cvrsto ih zategnite. Zatezni momenti vijaka:
6 Nm +/- 1.

6. Nataknite isporuceni kabel senzora (Fig. 2;
pol. 4) s jedne strane na utikag senzora
temperature (Fig. 3; pol. 1), a s druge strane u
suelje regulacijskog modula (Fig. 3; pol. 2). Za
to uklonite lijevi slijepi ¢ep (suelje prikljucka
senzora temperature) na regulacijskom modulu.

7. Pri pojedinacnim pumpama ponovno montirajte
dvodijelnu toplinsku izolaciju kuéista pumpe.

4.1.2 MontaZa nakon ugradnje pumpe i uspje$nog pustanja u pogon
—> Elektri¢ni radovi: Elektri¢ne radove mora obavljati
elektricar.

1. Odvojite mreZni napon.
2. Zatvorite zaporne armature ili ispraznite sustav!

3. Ako je potrebno, dovedite sustav u bestla¢no
stanje. Za to otpustite vijke ucvrscenja kucista
motora. Lagano otpustite kuciSte motora iz

140 WILO SE 2021-11



njegovog centriranja dok ne pocne istjecati
voda.

4. Zatim kriZzno zategnite vijke za ucvrséivanje
motora. Zatezni momenti vijaka: 8 ... 10 Nm.

5. Pri pojedinacnim pumpama demontirajte
dvodijelnu toplinsku izolaciju kuéista pumpe.

6. U podrucju usisnog kanala na kucistu pumpe:
Izvadite poklopac sjediSta senzora temperatura
otpustanjem dvaju imbus vijaka M6 x 10.

7. lzvadite senzor temperature (Fig. 1) iz vrecicei
umetnite ga na kudistu pumpe u za to
predvideni provrt.

UPUTA

@ Pri montazi senzora pripazite na pravilan dosjed!
Na senzoru temperature je na gornjem spoju
oblikovano ojacanje. Ojacanje mora biti
postavljeno u provrt prema utoru.

8. Stavite senzor temperature drzaca (Fig. 2;
pol. 2), umetnite dva imbus vijka (Fig. 2; pol. 3) i
Cvrsto ih zategnite. Zatezni momenti vijaka:
6 Nm +/- 1.
9. Nataknite isporuleni kabel senzora (Fig. 2;
pol. 4) s jedne strane na utikal senzora
temperature (Fig. 3; pol. 1), a s druge strane u
sulelje regulacijskog modula (Fig. 3; pol. 2). Za
to uklonite lijevi slijepi ¢ep (sucelje prikljucka
senzora temperature) na regulacijskom modulu.
10. Pri pojedina¢nim pumpama ponovno montirajte
dvodijelnu toplinsku izolaciju kuciSta pumpe.
11.0Otvorite zaporne armature ispred i iza pumpe ili
ponovno napunite postrojenje.
12.Provjerite nepropusnost.

Upute za montazu Wilo-Medien-Temperatursensor 141



142

13. Ukljucite mreZni napon.

WILO SE 2021-11



Sadrzaj

1

2

O ovom uputstvu

Sigurnost

Opseg isporuke

Instalacija

4.1 Instalacija temperaturnog senzora

Uputstvo za montazu Wilo-Medien-Temperatursensor

144

144

145

145
146

143



O ovom uputstvu

Ovo uputstvo je uvek sastavni deo proizvoda.

Postovanje ovog uputstva je preduslov za namensku

upotrebu i pravilno rukovanje proizvodom:

= Pre svih radova procitati ovo uputstvo i uvek ga
Cuvati na dostupnom mestu.

- Pre svih radova procitati detaljno Uputstvo za
ugradnju i upotrebu pumpe.

- Potrebno je da se uvaZe podaci i oznake na
pumpi.

= pogledati QR-kod ili www.wilo.com/stratos-
maxo/om

Sigurnost

UPOZORENJE

Kod svih radova na pumpi/postrojenju obratiti
paznju na bezbednosna uputstva u uputstvu za
pogon pumpe!

OPASNOST

Opasnost od smrtonosnih povreda usled
strujnog udara!

Radovi na pumpi/postrojenju smeju da se vrie
samo u stanju bez naponal!

WILO SE 2021-11



UPOZORENJE

Opasnost od povrede!

Radovi na pumpi/postrojenju smeju da se vrie
samo u mehanic¢kom stanju mirovanja i
odgovarajucim alatima.

UPOZORENJE
Vruéa povrsina!
Celokupna pumpa moZze postati veoma vruca.
Postoji opasnost od opekotina!
+ Pre svih radova pumpu ostaviti da se ohladi!

UPOZORENJE

Opasnost od oparivanja!

Pri visokim temperaturama fluida i sistemskim
pritiscima pumpe prethodno sacekati da se
sistem ohladi i rasteretiti pritisak sistema.

3 Opseg isporuke

4 Instalacija

N2

Temperaturni senzor
> 2x zavrtanj M6 x 10
—> DrzaC senzora

> Kabl senzora 630 mm
- Uputstvo za montazu

-> Radovi na instalaciji/demontaZi: Stru¢no lice mora
da bude obuceno za rukovanje svim neophodnim

Uputstvo za montazu Wilo-Medien-Temperatursensor 145



alatima i potrebnim materijalima za
pricvricivanje.

4.1 Instalacija temperaturnog senzora

4.1.1 Instalacija pre ugradnje pumpe

1. Pumpu izvaditi iz pakovanja.

2. Kod pojedinacnih pumpi, demontirati dvodelnu
toplotnu izolaciju sa kucista pumpe.

3. U podrudju usisnog kanala na kucistu pumpe:
Poklopac sediSta temperaturnog senzora
ukloniti otpustanjem oba imbus zavrtnja
M6 x 10.

4. Izvaditi temperaturni senzor (Fig. 1) iz kese i
postaviti ga u predvideni otvor na kuéistu
pumpe.

NAPOMENA

@ Prilikom instalacije senzora mora da se vodi
racuna o pravilnom naleganju! Na temperaturnom
senzoru je na gornjem spoju formiran ispupceni
deo. Ispupcenje mora biti pozicionirano u otvoru
prema Zljebu.

5. Postaviti drzal temperaturnog senzora (Fig. 2,
poz. 2), umetnuti oba imbus zavrtnja (Fig. 2,
poz. 3) i &vrsto zategnuti. Obrtni moment
pritezanja za zavrtnje: 6 Nm +/- 1.

6. Isporuceni kabl senzora (Fig. 2; poz. 4) sa jedne
strani prikljuciti na utikacki deo temperaturnog
senzora (Fig. 3; poz. 1) a na drugoj strani
prikljuciti na interfejs regulacionog modula.
(Fig. 3; poz. 2). U tu svrhu ukloniti Eep sa leve
strane (interfejs prikljucka za temperaturni
senzor) na regulacionom modulu.

146 WILO SE 2021-11



7

. Kod pojedina¢nih pumpi, ponovo montirati
dvodelnu toplotnu izolaciju kucista pumpe.

4.1.2 Instalacija nakon ugradnje pumpe i uspe$nog pustanja u rad

9

1.

Elektri¢ni radovi: Elektricne radove mora da izvodi
kvalifikovani elektricar.
Odvojiti mrezni napon.

2. Zatvoriti zaporne ventile ili isprazniti sistem!

3. Ako je potrebno, rasteretiti sistem pritiska. Za

to je potrebno otpustiti zavrtnje uvrséenja na
kuciStu motora. KuéiSte motora lagano otpustiti
iz centriranja dok ne istekne voda.

. Zatim unakrsno zategnuti zavrtnje za
pri¢vrséivanje motora. Obrtni moment
pritezanja za zavrtnje: 8 ... 10 Nm.

. Kod pojedinacnih pumpi, demontirati dvodelnu
toplotnu izolaciju sa kuéista pumpe.

. U podrucju usisnog kanala na kucistu pumpe:
Poklopac sediSta temperaturnog senzora
ukloniti otpustanjem oba imbus zavrtnja
M6 x 10.

. Izvaditi temperaturni senzor (Fig. 1) iz kese i
postaviti ga u predvideni otvor na kucistu
pumpe.

N

APOMENA

@ Prilikom instalacije senzora mora da se vodi

ra

cuna o pravilnom naleganju! Na temperaturnom

senzoru je na gornjem spoju formiran ispupceni
deo. Ispupcenje mora biti pozicionirano u otvoru
prema Zljebu.

8. Postaviti drza¢ temperaturnog senzora (Fig. 2,

Uputstvo za montazu Wilo-Medien-Temperatu

poz. 2), umetnuti oba imbus zavrtnja (Fig. 2,

rsensor 147



148

poz. 3) i &vrsto zategnuti. Obrtni moment
pritezanja za zavrtnje: 6 Nm +/- 1.

9. Isporuceni kabl senzora (Fig. 2; poz. 4) sa jedne
strani prikljuciti na utikacki deo temperaturnog
senzora (Fig. 3; poz. 1) a na drugoj strani
prikljuciti na interfejs regulacionog modula.
(Fig. 3; poz. 2). U tu svrhu ukloniti Eep sa leve
strane (interfejs prikljucka za temperaturni
senzor) na regulacionom modulu.

10.Kod pojedinacnih pumpi, ponovo montirati
dvodelnu toplotnu izolaciju ku¢ista pumpe.

11. Otvoriti zaporne ventile ispred i iza pumpe ili
ponovo napuniti postrojenje.

12.Ispitati nepropusnost.

13. Ukljuciti mrezni napon.

WILO SE 2021-11



Sisukord

1 Selle juhendi kohta

2 Ohutus

3 Tarnekomplekt

4 Paigaldamine

4.1 Temperatuurianduri paigaldamine

Paigaldusjuhend Wilo-Medien-Temperatursensor

150

150

151

151
151

149



et |
1 Selle juhendi kohta

See juhend kuulub lahutamatult toote juurde.

Kasutusjuhendi jargimine on toote otstarbekohase

kasutamise ja dige kdsitsemise eeldus.

- Lugege juhend enne toimingute tegemist l4bi ja
hoidke alati ligipddsetavas kohas.

- Lugege enne toimingute tegemist pumba
liksikasjalikku paigaldus- ja kasutusjuhendit.

—> Jéargige pumbal olevaid andmeid ja mérgistusi.

- Vt QR-koodi v&i www.wilo.com/stratos-maxo/om

2 Ohutus

HOIATUS

Igasuguste pumba/seadme juures tehtavate
todde korral tuleb jargida pumba kasutusjuhendi
ohutusjuhised.

OHT

Elektriloogi tottu eluohtlik!

Pumba/seadme juures tohib teha tdid vaid siis,
kui see pole pinge all.

HOIATUS

Vigastusoht!

Pumba/seadme juures tohib teha toid vaid siis,
kui see mehaaniliselt seisab ja kasutatakse
sobivaid tooriistu.

150 WILO SE 2021-11



HOIATUS

Kuumad pealispinnad!

Kogu pump v&ib vdga kuumaks minna. On
pdletusoht!

+ Laske pumbal enne kdiki tdid maha jahtuda.

HOIATUS

Auruga poletamise oht!

Kui vedeliku temperatuur ja siisteemi réhk on
korge, tuleb lasta pumbal jahtuda ja muuta
stisteem réhuvabaks.

3 Tarnekomplekt

Temperatuuriandur

2 kruvi M6 x 10
Anduri hoidik

Anduri kaabel 630 mm
Paigaldusjuhend

N2

9
9
9
9

4 Paigaldamine

- Paigaldamine/eemaldamine: Spetsialistid peavad
olema saanud vajalike todriistade ja ndutud
kinnitusmaterjalide kohta vdljadppe.

4.1 Temperatuurianduri paigaldamine

4.1.1 Paigaldamine enne pumba paigaldamist
1. Votke pump pakendist vélja.
2. Eemaldage liksikpumpade korral
pumbakorpusest kaheosaline soojusisolatsioon.

Paigaldusjuhend Wilo-Medien-Temperatursensor 151



3. Pumbakorpuse imikanali piirkonnas: vabastage
mdlemad sisekuuskantkruvid M6 x 10 ja votke
temperatuurianduri paigalduskoha kate maha.

4. Votke temperatuuriandur (Fig. 1) kotist vlja ja
pange pumbakorpuse puurauku.

TEATIS

@ Anduri paigaldamisel jargige diget asetust.
Temperatuurianduri tilaosas on naga. Naga tuleb
panna puuraugus olevasse soonde.

5. Pange peale temperatuurianduri hoidik (Fig. 2,
pos 2), sisestage mdlemad sisekuuskantkruvid
(Fig. 2; pos 3) ja kruvige kinni. Kruvide
pingutusmoment: 6 Nm +/- 1.

6. Uhendage kaasasoleva anduri kaabli (Fig. 2;
pos 4) iiks ots temperatuurianduri
pistikumooduliga (Fig. 3; pos 1) ja teine ots
reguleerimismooduli liidesega. (Fig. 3; pos 2).
Eemaldage selleks reguleerimismooduli
vasakpoolne pimekork (temperatuurianduri
liides).

7. Uksikpumpade korral pange tagasi
pumbakorpuse kaheosaline soojusisolatsioon.

4.1.2 Paigaldamine parast pumba paigaldust ja kasutuselevottu
—> Elektritdod: Elektritdid peab tegema elektrik.

1. Eraldage toitepinge.

2. Sulgege sulgeventiil voi tiihjendage siisteem.

3. Vajaduse korral eemaldage siisteemist rohk.
Vabastage selleks mootori korpuse kinnituse
kruvid. Vabastage mootori korpus kergelt
tsentreeringust, kuni vett tuleb vilja.

152 WILO SE 2021-11



4. Keerake seejdrel mootori kinnituspoldid
ristakuti kinni. Kruvide pingutusmoment:
8..10 Nm.

5. Eemaldage tiksikpumpade korral
pumbakorpusest kaheosaline soojusisolatsioon.

6. Pumbakorpuse imikanali piirkonnas: vabastage
mdlemad sisekuuskantkruvid M6 x 10 ja votke
temperatuurianduri paigalduskoha kate maha.

7. Votke temperatuuriandur (Fig. 1) kotist vilja ja
pange pumbakorpuse puurauku.

TEATIS

@ Anduri paigaldamisel jdrgige diget asetust.
Temperatuurianduri Gilaosas on naga. Naga tuleb
panna puuraugus olevasse soonde.

8. Pange peale temperatuurianduri hoidik (Fig. 2,
pos 2), sisestage mdlemad sisekuuskantkruvid
(Fig. 2; pos 3) ja kruvige kinni. Kruvide
pingutusmoment: 6 Nm +/- 1.

9. Uhendage kaasasoleva anduri kaabli (Fig. 2;
pos 4) iiks ots temperatuurianduri
pistikumooduliga (Fig. 3; pos 1) ja teine ots
reguleerimismooduli liidesega. (Fig. 3; pos 2).
Eemaldage selleks reguleerimismooduli
vasakpoolne pimekork (temperatuurianduri
liides).

10. Uksikpumpade korral pange tagasi
pumbakorpuse kaheosaline soojusisolatsioon.

11.Avage pumba ees ja taga olevad sulgeventiilid
voi tditke seade uuesti.

12.Kontrollige lekete puudumist.

13.Liilitage toitepinge sisse.

Paigaldusjuhend Wilo-Medien-Temperatursensor 153



OrnaBneHue

1 O paHHOW UHCTPYKLUUK

155

2 TexHuka 6e3onacHocTH

155

3 KomnnekT nocTaBku

156

4 YctaHoBKa

157

4.1 MoHTax AaTymnka TeMnepaTypbl

157

154

WILO SE 2021-11



1 O naHHOM MHCTPYKLMUK

[aHHas MHCTPYKLWS ABNSieTCS HeOTbeMnemMon Co-
cTaBHOM YacTbto n3genus. CobnogeHve gaHHom
WNHCTPYKUMK 9BNseTcs 0653aTenbHbIM YCNOBUEM UC-
NoJsiIb30BaHNS U3[,eNNs MO Ha3HAYEHUIO N KOPPEKT-
HOro obpaLleHns ¢ HUM:

— Mepeq BbiNosfHeHVeM NOBbIX onepaunii Heobxo-
OMMO MPOYNUTATb 3TY MHCTPYKLMIO; OHA J0JIXKHA
6bITb BCErga AOCTYMNHA.

- MMepep Ha4yanom nobbix paboT BHUMATENbHO
NpoYMTaTh MHCTPYKLMIO MO MOHTAXy 1 3KCMya-
Taumm Hacoca.

= YUnTbIBaTb XapaKTEPUCTUKM M 0603HAYUEHUS,
MMetoLLMecs Ha Hacoce.

- CM. QR-kog unm www.wilo.com/stratos-maxo/
om

2 TexHuka 6e3onacHoCcTH

OCTOPO>XHO

Mpw BbINONHEHUM N06bIX paboT Ha Hacoce/ycTa-
HOBKe cob6M0AaTh MHCTPYKLMK MO TEXHUKe 6e3-
OMacHOCTU, NPMUBEOEHHbIE B UHCTPYKLMM MO 3KC-
nnyartauumm Hacoca!

OMACHO
OnacHOCTb ANsl XKM3HU OT yaapa anek-
TPUYECKUM TOKOM!

PaboTbl Ha HacoCe/yCTaHOBKe pa3peLuaeTcs Bbi-
MOJHATb TOJIbKO B 06€CTOYEHHOM COCTOSIHMM!

WMHCcTpykuma no moHTaxy Wilo-Medien-Temperatursensor 155



OCTOPO>XHO

OnacHocTb TpaBMUpoBaHUA!

Pa6oTbl Ha Hacoce/ycTaHoBKe pa3peLuaeTcs Bbi-
MONTHATb TOJIbKO B MEXaHNYECKOM COCTOAHUN
NoKOoS 1 C NOMOLLbIO MOAXOAALLMX MHCTPYMEH-
TOB.

OCTOPO>XHO

Fopsiuas noBepxXHOCTb!
Becb Hacoc MOXKeT OY€eHb CUTbHO HarpesaTbCs.
CyLecTByeT OMacHOCTb 0>XKOros!

+ Mepen ntobbiMu paboTamu gaTh Hacocy
OCTbITb!

OCTOPO>XHO

OnacHocTb 06BapMBaHMUA XXUAKOCTbIO UNKU
napom!

pu BbICOKMX TEMNepaTypax nepekayvrBaemon
XKMOKOCTU M1 BbICOKOM CUCTEMHOM OaBlieHnn
npenBapuUTesibHO AaTb HACOCY OCTbITb N c6po—
CUTb [laBNEeHWe B YCTaHOBKE.

3 KomMnnekT noctaBkKu
- [aTtuuk TemnepaTypsbl
- 2BUHTa M6 x 10
-~ [ep>kaTefb AaTyumka
- Kabenb gatunka 630 Mm
= VIHCTPYKUMS MO MOHTaXy

156 WILO SE 2021-11



4 YcTaHoBKa
= Pa60Tbl N0 MOHTaXy/BeMoHTaxy: Cneumanuct
[omkeH 6b1Tb 06yyeH obpalleHuto ¢ Heobxoam-
MbIMU UHCTPYMEHTaMU v TpebytoLwmMmncs Kpe-
ne>XXHbIMW MaTepuanamu.

4.1 MoHTa) gaTumMKa Temnepartypbl

411 MoHTaX nepep, ycTaHOBKOW Hacoca

1. BbIHYyTb HacoC U3 yNakoBKW.

2. 1ns ogMHapHbIX HACOCOB OEMOHTUPYWTE CO-
CTOSILLYIO U3 ABYX YacTen Tennon3onaLmio ns
Koprnyca Hacoca.

3. B 30He BcacbiBaloLLLero KaHana Ha Kopryce Ha-
coca: yaanuTb KpbILLKY rHe3aa gaTynka TeM-
nepaTypbl, OTBUHTMB 06a BUHTA C BHYTPEHHUM
LwecTurpaHHukom Mé x 10.

4, BbiHyTb gaTumk Temnepatypbl (Fig. 1) 3 mewka
M yCTaHOBWTb Ha KOPMycC Hacoca B NpefHa3Ha-
YeHHOoe 45 3TOro oTBepcTue.

YBEAOMIJIEHUE

@ Mpn MOHTaXKe faTymka cneauTb 3a NPaBUbHON
nocagkon! Ha gatunke TemnepaTtypbl Ha BepX-
Hem OypTuKe nMeeTCs BbICTYM. ITOT BbICTYN
HeobXx0OQMMO BCTaBUTb B a3 OTBEPCTUA.

5. HapeTb gep>katenb gaTymka Temnepartypbl
(Fig. 2, nos. 2), BCcTaBUTb 06a BUHTa C BHYTPEH-
HUM wecTurpanHnkom (Fig. 2, nos. 3) n 3a-
TAHYTb UX. KPYTALLUMIA MOMEHT 3aTSXKKM BUH-
ToB: 6 Nm +/— 1.

6. ViImetoLmiics B KOMMNIEKTe NoCcTaBKy Kabenb
natymka (Fig. 2,n03. 4) HageTb Ha LITeKepHbIN

UHcTpykums no moHTaxxy Wilo-Medien-Temperatursensor 157



4.1.2

158

pasbem gaTumka Temnepatypsl (Fig. 3, nos. 1) n
BCTaBWUTb OPYrov CTOPOHOM B MHTEpdeinc Mo-
pynsa perynuposanus (Fig. 3, nos. 2). ina atoro
yOanuTb NeByto ryxyto npobky (MHTep-
(heicHOro pasbema gaTymka Temneparypbi) Ha
MOayse perynimpoBaHus.

. Y oQMHapHbIX HACOCOB CHOBA YCTAaHOBUTE Ha

KOpnyc HacocCa COCTOALLYH U3 OABYX yacTen
Tennonsonauuto.

MoHTaXX nocne ycTaHOBKM Hacoca u yCneLwiHoro BBofia B aKcnnya-

Tauuio

—> PaboTsl ¢ 3nekTpoobopygoBaHuem: paboTsl ¢

3J'IeKTP0060py,ElOBaHMeM O0J1>KEeH BbINONMHATb

TOJIbKO 3MEKTPUK.

1.
2.

OTcoeaunHUTbL ceTeBoe Hanps>xeHue.

3aKpbITb 3aMOPHYHO0 apMaTypy UK ONOPOXK-
HUTb cnuctemy!

. Ecnn TpebyeTcs, cbpocnTb B ycTaHOBKe faBne-

HWe. 1N 3TOro OTBUHTUTb BUHTbI KPEMneHus
Kopnyca afnekTpoaBuraTens. Kopnyc anektpo-
[BUraTens cnerka CABUHYTb C LLEHTPUPYIOLLEro
3/1IEMEHTA, MOKa He BbINbeTCs BOAA.

. B 3aBepLueHVe 3aTAHYTb KpenesXXHble BUHTbI

3neKTpoaBuraTens KpecT-HakpecT. KpyTawmn
MOMEHT 3aTS>KKM BUHTOB: 8 — 10 Nm.

. [Ons oAnHapHbIX HACOCOB AeMOHTUPYITE CO-

CTOSALLYIO U3 ABYX YacTel TENNOU30MALMIO U3
Kopryca Hacoca.

. B 30He BcacbiBaloLLero KaHana Ha Kopnyce Ha-

coca: yAanuTb KpbILLKY rHe3aa faTynka TemM-
nepaTypbl, OTBUHTMB 063 BUHTA C BHYTPEHHNM
LecTurpaHHmkom M6 x 10.

WILO SE 2021-11



7. BblHYTb OaT4MK TeMnepaTtypbl (Fig. 1) U3 MeLuka
N YCTaHOBMTb Ha KOPMyC Hacoca B NpefHasHa-
YeHHOe ON19 3TOro OTBepcTHe.

YBEAOMIJIEHUE

@ Mpun MOHTaXKe gaTymka cneauTb 3a NPaBUbHON
nocapgkon! Ha gatuvke TemnepaTtypbl Ha BepX-
HeM OypTuKe nMeeTCcs BbICTyM. DTOT BbICTYN
HeobXxo0OQMMO BCTaBUTb B a3 OTBEPCTUA.

8. HapeTb gep>kaTenb gaTymka TemnepaTypbl
(Fig. 2, no3. 2), BcTaBUTbL 062 BUHTA C BHYTpeH-
HUM WwecTurpanHnkom (Fig. 2, nos. 3) n 3a-
TAHYTb UX. KpYTALLMIA MOMEHT 3aTAXKKN BUH-
ToB: 6 Nm +/— 1.

9. MIMeoLnNca B KOMMNNEKTE NOCTaBKK Kabenb
natymka (Fig. 2,n03. 4) HageTb Ha LUTEeKepPHbIN
pasbem aaTumka Temnepatypsi (Fig. 3, no3. 1) n
BCTaBUTb APYroi CTOPOHOW B MHTepenc Mo-
pyns perynuposanus (Fig. 3, nos. 2). Ans 3toro
yOanuTb NeByo rnyxyto npobky (MHTep-
(hencHOro pasbema [aTymka Temneparypbi) Ha
MoAyne perynuposanus.

10.Y ognHapHbIX HACOCOB CHOBA YCTAHOBUTE Ha
KOPMYC Hacoca COCTOALLYIO U3 OBYX YacTem
Tennonsonaumio.

11. OTKpbITb 3aNOPHYIO apMaTypy neped Hacocom
1 NOCIe Hero UM CHoBa 3aMNOMTHUTb YCTaHOBKY.

12.MpoBepnTb repMeTUYHOCTb.

13.BKNtO4YNTb CETEBOE HaMpsXKeHMe.

UHcTpykums no moHTaxxy Wilo-Medien-Temperatursensor 159



3MmicT

1 po uto iHCTpyKUilo

2 3axopu 6e3neku

4 YctaHoBneHHs

161

161

3 KomnnekT noctavyaHHs 162
163

4.1 MoHTax AaTymnka TemnepaTtypu 163

160

WILO SE 2021-11



1 Mpo uto iHCTpyKLUilo

Lia iHCTpyKUia € HeBig'EMHOIO CKNagoBoto BUPOOY.
[oTpuMaHHa Ui€l iIHCTPYKLUiT € nepeaymMoBoto ons
BMKOPUCTAHHS 33 NPU3HAYEHHAM Ta NPaBUbHOTO
NMOBOMAKEHHS 3 BUPOBOM:

—> lMepeqn BUKOHaHHAM Byob-sKUX Ailt npoynTante
Lito IHCTPYKLito Ta 3aB>xan 36epiranTeii B
[OCTYNHOMY Micui.

= lepeqn BUKOHaHHAM 6yfob-sKuUX Ail peTenbHo
npoYnTanTe IHCTPYKLiIO 3 MOHTaXy Ta
ekcnnyaTauii Hacoca.

—> BpaxoByiTe iHhopMaLito Ta MO3HAYKM, HaHeCeHi
Ha Hacoci.

- Ins. QR-Kkop abo www.wilo.com/stratos-maxo/
om

2 3axonu 6e3neku

MOMEPEA>KEHHA

BukoHytoumn 6yab-aki po60Tu Ha Hacoci/
YCTaHOBL, AOTPUMYMATECSH MPaBUN TEXHIKN
6e3nekun, HaBeJeHWX B IHCTPYKLUIiT 3 ekcnnyaTauii
Hacoca!

HEBE3IMEKA

Pu3uK cmepTenbHOro TpaBMyBaHHS Yepe3
ypa>KeHHs cTpymom!

PoboTn Ha Hacoci/yr.TaHosui [03BONSETLCA
BWKOHYBATU TifIbKM B iXHbOMY 3HECTPYMJIEHOMY
cTaHi!

KepisHnuteo 3 MoHTaxy Wilo-Medien-Temperatursensor 161



MOMEPEAXKEHHA

He6e3neka TpaBMyBaHHS!

PoboTn Ha Hacoci/y(:TaHOBui [03BONSETHCA
BMKOHYBATW TifIbKM NiCN8 MEXaHI4HOT 3yNUHKK Ta
33 ,0MOMOrOH0 BiAMOBIAHOrO IHCTPYMEHTA.

MOMEPEA>KEHHA

Fapsayi noBepxHi!

Becb Hacoc Moxke cTaTu Ay>Ke rapsumm. [cHye
Hebe3neka OTpMMaHHS onikis!

+ lepen BUKOHaHHAM byOb-gKux pobiT gante
Hacocy 0X0JIoHyTu!

MOMNEPEA>KEHHA

He6e3neka oniky!

Y pasi BUCOKOI TemMnepaTypy nepekayyBaHoro
cepefoBULLA Ta TUCKY B CUCTeMi NOTPi6HO
rornepefnHbO OATU HACOCY OXONOHYTU Ta 3HU3UTKU
B CMCTEMI TUCK.

3 KoMnnekT noctayaHHs
-~ [aTuuk TemnepaTypw
= 2 TBUHTM M6 x 10
> Tpwmay gatumnka
- Kabenb gatunka 630 MM
> KepiBHULTBO 3 MOHTaXy

162 WILO SE 2021-11



4 YcTaHoBneHHSA
= P0o60T1 3 MOHTaXy/BeMoHTaxy: daxisewb
MOBWHEH 3HATK, SIK NpaLoBaTh 3 HeobXigHMMMK
iHCTpyMeHTamu Ta NoTPiGHMMM MaTepianamu
ANa KpinneHHs.

4.1 MoHTa) gaTumMka Temnepartypu

4.1.1 MoHTaX nepef yCTaHOBJIEHHSIM Hacoca

1. BUAHATM Hacoc 3 ynakoBKu.

2. Y pasi ogMHapHOro Hacoca [eMOHTYBaTH 3
KOpnycy Hacoca i30nALit0 3 ABOX YaCTUH.

3. Y 30Hi KaHany BCMOKTYBaHHS Ha Kopnyci
Hacoca: 3HATU KPULLIKY THi3[a AaTymka
TemnepaTypu, BiArBUHTUBLUM 06MABa IBUHTY 3
BHYTPILUHIM WWecTUrpaHHnkom M6 x 10.

4, BuiHaTu patumk Temnepatypwm (Fig. 1) i3 yoxna
i BCTaBMTM Ha Kopnyci Hacoca B nepeabaveHni
0115 UbOro oTBip.

BKA3IBKA

@ Mig yac MOHTaXKy gaTynka 3abesneunTun
npasunbHy nocaaky! Ha patumky Temnepatypu
Ha BEpXHbOMY 6ypTuUKY € BUCTYN. Llet BucTyn
M€ yBIiTW B Ma3 B OTBOPI.

5. Hagitv Tpumau gatunka Temnepatypu (Fig. 2,
no3. 2), ycTaHoBUTK 06MABA IBUHTU 3
BHYTpiLWHiIM wecTurpaHHmnkom (Fig. 2, nos. 3) i
3aTArHy TV iX. KpyTHUA MOMEHT 3aTaryBaHHS
rBUHTIB: 6 Nm +/— 1.

6. Kabenb gaTtuuka (Fig. 2, nos. 4) 3 komnnekTy
NOCTaBKM OOHUM KiHLUEM Mig’egHaTV oo
LUTeKepHOro po3’eMy gaTymka Temnepartypu

KepiBHNLTBO 3 MOHTaxy Wilo-Medien-Temperatursensor 163



(Fig.3,nm03.1),a OPYrun KiHelb YCTaBUTU B
inTepdenc moagyna peryniosanHsa (Fig. 3,
no3. 2). [ins uboro BUAANUTH niBy 3arnyLKy
(iHTepd)elZc Ona nip’eqHaHHa gaTynka
TemnepaTypu) Ha MOAYNi perynioBaHHs.

7. Y pa3i oANMHApPHOro Hacoca BCTAaHOBUTM Ha
KOpnycC Hacoca i30NALit0 3 ABOX YaCTWH.

4.1.2 MoHTaXX nicns BCTaHOBNEHHS Hacoca M YCnilHOro BBeeHHs B
ekcnnyarauio
> EnekTpuyHi po6oTu: poboTu 3
€NneKTPOoyCTaTKyBaHHAM MA€ BUKOHYBATH TiNlbKu
eneKTpuK.

1. Big’eqHaT mepexkeBy Hanpyry.

2. 3aKpuTw¥ 3anipHy apMaTypy abo CMopo>XXHUTK
yCTaHOBKy!

3. K0 HeOobXiAHO, CKMHYTU TUCK B YCTaHOBL.
NS UbOro BiArBUHTUTY IBUHTYW KpPinyieHHs
Kopnycy Hacoca. 3nerka 3amiCTUTH Kopnyc
[ABWTYHA 3 MiCLIS LLeHTPYBaHHS, NMOKU cTeve
BOAda.

4. Micns Uuboro HaBXPeCT 3aTATHYTU FBUHTK
KpinneHHs oBuryHa. KpyTHMIN MOMEHT
3aTAryBaHHs reuHTIB: 8 — 10 Nm.

5. Y pasi oavHapHOro Hacoca AeMOHTYBaTH 3
KOpMycy Hacoca i30M14Lito 3 4BOX YaCTUH.

6. Y 30Hi KaHany BCMOKTYBaHHS Ha Kopnyci
Hacoca: 3HATM KPULLIKY THi3fa AaTymnka
TemnepaTypWu, BiArBUHTUBLUNM 06MABa BUHTY 3
BHYTPILLHIM LUeCTUrpaHHmMkom M6 x 10.

7. Buitnatu gatumk Temnepatypwm (Fig. 1) i3 yoxna
i BCTaBUTM Ha KOpycCi Hacoca B nepenbaveHni
A9 LUboro oTBip.

164 WILO SE 2021-11



BKA3IBKA

@ Mig Yac MoOHTaXKy gaTumka 3abesneunTu
npasunbHy nocagky! Ha gatumky Temnepatypu
Ha BepxHbOMY BypTuKy € BUCTyn. Llen Buctyn
Mage yBiiAT\ B Na3 B OTBOPI.

8. Hamiti Tpmau maTumka Temnepatypu (Fig. 2,
nos. 2), yCTaHOBUTK 0OMABA FBUHTY 3
BHYTPILLUHIM WecTurpanHukom (Fig. 2, nos. 3) i
3aTArHyTY iX. KpyTHUIN MOMEHT 3aTAryBaHHs
rBUHTIB: 6 Nm +/— 1.

9. Kabenb gatumka (Fig. 2, nos. 4) 3 komnnekTy
MOCTaBKM OOHUM KiHLeM nig’eqHaTi 0o
LUTEKepPHOro po3’eMy gatuymka Temnepartypu
(Fig. 3,n03.1),a APYrUi KiHeLb YCTaBUTK B
iHTepdenc mogyns peryniosanHs (Fig. 3,
no3. 2). [Ins uboro BUAANUTH niBy 3arnyLKky
(inTepdeiic ons nin’eaHaHHs gaTumnKa
TemnepaTtypu) Ha MOAY i peryioBaHHs.

10.Y pasi oAnHapHOro Hacoca BCTAaHOBUTM Ha
KOpMyc Hacoca i30M4Lito 3 4BOX YaCTUH.

11.BigkpwWTK 3anipHy apMaTypy nepep HacoCoM i
33 HMM ab0 3HOBY 3aMOBHUTM YCTAHOBKY.

12.MepeBipUTN repMeTUYHICTD.

13. YBIMKHY TV Mepe>keBy Hanpyry.

KepiBHNLTBO 3 MOHTaxy Wilo-Medien-Temperatursensor 165



DECLARATION OF CONFORMITY
KONFORMITATSERKLARUNG

We, the manufacturer, declare under our sole Wilo-Fluid temperature sensor
responsibility that the products of the series,

Als Hersteller erklaren wir unter unserer alleinigen

Verantwortung, dass die Produkte der Baureihen,

(The serial number is marked on the product site plate)
(Die Seriennummer ist auf dem Typenschild des Produktes angegeben)

in their delivered state comply with the following relevant directives and with the relevant national legislation:
in der gelieferten Ausfiihrung folgenden einschldgigen Bestimmungen entsprechen 'und entsprechender
nationaler Gesetzgebung:

_2014/30/EU - ELECTROMAGNETIC COMPATIBILITY / ELEKTROMAGNETISCHE VERTRAGLICHKEIT - RICHTLINIE

_2011/65/EU + 2015/553 RESTRICTION OF THE USE OF CERTAIN HAZARDOUS SUBSTANCES /
BESTIMMTER GEFAHRLICHER STOFFE-RICHTLINIE

comply also with the following relevant standards:
sowie auch den Bestimmungen zu folgenden harmonisierten europdischen Normen:

EN 60730-1:2016+A1:2019; EN 61000-6-2:2005; EN 61000-6-3:2007+A1:2011; EN IEC 63000:2018;

WILO SE
Person authorized to compile the technical file is: Group Quality
achtigter fur die ing der technischen Unterlagen ist: Wilopark 1

- ) D-44263 Dortmund
Digital unterschrieben

Dortmund,
%/%%A@M von Holger Herchenhein .l
Datum: 2021.11.12 ‘An
08:21:51 +01'00' o

H. HERCHENHEIN Wilopark 1
Senior Vice President - Group Quality & Qualification D-44263 Dortmund

Declaration n°2215822-rev01 PC As-Sh n°2216675-EU-rev01

ORIGINAL DECLARATION / ORIGINAL-ERKLARUNG

roa0is72




Epeic, 0 3 & BiKA pag euBovn &1t

EL Ta npoiévra g uelpaq
[ | (0 cepiaxss apiBuée onpeiiverai oro TapneAdki Tou npoibvros) Wilo-Fluid temperature sensor
< oV KaTd : i WE TIG aKd OXETIKEG
E 0BNyiEG Kal TN OXETIKR €BVIKH VopoBeaia:
e
- ¥ 11 2014/30/EU - HAektpopayvnTikiig cupBatéTnTag || 2011/65/EU + 2015/863 - yia TOV NEPIOPIOHS TNG XPHONG OPICPEVAV
£32| eniveuvay ovsiav
g
g i i A—
£ a1 eniong pe npéTuna:
£ WILO SE
.E EN 2 :2019; EN ! ; EN 2 :2011; EN IEC Group Quality
w Wilopark 1
Mpéowno eE0uoIodoTNUEVO va ouvTaEE: To Texvikd apxeio eivai: D-44263 Dortmund
Nosotros, el fabricante, declaramos bajo nuestra exclusiva responsabilidad
ES | que los productos de la(s) serie(s)
[T | (51 de serie esta marcado en a placa de caracterisicas del producto) Wilo-Fluid temperature sensor
& cumple en la ejecucion sumi las i
g pertinentes y la legislacién nacional correspondiente:
g 5 11 2014/30/EU - Compati lad Electromagnética || 2011/65/EU + 2015/863 - Restri
s E determinadas sustancias peligrosas
g
'§ E asi como las disposiciones de las siguientes normas europeas armonizadas:
,s WILO SE
14 EN & :2019; EN £ ; EN 3 :2011; EN IEC Group Quality
e Wilopark 1

Persona autorizada para la recopilacion de los documentos técnicos: D-44263 Dortmund |

m
A

Traduction officielle de la
déclaration

Nous, fabricant, déclarons sous notre seule responsabilité que les produits
des séries,

Le numéro de série est inscrit sur a plaque signalétique du produit)
dans leur état de livraison sont conformes aux dispositions des directives
suivantes et aux Iégislations nationales les transposant :

Wilo-Fluid temperature sensor

|1 2014/30/EU - COMPATIBILITE ELECTROMAGNETIQUE || 2011/65/EU + 2015/863 - LIMITATION DE L'UTILISATION DE

sont également conformes aux des normes harmonisées suivantes :

WILO SE

EN 5 :2019; EN :2005; EN 3 :2011; EN IEC Group Quality
Wilopark 1

Personne autori: constituer le dossier technique est 4263 Dortmund |

-
-

Dichiarazione

Noi, produttori, dichiariamo sotto la nostra esclusiva responsabilita che i

prodotti della serie,

(Il numero di serie & riportato sulla targhetta del sito del prodotto) Wilo-Fluid temperature sensor
allo stato di consegna sono conformi alle seguenti direttive pertinenti e alla

legislazione nazionale pertinente:

11 2014/30/EU - Compatil ione dell'uso di determinate

sostanze pericolose

 Elettromagnet

a || 2011/65/EU + 2015/863 - sulla restri

rispettare anche le seguenti norme pertinenti:
WILO SE
011; EN IEC Group Quality
Wilopark 1

La persona autorizzata a compilare il fascicolo tecnico &: D-44263 Dortmund |

EN 60: 2 :2019; EN :2005; EN 5

Declaragdo

Tradugdio o

NGs, o fabricante, declaramos sob nossa exclusiva responsabilidade que

o(s) produto(s) da(s) série(s),

(O n° de série esté marcado na placa de caracteristicas do produto) Wilo-Fluid temperature sensor
esta em conformidade com a verséo fornecida nas seguintes disposicdes

relevantes e de acordo com a legislagéo nacional

|1 2014/30/EU - Compatibilidade Electromagnética || 2011/65/EU + 2015/863 - relativa a restrigéo do uso de
determinadas substancias perigosas

assim como as seguintes disposices das normas europeias
WILO SE

EN s 12019; EN 5 EN 2 :2011; EN IEC Group Quality
Wilopark 1

Pessoa autorizada para a elaboracdo de documentos técnicos: D-44263 Dortmund

Declaration n°2215822-rev01 PC As-Sh n°2216675-EU-rev01



o
>

Vi, producenten, erklzerer under vores eneansvar, at produkterne i serien,

(Serienummeret er markeret pd produktpladen) Wilo-Fluid temperature sensor
™ i deres leverede tilstand overholde folgende relevante direktiver og den
] relevante nationale lovgivning:
S
£ g 11 2014/30/EU - Elektromagnetisk Kompatibilitet | | 2011/65/EU + 2015/863 - Begransning af anvendelsen af visse farlige
g £ stoffer
3B -
SE| oust overholde folgende relevante standarder:

WILO SE

EN : :2019; EN :: ; EN : :2011; EN IEC Group Quality

o Wilopark 1
Person, der er autoriseret til at udarbejde den tekniske fil, er: D-44263 Dortmund

ET | Meie, tootja, kuulutame ainuisikulisel vastutusel, et seeria tooted,

(Seerianumber on margitud toote saidi plaadile) Wilo-Fluid temperature sensor
oma tamnitud olekus jargima jargmisi asjakohaseid direktiive ja
asjakohaseid siseriiklikke Gigusakte:

Uhilduvust || 2011/65/EU + 2015/863 - teatavate ohtlike ainete kasutamise piira

11 2014/30/EU - Elektromagneti
kohta

vastama ka jérgmistele asjakohastele standarditele:
WILO SE
EN i :2019; EN £ ; EN 3 :2011; EN IEC Group Quality
Wilopark 1
Tehnilise toimiku koostamiseks on volitatud isik 14263 Doﬂmundl

etta sarjan tuotteet,

(Sarjanumero on merkitty tuotekohtaiseen kilpeen) Wilo-Fluid temperature sensor
imit tilassa seuraavia ia di iveja ja
asiaa koskevaa kansallista lainsaadantoa:

2 11 2014/30/EU - Sihkémagneettinen Yhteensopivuus || 2011/65/EU + 2015/863 - tiettyjen vaarallisten aineiden
€| raioittamisesta
cE
g5
= noudattamaan myés seuraavia asiaankuuluvia standardeja:
E WILO SE
] EN & :2019; EN £ ; EN 3 :2011; EN IEC Group Quality
A .
Wilopark 1
Henkils, jolla on valtuudet koota tekninen tiedosto, on: D-44263 Dortmund]
Vi framleidandinn Iysum bvi yfir undir abyrgd okkar einungis ad vérur i
IS | fiokk
[T | (Radnamerid er merkt & plotunni 4 vérustadnum) Wilo-Fluid temperature sensor
i afhentu dstandi { samraemi via eftirfarandi videigandi tilskipanir og
@ videigandi innlenda l5ggjof:
2E
o § 11 2014/30/EU - Rafseguls-samhaefni-tilskipun || 2011/65/EU + 2015/863 - Takmérkun & notkun tiltekinna haettulegra
22| ema
52
2 =| uepfylla einnig eftirfarandi viseigandi stasla:
> WILO SE
EN 60 i 12019; EN :2005; EN :2007+A1:2011; EN IEC 63000:2018; Group Quality
k1
Sé sem hefur heimild til a3 taka saman taekniskréna er: 14263 Dortmund|
Lt | Mes kaip jas, savo ribose , kad Sios
serijos produktai,
[T | (Seriios numeris pazymétas ant produkto lenteles) Wilo-Fluid temperature sensor
taip kaip pristatyti, atitinka sekancias aktualias direktyvas ir nacionalines
teises normas bei reglamentus:
H 11 2014/30/EU - Elektromagnetinis Suderinamumas || 2011/65/EU + 2015/863 - dél tam tikry pavojingy medZiagy
g| naudojimo apribojimo
s
>| taip pat atitinka sekantius aktualius standartus:

WILO SE
EN s 12019; EN :2005; EN 2 :2011; EN IEC Group Quality

Wilopark 1
Asmuo [galiotas sudaryti techninius dokumentus yra: D-44263 Dortmund

Declaration n°2215822-rev01 PC As-Sh n°2216675-EU-rev01



LV | Mes, razotajs, ar pilnu atbildibu pazinojam, ka sérijas produkti,
(Serijas numurs ir noradits uz izstradajuma plaksnites) Wilo-Fluid temperature sensor
& piegadataja valsti atbilst $adam attiecigam direktivam un attiecigiem valsts
® tiesibu aktiem:
£
S
1 E 11 2014/30/EU - Elektromagnétiskas Saderibas || 2011/65/EU + 2015/863 - par daZu bistamu vielu izmanto3anas
@ 3| ierobezosanu 2011/65/UE
2%
]
w 3| atbilst ari sekojosiem attiecigiem standartiem:
2 WILO SE
] EN : :2019; EN :: ; EN : :2011; EN IEC Group Quality
a Wilopark 1
Persona pilnvarota sastadit tehnisko dokumentaciju: D-44263 Dortmund|
NL | Wil de fabrikant, verkiaren onder onze eigen verantwoordelijkheid dat de
producten van de serie,
(Het serienummer staat vermeld op het naamplaatie van het product) Wilo-Fluid temperature sensor
3 in de geleverde versie voldoen aan de volgende relevante bepalingen en
H aan de overeenkomstige nationale wetgeving:
s
22 11 2014/30/EU - Elektromagnetische Compatibiliteit | | 2011/65/EU + 2015/863 - betreffende beperking van het gebruik
3 %| ven bepaalde gevaarlijke stoffen
§¥
2 3| voldoen ook aan de volgende relevante normen:

WILO SE
EN E :2019; EN :2005; EN i :2011; EN IEC Group Quality
Wilopark 1

persoon die bevoegd is om het technische bestand samen te stellen 4263 Dortmund |

NO | Visom produsent erkleerer herved vrt ansvar at pumper under type serie,
(serienummeret er markert p3 pumpeskilt ) Wilo-Fluid temperature sensor
H T levert tilstand vil produkt overholde folgende direktiver og relevant
g nasjonal lovgivning
g
£2 11 2014/30/EU - EMV-Elektromagnetisk kompa et || 2011/65/EU + 2015/863 - Begrensning av bruk av visse farlige
9| stoffer
o E
2%
= &| Oppfolger ogsd relevante standarder
2 WILO SE
= EN & :2019; EN £ ; EN 3 :2011; EN IEC Group Quality
o Wilopark 1
Vedkommendesom er autorisert til § sammenstile teknisk fil er: D-44263 Dortmund]
V | Vi, tillverkaren, forsakrar under eget ansvar att produkterna i serien
(Serienumret finns utmarkt pé produktens dataskylt) Wilo-Fluid temperature sensor
H i det utforande de levererades 6verrenstammer med foljande relevanta
o direktiv och relevant nationell lagstiftning
£
€
3 E 11 2014/30/EU - Elektromagnetisk Kompatibilitet || 2011/65/EU + 2015/863 - begrinsning av anvéndning av vissa farliga
@ L] dmnen
$%
© 8| sverrenstammer ocksd med féljande relevanta standarder:

WILO SE
018; Group Quality

Wilopark 1
Person behorig att sammanstalla denna tekniska fil &r: D-44263 Dortmund]

EN 60: 2 :2019; EN :2005; EN :2007+A:

011; EN IEC 63004

irm

| den Ghai

ifigei

Eadar-theangachadh
oi

Bidh sinn, an neach-déanamh, a foillseachadh fon aon uallach againn gu

bheil toraidhean an t-sreath,

(Tha an aireamh sreathach air a chomharrachadh air clar larach an toraidh) Wilo-Fluid temperature sensor
anns an stait libhrigidh aca ggilleadh ris na stitiridhean buntainneach a

leanas agus ris an reachdas naiseanta buntainneach:

|1 2014/30/EU - Comhoiridnacht Leictreamaighnéadach || 2011/65/EU + 2015/863 - Srian ar an Usaid a bhaint as
substainti guaiseacha acu

géilleadh cuideachd ris na h-inbhean iomchaidh a leanas:
WILO SE
EN s 12019; EN :2005; EN 2 :2011; EN IEC Group Quality
Wilopark 1
Is e an neach le ighdarras am faidhle teicnigeach a chur ri chile: D-44263 Dortmund

Declaration n°2215822-rev01 PC As-Sh n°2216675-EU-rev01



BG| e xaro ? Ha pHOCT, Ye
npoayKTUTe OT CepusTa,
CepHiiHiTe Homepa ca 0Bo3HaueHH Ha Tabenara Ha PoRYKTa Wilo-Fluid temperature sensor
s B um BuA ca B 3a
= AVMDEKTVBM 1 3aKOHOAATENCTBO
o
2=
g5 11 2014/30/EU - EnektpoMartutHa cbBMectuMocT || 2011/65/EU + 2015/863 - OTHOCHO OrpaHMueHHeTo 3a ynoTpe6ara Ha
E 8| onpenenenn onacnn sewecrsa
z
g8
] Eat ChblUO TaKa OTFOBapsAT Ha CNEAHUTE U3NCKYEMN HOPMU:
= WILO SE
8 EN : :2019; EN :: ; EN : :2011; EN IEC Group Quality
o Wilopark 1
J1MLeTO, YNbAHOMOWEHO Aa CbCTaBM TexHUYecKus foknag e: D-44263 Dortmund!
cs | M. virobce, prohlasujeme na zakiadé nasi jediné odpovédnosti, ze

produkty této fady,
(Sériové Eislo je uvedeno na vyrobnim &titku) Wilo-Fluid temperature sensor
ve svém dodaném stavu dodrZovat nasledujici relevantni smérnice a

prislugnou narodni legislativi

11 2014/30/EU - Elektromagneticka Kompatibilita | | 2011/65/EU + 2015/863 - Omezeni pouzivéani n&kterych nebezpenych
latel

dodrzovat také nasledujici relevantni normy:
WILO SE
EN b :2019; EN :2005; EN £ 12011; EN IEC Group Quality
Wilopark 1
Osoba oprévnéna sestavit technickou dokumentaci je: D-44263 Dortmund]

| ; Oficialni preklad Prohlageni

Mi, proi 7 pod iskljuéi $¢u da proizvodi
serije,
(Serijski broj je oznaten na tipskoj ploici proizvoda) Wilo-Fluid temperature sensor
u isporuenom stanju odgovara sljedecim relevantnim direktivama i
°
°
32
25|  112014/30/Eu - Elektromagnetna kompatibilnost - smjernica || 2011/65/EU + 2015/863 - ogranicenju uporabe odreder
58 opasnih tvari
-
R 5
8 8| uskladu takoder i sa sljedetim relevantnim standardima:
2 WILO SE
CJ EN 2 :2019; EN :2005; EN 2 :2011; EN IEC Group Quality
Wilopark 1
Osoba ovlaitena za sastavljanje tehnicke dokumentacije: D-44263 Dortmund]
HU | Mi, a gydrt, sajét felelésségtinkre kijelentjik, hogy a sorozat termékei,
[T | (A sorozatszamot a termék adattablajan feltintetik) Wilo-Fluid temperature sensor
alli i feleljenek meg a 6 6
ird ésa 6 nemzeti ird
2 8| 112014/30/EU - Elektroméaaneses dsszeférhetéséare || 2011/65/EU + 2015/863 - eayes veszélyes valo alkalmazasénak
| korltozasarel
g
e a 6 6 elsira is:
3 WILO SE
EN 60 i :2019; EN :2005; EN :2007+A1:2011; EN IEC 63000:2018; Group Quality
< Wilopark 1
A miiszaki dokumentacio bsszeallitéséra jogosult személy: D-44263 Dortmund)
PL | Producent na wylaczna ¢, ze produkty z serii
[T | (Numer seryiny znajduje sig na tabliczce znamionowej produktu) Wilo-Fluid temperature sensor
| w stanie dostarczonym sa zgodne z nastepujacymi dyrektywami i
i .§ i jowymi majacymi
3
1 |1 2014/30/EU - Kompatybilnosci Elektromagnetycznej || 2011/65/EU + 2015/863 - sprawie ograniczenia stosowania
| niektérych niebezpiecznych substancii
T
£ sarowniez zgodne z 5 majacymi
T3 WILO SE
c2| en : 12019; EN :2005; EN 2 :2011; EN IEC Group Quality
Wilopark 1

Osoba upowazniona do sporzadzenia dokumentacjl techniczne] 14263 Dortmund|

Declaration n°2215822-rev01 PC As-Sh n°2216675-EU-rev01



Noi, producitorul, declaram sub responsabilitatea noastra exclusiva ca

RO | ,rodusele din seria
(Numérul serial este marcat pe placuta de identificare a produsului) Wilo-Fluid temperature sensor
in starea lor livrat, respect urmétoarele directive relevante si legislatia
. national relevant3:
.
o 3 |1 2014/30/EU - Compatibilitate Electromagnetici || 2011/65/EU + 2015/863 - privind restrictiile de utilizare a anumitor
6 | substante periculoase
]
] -
S 8| sunt conforme, de asemenea, cu urmétoarele standarde relevante
] WILO SE
= EN 5 :2019; EN : ; EN : :2011; EN IEC Group Quality
Wilopark 1
Persoana autorizatd sa compileze dosarul tehnic este: D-44263 Dortmund,
sk | My, vyrobca, na viastnt zodpovednost vyhlasujeme, Ze vyrobky série,
(Sériové Eislo je uvedené na ititku s vyrobkom) Wilo-Fluid temperature sensor
v dodanom stave ju G ym smerniciam a
= prislugnym narodnym pravnym predpisom:
s
ﬁ E 11 2014/30/EU - Elektromagneticki Kompatibilitu || 2011/65/EU + 2015/863 - obmedzeni pouZivania uréitych
2 8| nebezpeinych litok
>
£2
3| splfat aj nasledujice relevantné normy:
WILO SE
EN & :2019; EN £ ; EN 3 :2011; EN IEC Group Quality
Wilopark 1
Osoba opravnend zostavit technickd dokumentdciu je: 14263 Donmund|
SL | Mi, kot proizvajalci, z polno odgovornostjo izjavljamo, da izdelki te serije,
(Serijska 3tevilka je oznatena na napisni tablici izdelka) Wilo-Fluid temperature sensor
. v stanju dostave ravnajo v skladu z naslednjimi ustreznimi direktivami in
H ustrezno nacionalno zakonodajo:
)
by |1 2014/30/EU - Elektromagnetno ZdruZljivostjo || 2011/65/EU + 2015/863 - o omejevanju uporabe nekaterih nevarnih
S | snovi
g
b izpolnjujejo tudi naslednje ustrezne standarde:
3 WILO SE
5 EN & :2019; EN £ ; EN 3 :2011; EN IEC Group Quality
Wilopark 1
Oseba, pooblastena za sestavo tehi e datoteke, je: 14263 Domnund|
TR | Biz tretic olarak, bu seri rtinlerin tamamen kendi sorumlulugumuz altinda
oldugunu beyan ederiz.
[T | Seri numaras: driinin azerindedir. Wilo-Fluid temperature sensor
z teslim edildigi sekliyle asagidaki ilgili hikimler ile uyumludur;
§
@ 11 2014/30/EU - Elektromanyetik Uyumluluk Yénetmelidi || 2011/65/EU + 2015/863 - Belirli tehlikeli maddelerin bir
= kullanimini simirlandiran
H
H :
2 | tigili uyumlastinimis Avrupa standartlari;
= WILO SE
4 EN 60 i 12019; EN :2005; EN : 011; EN IEC 63000:2018; Group Quality
k1
Teknik dosyay: diizenleyen yetkili kisi; D-44263 Dortmund |
mr| Afna i-mani , niddi taht ir- ilta unika taghna i |-
prodotti tas-serje,
[T | (n-numru tas-serje huwa mmarkat fuq il-pjan ¢a tas-sit tal-prodott) Wilo-Fluid temperature sensor
b fl-istat moghtija taghhom jikkonformaw mad-direttivi rilevanti li gejjin u
S mal-legislazzjoni nazzjonali relevanti:
sE
29 11 2014/30/EU - Kompatibbilta Elettromanjetika || 2011/65/EU + 2015/863 - dwar ir-restrizzjoni tal-uzu ta’ éerti sustanzi
EN| perikoluzi
=8
g ]
22| jikkonformaw ukoll mal-istandards rilevanti li gejiin:
5 WILO SE
g EN 2! :2019; EN 2! ; EN :: :2011; EN IEC Group Quality
= Wilopark 1

Declaration n°2215822-rev01 PC As-Sh n°2216675-EU-rev01















wilo

Pioneering for You

Local contact at
www.wilo.com/contact

WILO SE

Wilopark 1

44263 Dortmund
Germany

T +49(0)231 4102-0

T +49(0)231 4102-7363
wilo@wilo.com
www.wilo.com




